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04 JI2tHIZ22NEES 109,523 109,293 230
© o At 109,523
OelAdl 290,000 * 1 * 26 » 128 90,480
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Onl sl 90,000& = 1&H 90
201 Yet2 | 17,459 11,800 5,659
01 AFR2 22| H| 17,459 11,800 5,659
O QI A A Ol 4 348
O2%MbE ZE 70€ * 2,0008 * 95% 133
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OFAZZ 120,000& * 1 = 23| * 95% 228
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OFEEH EEB= 5,000& * 1,00000 * 95% 4,750
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300,000& * 2 = 12& 7,200
202 04| 9,120 10,800 A 1,680
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20,000& * 8Y » 52 x 128 * 95% 9,120
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01 ez =4l 8,200 9,680 A 1,480
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1,000& = 2,000 2,000
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oO=2cxzd 29 1,500
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- et 220,000& * 3&Z * 23 * 95% 1,254
-—=g2=J1 330,000 * 4&F * 13 * 95% 1,254
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220,000& * 2& * 33 * 95% 1,254
OUJANRE SAEX 699
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201 Let24d] 32,982 14,805 18,177
01 At 22/l 12,982 14,805 A 1,823
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O3SEHYAM 94,429
ORgz2f=¢ 40,000& * 8Y = 128 3,840
OFSE=3-—"3-—FSF =) 900,000& = 8H » 12& 86,400
Oxuzf=¢ 4,189
-t 12,6223 * 4H * 4A12F = 128 2,424
-=4 9,191 = 49 » 4AI2F » 128 1,765
SIHHAAZZ2XNE S 348,422
323 301,485
oJlzg(gers=23) 170,535
-8 = (9t3) 3,056,940 * 1H » 12& 36,684
63 (0t=) 2,407,740 » 1H » 128 28,893
553 (It=) 2,353,640& » 1H » 1228 28,244
-3z (0t=) 2,245,440 » 1H » 128 26,946
-453(thax) 2,160,590& » 1H » 128 25,928
252 (ta) 1,986,590& » 1H » 12& 23,840
OfEs=E 7,200
—bH < Xt 40,000& * 8% = 12& 3,840
=4l 20,000& = 5% = 12& 1,200
1. PNIE 60,000& = 3H » 123 2,160
OF=t- L=y 326,032,080 * 5% 16,302
O=gtl 130,000& » 11H » 12&8 17,160
OY & SOty 27,169,340& * 50% * 23| 27,170
OAHIIE &I 91,000& = 11H » 20 20,020
(OFSg=E=y 50,000& = 1198 = 12& 6,600
OznIRLY
17,1003 = 11 = 15A12t = 128 33,858
O22Ws0dl
40,000&% * 11 * 13 = 68 2,640
O4UEE JIAa2e2(11Y) 46,037
OCHZ=2BE = 436,138,000& * 3.23% 14,088
OFIILEBEZ 14,088,000& = 8.51% 1,199
O30z 436,138,000& = 4.5% 19,627
(OFE=30= 436,138,000& * 1.5% 6,543
Ot EE 436,138,000& * 1.05% 4,580




SN AYEAL BAF Y
o HYPYAH (HYEAL BAZMDY)
o121 2 2| CERED

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o=l 90,000& =« 10 900
KNSAAS SEHHLSIAMG (EX) 69,120 75,195 26,075
J| 34,560
< 6,912
Al 27,648
101 @124 dl 69,120 75,195 AN6,075
J| 34,560
< 6,912
Al 27,648
03 RIAHA2 2 RHE > 69,120 75,195 26,075
OSEALZA M202 o12AY|
22,800,000& = 3H 68,400
J| 34,200
< 6,840
Al 27,360
O&=Zeld W=l 240,000& = 3H 720
J| 360
= 72
Al 288
LA2AL2IAMG(EX) 52,814 52,756 58
= 26,407
< 5,281
Al 21,126
101 @144l 52,814 52,756 58
= 26,407
< 5,281
Al 21,126
03 RIHAZ 2+ 52,814 52,756 58
ogzEzZael d2ed Al
26,167,000& = 29H 52,334
= 26,167
S 5,233
Al 20,934
O&Zeld n=sHl 240,000& » 29 480
2 240
< 48
Al 192
JlE3l 132,836 142,746 29,910
JlE&l 132,836 142,746 29,910
201 Let24E] 45,453 49,198 N3,745
01 At 2t 2l 41,289 45,382 A 4,093
OJl=ge=das3H (JI&34l)
500,000& = 39 = 95% 18,525
O=ZHI(J1E&Hl)
8,000 * 399 = 8 « 128 * 80% » 95% 22,764
02 =224l 4,164 3,816 348
oOfERI 4,164




M HZBAL BAF DY
H: HH2IAH(AGEAL BAF MY
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OBt 350& * 5008 » 12& 2,100
OsJl 2,150& + 808 ~ 12& 2,064
202 O4dl 73,383 75,648 A2,265
01 = LHA YI 22,983 22,848 135
O©JI=ZHI
20,0003 = 18% » 82 « 12& » 70% * 95% 22,983
02 M0 50,400 52,800 A 2,400
CETET- P (= EgE
200,000& = 3H » 123 7,200
OSANS gE22H =&
200,000& = 4H « 123 9,600
Os88HNY YE2AH =
200,000 = 14H » 123 33,600
203 AR E | 14,000 13,900 100
01 JI122E Y=L 6,000 6,000 0
OJNFEAH(42) 6,000,000& 6,000
02 ot =2 2,000 1,960 40
OPJE=E. 40,0003 = 504 2,000
04 FENSEHE=LH 6,000 5,940 60
OJ&EA 6,000
O30¢! Ol ot 400,000& = 12& 4,800

e}
O30 =t 5,000 * 2098 * 128 1,200
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SM: NEBAL ALEED
=X
(==Y iy

X{ XH -
S =

= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
HLSE L 8,280,327 10,757,921 AN2,477,594
= 233,228
s 254,733
J| 3,154,987
< 886,437
Al 3,750,942
FalRig==Fs| 6,910,581 9,425,381 A 2,514,800
= 171,295
s 254,733
J| 2,800,820
< 835,890
Al 2,847,843
AN&ED|g = 18,936 306,261 A 287,325
L2249 18,936 12,230 6,706
2Et2 H Y| 14,936 11,630 3,306
01 At 2teltl 6,736 3,430 3,306
ou=l 428
O ¢ AZRAN 90,000& = 5% = 95% 428
OAREENN e ==& 3,230
OZZdHII28 Ml ===
200,000 = 12& = 95% 2,280
OH= ™2l =8  250,000& =* 43 * 95% 950
OZ3J18&J| dxxz
45,0002 = 608 = 128 * 95% 3,078
23224l 8,200 8,200 0
OMSAES A HASH
00,000& = 1HZ = 13 200
Oo=&EHl Sl 8,000
Oo824a 1,000,000& * 8CH 8,000
203 YR =&t 2,000 0 2,000
03 A Z=AH R =ZH| 2,000 0 2,000
OHZEEAY S2=2 2,000,000& 2,000
405 XtAtE SHI 2,000 600 1,400
01 AL EFH S 2,000 600 1,400
Oz3dXEY 24 2,000
OHM(ARRE) 200,000& * 4CH 800
O (APRE) 300,000& = 4CH 1,200
A2 X3 J] 915,712 1,026,842 A 111,130
J| 409,860
< 88,277
Al 417,575
d&8d 109,523 105,307 4,216
101 @124l 109,523 105,307 4,216
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X ZH -
L= B

el

- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
04 JI2ZtHIZ2 2 NEES 109,523 105,307 4,216
O X 1t 2| A} 109,523
oerAdl 290,000& * 1Y€ » 262 = 128 90,480
Q4 e IJjaed=2 9,553
-=01H33 90,480,000 * 4.5% 4,072
-HAEE 90,480,000& * 3.23% 2,923
- QAL E 2,923,000& * 8.51% 249
-8 90,480,000 * 1.5% 1,358
-T2 E 90,480,000& * 1.05% 951
O™ &SI 200,000& * 1Y = 23| 400
O=XNEE 300,000&  1H 300
OE &= 290,000& = 30 8,700
Ol =4 90,000 = 1&¥H = 13 90
ot XIIHEE ALY 249,743 332,964 N 83,221
J| 124,872
& 37,461
Al 87,410
308 ANXISHHMSOIA 249,743 330,964 N81,221
J| 124,872
& 37,461
Al 87,410
10 B 2SHUSE AN E AIS Y 249,743 330,964 N81,221
O & &l 249,743,000 249,743
J| 124,872
o 37,461
Al 87,410
S ALHA 36,450 45 /561 A9, 111
Dl 29,160
o= 2,187
Al 5,103
308 XX SHHSOIH 36,450 45,561 A9, 111
J| 29,160
o= 2,187
Al 5,103
10 21 2SUHUEHEAEE AN Y| 36,450 45 561 A9, 111
O & &l 36,450,000 36,450
J| 29,160
& 2,187
Al 5,103
A ol=2d A 70,860 150,000 ANT79,140
J| 35,430
& 10,629
Al 24,801
307 giztol & 70,860 150,000 ANT79,140
J| 35,430
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 10,629
Al 24,801
01 2724l 70,860 150,000 AT9,140
oA 2=Hl KA 70,860,000 70,860
J| 35,430
< 10,629
Al 24,801
K AS 242 AL 68,478 61,676 6,802
p] 34,239
Al 34,239
202 4l 500 500 0
J| 250
Al 250
01 = LH 4 HI 500 500 0
OXAAS A2 AL K HI 500,000& 500
J| 250
Al 250
307 glz2tol & 67,978 61,176 6,802
Jl 33,989
Al 33,989
05 RIZHRI & 3 67,978 61,176 6,802
O XIS ARl A4 2 & At 67,978,000& 67,978
J| 33,989
Al 33,989
NAAS SEALSEAY 221,190 171,650 49,540
J| 109,041
< 21,809
Al 90,340
101 @124l 28,138 0 28,138
J| 12,515
< 2,503
Al 13,120
04 JI2ZtHZ22 a2+ 28,138 0 28,138
OSEHLSTAY JI2H2 2 X 212l
1,900,000& * 1¥ * 123 22,800
J| 11,400
= 2,280
Al 9,120
OSedLSTAY HE22E W=
240,000 * 1Y 240
J| 120
< 24
Al 96
OSEHLSTAY JI2HN22X EH2
1,900,000 = 19 1,900
| 950
= 190
Al 760




A A4EEAL HASED
HE: AYSH
Sl B A LRI (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
PEEEEEEREN R EERN I EL
90,000& » 1H 90
J| 45
< 9
Al 36
OSEAHLSIAMY JIZHZ 2 X 3,108
OC4EE JI22E3 2,408
AL E 22,800,000& * 3.23% 737
I RLEE 737,000& = 8.51% 63
=03 22,800,000& = 4.5% 1,026
-IEEE 22,800,000& * 1.5% 342
-MTHEE 22,800,000& * 1.05% 240
OFEF0tHl 200,000& = 1H « 23| 400
O=XNEQAUE 300,000& = 1H 300
201 ¢4l 52,750 36,400 16,350
J| 26,375
= 5,276
Al 21,099
01 At 2t 2l 26,750 12,500 14,250
OTLEANY S22 ¥ DSAE
5,000,000& 5,000
J| 2,500
< 500
Al 2,000
OALMBAHAY ELES L DSN2
14,750,000& 14,750
J| 7,375
< 1,476
Al 5,899
OZXEAAY X ¢ 2,000,000& 2,000
J| 1,000
= 200
Al 800
oNdEBIBHSRENY 222 ¥ DR
= 5,000,000& 5,000
J| 2,500
< 500
Al 2,000
03 A2 E HI 26,000 23,900 2,100
OANLMBFAHAY T2y 29
17,000, 000& 17,000
Jl| 8,500
< 1,700
Al 6,800
ogaEALNA T8 2% 4,500,000 4,500
J| 2,250
< 450
Al 1,800




SM: NEBAL ALEED
=
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BH: AYE
Sl dEs A2 (22 &d)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
oOZLselAa T2 29 3,000,000& 3,000
J| 1,500
S 300
Al 1,200
O EadeoL2ACIAY 2208 29
1,500, 000& 1,500
J| 750
S 150
Al 600
202 o4 Hl 4,000 4,000 0
J| 2,000
= 400
Al 1,600
01 SLHO I 4,000 4,000 0
OoOsSgAaZSd us ¥ EF0H 4,000,000 4,000
Jl 2,000
= 400
Al 1,600
301 LR HI 300 500 A200
Jl 150
S 30
Al 120
09 HAAHIXES 300 500 A 200
OALYMEAUMAY T2 2F 300,000 300
J| 150
£ 30
Al 120
307 212t0l & 136,002 130,750 5,252
Il 68,001
= 13,600
Al 54,401
01 ==l 136,002 130,750 5,252
OFL2ACING 23 L 222 9,000,000 9,000
Il 4,500
= 900
Al 3,600
OYLEE F2M & SNl 14,000,000& 14,000
J| 7,000
S 1,400
Al 5,600
OZASHAMNY EFAE
0,000& = 1208 = 12& 100,800
Jl 50,400
£ 10,080
Al 40,320
O EAESMY2ACIAY BMNE A2F
7,000,000 7,000
Jl| 3,500
S 700




SM: NEBAL ALEED
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M ALEZ
CHel: MEE HA2AX I (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 2,800
OFUZHAANY HAIER A3 750,000 750
J| 375
< 75
Al 300
OZE MIEWY 2422 F 4,452,000 4,452
J| 2,226
[ 445
Al 1,781
ASH xS 2AHH K& 2,124 2,160 A\ 36
= 1,062
Al 1,062
307 2Iz2t0| A 2,124 2,160 A 36
= 1,062
Al 1,062
01 s = 2,124 2,160 A\ 36
OSxS0 & Al 36,0008 * 59 2,124
& 1,062
Al 1,062
BAHA AMLE2 M2IF 4 (FMTP) 2,940 0 2,940
J| 1,470
Al 1,470
201 gEt24Ay| 2,940 0 2,940
J| 1,470
Al 1,470
01 AP 2t 2] d| 2,940 0 2,940
ONE0aE N Z&EH| 2,940,000& = 1A 2,940
J| 1,470
Al 1,470
BAL DHIY BAN AL 20,760 20,520 240
J| 10,380
o= 2,076
Al 8,304
201 Yere | 17,340 17,100 240
J| 8,670
o=} 1,734
Al 6,936
01 At 22/ 17,340 17,100 240
ODHIY HANOAY 29 2 L QM|
17,340,000& 17,340
J| 8,670
& 1,734
Al 6,936
301 et ™M= 1,000 1,000 0
J| 500
o=} 100
Al 400
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Hu: ALSA
Sl B A LRI ool E )
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
09 HALAHIX A S 1,000 1,000 0
O2HY AHAAY 29 1,000, 000& 1,000
J| 500
< 100
Al 400
307 21201 A 2,420 2,420 0
J| 1,210
< 242
Al 968
01 =21 =4l 2,420 2,420 0
OZHIY HANAHAIY AZTELRE
2,420,000& 2,420
J| 1,210
< 242
Al 968
NEAS S SHRNAMEIA 133,644 130,692 2,952
J| 65,268
< 13,053
Al 55,323
101 1A bl 24,338 0 24,338
J| 10,615
< 2,123
Al 11,600
04 JIZtH 22X S 24,338 0 24,338
O3 AL DI 2H =N} 24,338
ool 1,900,000& » 1H » 11& 20,900
J| 10,450
< 2,090
Al 8,360
Ol =t 90,000& = 1H 90
J| 45
S 9
Al 36
Ou =H| 240,000& » 1H 240
J| 120
< 24
Al 96
C4EE JI22E3 2,408
-AH2AEE 22,800,000& * 3.23% 737
B3I eRLEE 737,000& = 8.51% 63
=23 22,800,000& * 4.5% 1,026
-IEEHE 22,800,000& * 1.5% 342
-MHEH 22,800,000& * 1.05% 240
OF &S 0tHl 200,000& = 1H =« 23| 400
O=XNEQUE 300,000& = 1H 300
201 LB-2E | 49,906 76,292 N 26,386
J| 24,953
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Sl MEs A2 XII) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 4,990
Al 19,963
01 At 22l 47,606 72,492 A 24,886
osE= ¥ UsEla 17,606, 000& 17,606
J| 8,803
< 1,760
Al 7,043
Oz=d2eld29g 5,000,000& 5,000
J| 2,500
< 500
Al 2,000
o=zgaadxd 15,000, 000& 15,000
J| 7,500
< 1,500
Al 6,000
OZ3d04dEX JIEE 50,000& = 2004 10,000
J| 5,000
< 1,000
Al 4,000
02 23224l 800 800 0
O=2¢XNEd 20 200,000& = 49H 800
J| 400
< 80
Al 320
03 A2 Z Hl 1,500 3,000 A 1,500
O3HUEIZZ )& 2ZAHYI 50,000& = 302 1,500
| 750
< 150
Al 600
202 oddl 2,400 2,400 0
J| 1,200
= 240
Al 960
01 = LH o4 1l 2,400 2,400 0
O=dYR=T ol 100,000& = 2H = 123 2,400
J| 1,200
< 240
Al 960
301 LtEd = 25,000 12,000 13,000
J| 12,500
< 2,500
Al 10,000
12 JIEtE& = 25,000 12,000 13,000
SN 2A+Y
50,000& = 4% * 125¢ 25,000
J| 12,500
< 2,500
Al 10,000
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307 glz2tol & 32,000 40,000 A 8,000
| 16,000
< 3,200
Al 12,800
01 2=2L =4l 32,000 40,000 A 8,000
O=3HZelHd2E(3EEXN, 22F)
40,0008 * 8002 32,000
| 16,000
= 3,200
Al 12,800
ggzel A 25 3,020,130 2,808, 180 211,950
= 981
| 1,275,518
= 368,346
Al 1,375,285
LHAE LAY 131,705 130,774 931
101 1A bl 34,855 33,924 931
04 JIZHHZ2Z2XNESE S+ 34,855 33,924 931
oYgdASIZtH 22X 34,855
ool 74,9103 * 2% « 26¢ » 83 31,163
O4UEE JIa2E3 3,292
-HAEE 31,163,000& * 3.23% 1,007
IS EE 1,007,000& * 8.51% 86
=03 31,163,000& = 4.5% 1,403
-IE2E 31,163,000& * 1.5% 468
-MHEH 31,163,000& * 1.05% 328
OFEFItHI 200,000& * 2% x 13| 400
201 £B-2dH| 4,590 4,590 0
02 3323l 2,400 2,400 0
oYAA=SZEH KA 400,000 = 6CH 2,400
03 A2 Z Hl 2,190 2,190 0
olsegdt ZdHu=s 2,190
O8=% 70,000& * 13l 70
OCusuwM 5,000& = 400% 2,000
OZA= 120,000& * 1H 120
206 T 2 bl 90,660 90,660 0
01 =8l 90,660 90,660 0
OYAAB(ZERSLEM S 58) 77,640
(@)= ES 30,000& = 1L = 1,200 36,000
OnsgA 30,000& = 1L = 6504 19,500
(@F=Dr/R=lge 30,000& * 1L * 738H 22,140
OYHE HNHNES 720
oxgs 90,000& = 49H 360
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el
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2Z » 1,0000H = 95%

StER0 = A2 44l

1,200,000 * 43|

500& = 2,300

1,900

1,900
27,700

4,800
22,900

21,750

1,150

23,700

4,000

335,477
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SO U+
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0x
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oY
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555,000& = 10

35,0008 » 120

g 63)

24,657,000

18,800& * 9,000

(A & 58)

2,050,000

40,0009 » 8¢

90,0008 * 1508+ A
90,0002 * 1504t
FHOHS , 00l = S)

90,000& = 508

10,000& » 30024

15,000,000 = 100

>

>

I>

320,477
280,107

4,200

24,657
249,200
80,000

169,200

2,050
320
320

40,050
13,500
13,500

4,500
5,550
3,000
15,000
15,000

284,387

15,000

36,090
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981

3,812
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2N A4EEHL HLSED
BH: AYE
chel: ZEgael M 25 (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Olol= & dEoe 55,740 21,681 34,059
| 27,870
< 8,361
Al 19,509
307 gl2tol & 55,740 21,681 34,059
J| 27,870
< 8,361
Al 19,509
01 2=zL =4l 55,740 21,681 34,059
OHIV/AIDS &l Z bl 52,000,000& 52,000
| 26,000
< 7,800
Al 18,200
QHIV XSHAIX20 S 2,000,000& 2,000
| 1,000
< 300
Al 700
odoiHzEyg A& 2 XIS K& 1,740,000 1,740
| 870
< 261
Al 609
S EE S A A 2,338,788 2,209,365 129,423
| 1,169,394
< 350,819
Al 818,575
307 2I2t0l A 2,338,788 2,209,365 129,423
| 1,169,394
< 350,819
Al 818,575
01 2L =l 2,338,788 2,209,365 129,423
O0eol HYES 1,419,980, 000& 1,419,980
| 709,990
< 212,997
Al 496,993
OUEOIE - RXNY & =S ST
HEES 256,360,000 256,360
| 128,180
< 38,454
Al 89,726
YA QASTAHR Ol YA 9,000,000& 9,000
| 4,500
< 1,350
Al 3,150
OdULES 620,480,000 620,480
| 310,240
= 93,072
Al 217,168
ONREZ & ASZE HYES N2
28,284 ,000& 28,284




SA: AGEAA HUSADY
BH: AYE
chel: ZEgael M 25 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 14,142
< 4,243
Al 9,899
OBE 2t FADI2E OEAS 4,684,000 4,684
J| 2,342
< 703
Al 1,639
A Z &AL 57,650 42,000 15,650
J| 28,825
< 8,185
Al 20,640
201 Let2d] 3,600 1,640 1,960
J| 1,800
< 540
Al 1,260
01 At 22l 3,600 1,640 1,960
OEES(2E# S 28)
1,000& » 2& = 1,80004 3,600
J| 1,800
< 540
Al 1,260
202 oddl 3,090 1,440 1,650
J| 1,545
Al 1,545
01 = LH o4 1l 3,090 1,440 1,650
oaxyct2elg e A Ml
257,500 = 1% = 12& 3,090
J| 1,545
Al 1,545
301 LA F 1,000 1,000 0
J| 500
< 150
Al 350
01 AR 2Z A5l 3 1,000 1,000 0
OYJAIFX MAHH XF  1,000,000& = 1H 1,000
J| 500
< 150
Al 350
307 gl2tol & 45,960 33,920 12,040
J| 22,980
< 6,895
Al 16,085
01 22272l 45,960 33,920 12,040
oY, 2¥ Z=EX A 1,270,000& 1,270
J| 635
< 191
Al 444
ogAIIEL LAH X 1,000, 000& 1,000
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2N

AtGtE A AL S
HE: AYSH
el Awae M 2 (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OoazHAUAEY E22A S0
10,000& = 2% * 5¢ 100
J| 100
QEZFAHE 5 L HLEE T4 2,150,490 4,609,933 N 2,459,443
= 91,564
J| 1,011,248
& 281,247
Al 766,431
g2 AL 2| Alg 81,895 44,880 37,015
= 5,970
== 1,194
Al 74,731
101 Q121 H| 13,145 44,880 N31,735
= 5,970
= 1,194
Al 5,981
04 JI2ZtHIZ2Z2NEES 13,145 44,880 N31,735
ogsHdae JI2MZ22 A 1 2Hd]| 13,145
(@)l 1,900,0008 * 1¥€ = 6 11,400
= 5,700
= 1,140
Al 4,560
(OFSEaui=smE=1.] 240,000 * 1 240
= 120
& 24
Al 96
OMg2HE ES&H0H| 50,000& * 1¥H = 6& 300
= 150
o 30
Al 120
O4UEEg Jjae"2 1,205
A2 E 11,400,000& = 3.23% 369
- QUL E 369,000& * 8.51% 32
=012 11,400,000& * 4.5% 513
-E288 11,400,000 = 1.5% 171
-MEE 11,400,000& = 1.05% 120
201 et 9| 4,750 0 4,750
01 AR 22l ] 4,750 0 4,750
O=E= 1,000& * 5,0000 * 95% 4,750
307 2Iz2t0| & 64,000 0 64,000
01 dsd =t 64,000 0 64,000
oY &l ALY 64,000
OUE L ARE(HAH S 15F)
20,000& = 3,2009H 64,000
SR KA (RHDHL) 10,555 8,750 1,805
J| 5,278




SH MYEAL ABEAD
BH: AYE
Sl CIRFGNS 7S Y AYHE T4 (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 1,583
Al 3,694
201 LBt 9| 2,500 500 2,000
J| 1,250
&< 375
Al 875
01 AP 22| d| 2,000 0 2,000
OMIIY EE= 1,000€& = 2,0004 2,000
J| 1,000
& 300
Al 700
03 HAI2 HHI 500 500 0
OMIIY XNEXx2A 24 250,000 * 23| 500
J| 250
& 75
Al 175
301 et A= 300 100 200
J| 150
&< 45
Al 105
09 SHAIAHI X & 2 300 100 200
OMIIY XNXx2A 24 150,000& = 23| 300
Jl 150
o= 45
Al 105
307 2I2t0| & 7,755 8,150 A 395
J| 3,878
=} 1,163
Al 2,714
01 2 2¥d32=H| 7,755 8,150 A 395
O%E L ADE 7,755,000 7,755
J| 3,878
& 1,163
Al 2,714
SIAUXSLEEEXN 9 =H KN 350,600 328,000 22,600
J| 175,300
= 52,590
Al 122,710
308 XHXIEH SOl A 350,600 328,000 22,600
J| 175,300
= 52,590
Al 122,710
10 2|2 S0 USHE AN AE A Y| 350,600 328,000 22,600
OslHEEX o2H] X2 (105H)
350,600,000& 350,600
J| 175,300
= 52,590
Al 122,710




A A4EEAL HASED
HE: AYSH
Sl 2HUANB 25 U AV T4 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A2 =NNEEH 29 182,440 317,304 A 134,864
J| 91,220
< 36,488
Al 54,732
307 gl2tol & 182,440 317,304 A 134,864
J| 91,220
< 36,488
Al 54,732
05 RIZHRIEF 3 182,440 317,304 A 134,864
OFAMAL=SXHE 2l 182,440,000& 182,440
J| 91,220
< 36,488
Al 54,732
FAUAHZ=RNEH dAes 215,880 0 215,880
J| 107,940
< 43,176
Al 64,764
307 glz2+0l & 215,880 0 215,880
J| 107,940
< 43,176
Al 64,764
05 RIZt2IE = 215,880 0 215,880
OFAMALEXNHEY EEE 215,880,000 215,880
J| 107,940
< 43,176
Al 64,764
OlsEAYE FABAAY 51,970 50,900 1,070
J| 25,985
< 25,985
307 21201 A 51,970 50,900 1,070
J| 25,985
< 25,985
05 BIZHRI & 3 51,970 50,900 1,070
O0tsEAY FAUBAAY 2]
51,970,000 51,970
J| 25,985
< 25,985
JAEE ZIIXE KA 3,000 0 3,000
= 1,500
< 600
Al 900
307 21201 A 3,000 0 3,000
= 1,500
= 600
Al 900
05 BIZERI & 3 3,000 0 3,000
OFMEE XIIXz K& 3,000,000& 3,000




SA: AGEAA HUSADY
BH: AYE
Sl 2HUANB 25 U AV T4 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 1,500
< 600
Al 900
S=29& &2 N&A 2,000 0 2,000
= 1,000
< 400
Al 600
307 gl2tol & 2,000 0 2,000
= 1,000
< 400
Al 600
05 RIZHRI & 3 2,000 0 2,000
os=g¢d H=s XA 2,000,000& 2,000
= 1,000
< 400
Al 600
FAEE HX XM XI=Hl X 3,000 0 3,000
= 1,500
< 600
Al 900
307 21201 A 3,000 0 3,000
= 1,500
< 600
Al 900
01 922724l 3,000 0 3,000
O&FAZE i XNSXEHM X=2Hl X3
3,000,000& 3,000
= 1,500
< 600
Al 900
HEURA X=Hl XA 1,500 0 1,500
= 750
< 300
Al 450
307 21201 A 1,500 0 1,500
= 750
< 300
Al 450
01 92724l 1,500 0 1,500
O¥HYUA XI=Hl X& 1,500,000 1,500
= 750
< 300
Al 450
SESSEN Az22 X&A 25,000 30,000 A5,000
< 7,500
Al 17,500
307 21201 A 25,000 30,000 A5,000
= 7,500




2N
X ZH -
L= B

el

NYEAL AVETD
AL
ABHAUNE 75 Y AYHY X4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Al 17,500
05 QIZtR E 2 25,000 0 25,000
ORESSTE X a2l N 25,000,000 25,000
= 7,500
Al 17,500
ANaRE X 223 X2 A& 13,000 12,500 500
=} 3,900
Al 9,100
307 QI2t0| & 13,000 12,500 500
=} 3,900
Al 9,100
05 QIZtREZ 13,000 12,500 500
OXNAR/AE AN SSMHYX=H XA
13,000,000 13,000
=} 3,900
Al 9,100
XNEAE AWy WERKA = 4,000 4,000 0
= 1,200
Al 2,800
307 QI2t0| ™ 4,000 4,000 0
= 1,200
Al 2,800
05 QIZtRES 4,000 4,000 0
OX S AS XH&ME HWERKRZT =
4,000,000& 4,000
= 1,200
Al 2,800
HUHLUSXNHEH S SAMN AL2H&H X 18,000 16,800 1,200
& 5,400
Al 12,600
307 QI2t0| & 18,000 16,800 1,200
& 5,400
Al 12,600
05 QIZtRES 18,000 16,800 1,200
OFNAHLASXHE S SAIAN HRMAH K&
18,000,000 18,000
= 5,400
Al 12,600
HAMEA 13,110 16,760 AN 3,650
201 LBt Y| 12,350 16,000 AN 3,650
01 AP 22| d| 12,350 16,000 A 3,650
OFAMAL A (M AHRA S S 9,000
OMA & B4 29
100,000& = 5¥ = 183 9,000
OFNAHLESE2IAAT
100,000 * 69 = 43| 2,400
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2N A4EEHL HLSED
M ALEZ
S B HANES & L AL =4 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 101,445
101 1244 dl 40,335 172,401 A 132,066
| 32,267
< 1,615
Al 6,453
04 JIZHHZ2XREES 40,335 3,200 37,135
OXIOHeHA HIE JI2EM 22 Xt 37,935
ool 79,4803 * 2% « 269 « 83 33,064
bl 26,451
< 1,323
Al 5,290
O4UEE JIa2E3 3,491
-HAEHE 33,064,000& * 3.23% 1,068
Il 854
< 43
Al 171
-3 YEH 1,068,000& * 8.51% 91
J| 73
< 4
Al 14
-=20AHZ 33,064,000& * 4.5% 1,488
| 1,190
< 60
Al 238
-IEEE 33,064,000& * 1.5% 496
| 397
< 20
Al 79
-MHEE 33,064,000& * 1.05% 348
| 278
= 14
Al 56
OZEFOtHI 200,000& = 2% * 13 400
J| 320
= 16
Al 64
O=&0Hl 50,000& = 2H » 83 800
| 640
= 32
Al 128
o1l =l 90,000& » 29H 180
| 144
< 7
Al 29
OXIMHEE=AQ JI2tH=22 Xt 2,400
OJ&2d3 (1828, M4HEH)
50,0003 = 4H » 123 2,400
| 1,920
= 96




SN AGEHL HAEDD
BH: AYE
el A2 HAANE 75 R APEE =M (Sl & &)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
Al 384
201 fEt2E | 381,799 623,761 N 241,962
Il 305,441
< 16,270
Al 61,088
01 At 22l bl 322,235 591,921 A 269,686
O8I =H 2,744,000& * 198 « 128 32,928
J| 26,342
S 1,317
Al 5,269
O33=d MIAZMELDN =
100,000 = 42 400
J| 320
£ 16
Al 64
032 4 ¢ 2,000
OXSALZXIHE2AM 212 S =
100,000& » 23 * 8¥H 1,600
Il 1,280
LS 64
Al 256
OXIHSS=HAY Atellale &4 ¢
100,000& * 4% 400
Jl 320
= 16
Al 64
O1l=H| 90,000& * 223 1,980
Jl 1,584
< 79
Al 317
Od2=+I| 2eltl 34,5003 = 504 = 128 2,070
Jl 1,656
= 83
Al 331
O3J1#ED| 2teldi(el) 2,609,000 2,609
J| 2,087
s 104
Al 418
OFAEYN =8 400,000& » 2% = 128 9,600
Il 7,680
LS 384
Al 1,536
OgRE Mg UHH ==2 17,000
Oxtgaxts 850,000& = 2CH = 108 17,000
Il 13,600
= 680
Al 2,720
OXIOHRHA HIE Al 2 D HI 233,992
OXME=RE ¥ FINATAL
40,000, 000& 40,000




SA: AGEAA HUSADY
BH: AYE
CHelr ARHANE PE U AABY =4 (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 32,000
< 1,600
Al 6,400
OXIOHAAIHA & Ol 222 At
43,992,000& 43,992
| 35,196
< 1,758
Al 7,038
OXlofetalote 24 5,000,000 = 201 A& 10,000
J| 8,000
< 400
Al 1,600
OXMestaEd & IHEXIAMY
20,000,000& 20,000
J| 16,000
< 800
Al 3,200
OXIHetA M 210 ¥ =2 120,000,000 120,000
| 96,000
< 4,800
Al 19,200
OXIOHetAHEH 2HH| 1,638,000& * 12& 19,656
J| 15,725
< 786
Al 3,145
02 8323l 19,564 11,840 7,724
OXIHCtAME RERI(HEXRH)
500& = 30,0004 15,000
J| 12,000
= 600
Al 2,400
OTV ¥ 2HY 23 47,000& = 12& 564
| 451
< 23
Al 90
O Xt& = Xl 200,000& * 200 » 10& 4,000
J| 3,200
< 160
Al 640
03 A2 Z Hl 40,000 20,000 20,000
oun=s, Z21y% % BH 29
15,000, 000& 15,000
| 12,000
= 600
Al 2,400
OXxibetaOts 29 25,000,000& 25,000
| 20,000
< 1,000
Al 4,000
202 o4dl 26,400 26,400 0




NYEAL AVETD
AL
ABHANE 75 Y ALHY

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2

Pl 21,120
& 1,056
Al 4,224

01 2L I 26,400 26,400 0
OXIHE R =E=&HOW®HEl 100,0008 = 22 x 12& 26,400
Jl 21,120
= 1,056
Al 4,224

301 et M= 20,000 30,000 A 10,000
J| 16,000
& 800
Al 3,200

09 HAIAHI X & 2 20,000 30,000 A 10,000
orxzI)d¥ ¥ Wy 29 20,000,000& 20,000
J| 16,000
& 800
Al 3,200

307 2iz2to| A 165,500 87,000 78,500
J| 132,400
& 6,620
Al 26,480

o1 s 3R=tl 165,000 87,000 78,000

OXIONeXx AMes IH

35,0008 = 250 = 12&€ 105,000
J| 84,000
& 4,200
Al 16,800
O9sE & ozg A2 30,000,000 30,000
J| 24,000
o= 1,200
Al 4,800
OXIOHZDIZE AR HUAAHl 150,000 * 200 30,000
J| 24,000
& 1,200
Al 4,800

06 282 500 0 500
OZzNSEHWHA 22 500
J| 400
o= 20
Al 80

XIOH X 2228 (2L HYl) 121,034 81,210 39,824
J| 60,517
o 18,155
Al 42,362

308 AMXISHMSOIA 121,034 81,210 39,824
J| 60,517
o=} 18,155
Al 42,362




SA AGEAAL HASAY
Hu: ALEA

Sl 2HUANB 25 U AV T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 3J/2S0HUHeB&EEALS I 121,034 81,210 39,824
OXION XIz&eldl XI& 121,034,000& 121,034
J| 60,517
< 18,155
Al 42,362
XOHEX sSsHE XA 98,824 119,480 220,656
< 19,765
Al 79,059
307 21201 A 98,824 119,480 A 20,656
< 19,765
Al 79,059
01 92724l 98,824 119,480 A 20,656
OXHeEX =SsHEXA 98,824,000 98,824
S 19,765
Al 79,059
AN B22=A2 X& 2,700 925 1,775
J| 2,150
< 108
Al 442
201 Let24d] 300 925 A 625
J| 230
= 12
Al 58
01 At 22l 300 925 A 625
odE HIX HE 300,000& * 1¥ 300
J| 230
< 12
Al 58
301 LEEAS 2,400 0 2,400
J| 1,920
< 96
Al 384
12 JIEE4 3 2,400 0 2,400
OZBSA FEXAY
200,000& = 1¥ = 128 2,400
J| 1,920
< 96
Al 384
oIXMeEz0Y 2 10,000 10,000 0
< 2,000
Al 8,000
201 Lt 3,500 4,300 A 800
< 700
Al 2,800
01 At 22l 3,500 4,300 A 800
oMz Nd g2 & USAE S
3,500,000& 3,500




2N
X ZH -
L= B

el

10 1Y 0x

YEAL ABSHD
TR
23ANE 25 L ALY

x4

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 700
Al 2,800
301 LEHZ 6,500 5,700 800
= 1,300
Al 5,200
09 HALAHIX RS 300 300 0
CoXMaZz )H2d 300,000 300
= 60
Al 240
12JIE243 6,200 5,400 800
©2J14 X201 &=Xl&Hl 6,200,000& 6,200
< 1,240
Al 4,960
a1t Ots2 AZAtsl ¥ 805,313 674,165 131,148
= 78,750
s 254,733
J| 104,194
= 98,020
Al 269,616
FE AL 18,440 12,350 6,090
201 £B-2dH| 11,590 12,350 AT760
01 At 22l 11,590 12,350 AT760
04+R4 SETY(LRFHE S 43)
50,000& * 48 = 95% 190
OZXNEHAY EE2=235 M 2 7 11,400
OUUMEXNSHEXN 5 EEXN ME
1,000& » 1,000 * 2& * 95% 1,900
OZNEAMY S22 7Y
2,500& = 1,000 * 43 = 95% 9,500
405 TtobFH SHI 6,850 0 6,850
01 et EZFH S 6,850 0 6,850
ORXEAHY &X 5,050
OMEE Ma 200,000& =« 1CH 200
OARE X 300,000& * 1CH 300
O=Z3 300,000& = 1CH 300
OMBIR 300,000& = 1CH 300
OIE & 200,000& = 8JH 1,600
OIls=ADI 1,000,000& * 1CH 1,000
OYZ 1 (300L 0IdH) 700,000& = 1CH 700
OHIoI = () 350,000& = 10H 350
O&AXt 50,000& = 64 300
O=%4 &X 1,800
O4TH3E) 800,000& * 1K 800
O4m(1218) 500,000& =« 1H 500




SM: NEBAL ALEED
=

a2
e 24 Ots2 H2AAE 28 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OHI0IS(A) 200,000 = 104 200
[@PIPSPIEmEan] 300,000 = 1CH 300
HAEMD LAEA o= H| K& 2,500 2,700 A 200
Jl 1,250
o= 625
Al 625
308 AHXIEHSOIA 2,500 2,700 A 200
J| 1,250
= 625
Al 625
10 B 2SUHUSHEAEAE AT Y| 2,500 2,700 A 200
OFAEAD AAMNEA OS2 HI XA
2,500,000 2,500
J| 1,250
= 625
Al 625
ADAMOF AL 2e|AF KR A 363,905 324,040 39,865
Fag 254,733
Al 109,172
308 XX SHHSOIH 363,905 324,040 39,865
g 254,733
Al 109,172
10 B 2SUHUSHEAEAE AIS Y| 363,905 324,040 39,865
OMDAMOFH 2 22| AFAI & 363,905,000 363,905
g 254,733
Al 109,172
AQAIAMOE HAZEAF FI NAS 44 872 44 872 0
& 8,974
Al 35,898
308 XXIEHSOIA 44 872 44 872 0
& 8,974
Al 35,898
10 212 SUHUSHE A XEAE AL Y| 44 872 44 872 0
OMDAMOPAH Z 22| AFAI & 44 872,000 44 872
o= 8,974
Al 35,898
A0 A2H X 3,000 5,663 A2,663
J| 2,400
=} 180
Al 420
308 MXISHMSOIA 3,000 5,663 A2,663
J| 2,400
= 180
Al 420
10 B 2SN USHAE AN E A Y| 3,000 5,663 A 2,663
O & &l 3,000,000& 3,000




2N
X ZH -
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Il 2,000
< 400
Al 1,600
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| 250
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< 13,415
Al 53,661
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2,750,000& = 43| 11,000
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M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
-l ZE 20l X} BHAIH| 8,000& * 10,000&H 80,000
-OlZ 0|2 EF A&
18,800& * 9,000H 169,200
ONEEZA 928 ABE(Z=AD| S 5E)
1,945,000 1,945
Oa3 A 29 62,120
OB @& A 90,000 * 1608+ A 14,400
OHY (IS, Hlol= S)ZAH
90,000 = 2008t A 18,000
OYel&d At 90,0003 = 200 A 18,000
OYZE, Sct0ICIoF H At 13,0008 * 5004 6,500
OAE2tH &AL 555,000& * 48+ A 2,220
OZEX A A 10,0008 = 300A 3,000
OYANNLE 29 320
Qe =2 2 40,000 = 8¢ 320
05 QIZtR E 2 17,400 17,400 0
Ostdly 2tel 17,400,000 = 13| 17,400
405 KHoHFE S HI 4,600 3,700 900
01 JHMY 2 EF S H 4,600 3,700 900
O WLt D[ (99m 0| 5}) 2,000,000& = 1CH 2,000
©l:IE=p] 700,000 = 2CH 1,400
OEROF MEMSEHDI 1,200,000& = 104 1,200
s 22X 11,772 13,342 1,570
= 5,886
o= 5,886
301 et M= 11,772 13,342 AN 1,570
= 5,886
o= 5,886
01 Al E& A %52 11,772 13,342 A 1,570
Ostdl 24 Z X AMAHEl XA 1,962,000& * 6YH 11,772
= 5,886
& 5,886
olol= & AYoe 62,538 61,005 1,533
J| 31,269
& 9,381
Al 21,888
307 2iz2tol & 62,538 61,005 1,533
J| 31,269
= 9,381
Al 21,888
01 e =t 62,538 61,005 1,533
©OHIV/AIDS &l 2 H| 52,000,000 52,000
J| 26,000
o= 7,800
Al 18,200
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Bu: AYET
S ZgEgae A 2= (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OHIV THAIS20 S 3,818,000& 3,818
| 1,909
< 573
Al 1,336
odiiHzEd HA& 2 X=X 6,720,000 6,720
| 3,360
< 1,008
Al 2,352
S E S A Al 2,780,688 2,913,808 A 133,120
| 1,390,344
< 417,103
Al 973,241
307 gl2tol & 2,780,688 2,913,808 A 133,120
| 1,390,344
< 417,103
Al 973,241
01 =LA =4l 2,780,688 2,913,808 A 133,120
O0eol HeEas 1,783,430,000& 1,783,430
| 891,715
= 267,515
Al 624,200
O0eElld - R & =SSt ASFAHXL
LS 298,780,000& 298,780
| 149,390
< 44,817
Al 104,573
OYAR QASZAI HLEES 11,340,000& 11,340
| 5,670
< 1,701
Al 3,969
ogel HEgEs 647,620,000 647,620
| 323,810
= 97,143
Al 226,667
ONRAEZ e AZGHE HEEE XA
33,496,000& 33,496
| 16,748
< 5,024
Al 11,724
OBE Y F=4tJ1ZE Gl ALY 6,022,000 6,022
| 3,011
< 903
Al 2,108
A Z S0 &AL 79,042 64,400 14,642
| 39,521
< 17,413
Al 22,108
201 £B-2%H| 4,152 3,400 752
J| 2,076
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chel: ZEgael M 25 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 623
Al 1,453
01 At 22l 4,152 3,400 752
0222 (2E4 S 23)
1,000& * 2& = 2,0764 4,152
| 2,076
< 623
Al 1,453
202 o4dl 3,090 1,440 1,650
| 1,545
Al 1,545
01 2LHoIHI 3,090 1,440 1,650
orFE T2 LYK OfHl
257,500& * 198 » 12& 3,090
| 1,545
Al 1,545
301 LEENZ 1,000 1,000 0
| 500
< 150
Al 350
01 ALl EE E 563 1,000 1,000 0
OYIAFIT MAHH XS 1,000,000& * 1H 1,000
J| 500
< 150
Al 350
307 21240 & 64,800 52,560 12,240
| 32,400
< 15,740
Al 16,660
01 =L =4l 47,600 52,560 A 4,960
Yo =T HaHl 2,600,000& 2,600
| 1,300
< 390
Al 910
ogAIIET LAHl XL 1,000,000 1,000
J| 500
< 150
Al 350
OZHNAEZ S HALHS 2 L HF=ZH
22 24,000,000& 24,000
J| 12,000
< 3,600
Al 8,400
OZHE AL & XA 13,000, 000& 13,000
| 6,500
< 1,950
Al 4,550
OZHAZTIIAM & FFHPIANS S
7,000,000& 7,000




FN NEAEA R
M ALEZ
el ywae M 2E (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 3,500
< 1,050
Al 2,450
02 It MAMHEE 17,200 0 17,200
OEdA S ZHEX 22X
17,200,000& » 1H » 1A 17,200
| 8,600
< 8,600
308 XXIEH SO0 A 6,000 6,000 0
| 3,000
< 900
Al 2,100
10 SO 2 SOICHE B & X < E A HI 6,000 6,000 0
OYUABET 2FH B3
600,000& * 103l 6,000
| 3,000
< 900
Al 2,100
oZJ|& Zalzel At 70,658 68,740 1,918
| 70,658
307 glz2tol & 70,658 68,740 1,918
| 70,658
02 PIZHEHAHE L 70,658 68,740 1,918
Oz 7|2 ZHEX 2K
35,329,000& * 2% » 1004 70,658
| 70,658
oZoEUIH HE2LZAHMA 22 32,000 31,100 900
| 32,000
307 gl2tol & 32,000 31,000 1,000
J| 32,000
05 BIZHRI & 3 32,000 31,000 1,000
OSHEE g - 22yl
25,000,000& * 1JH A 25,000
| 25,000
OFHYE& oY - &2/dl 7,000,000& * 1JH 2 7,000
| 7,000
oLy H2ZAMA 2 (29) 200 0 200
| 200
202 o4dl 200 0 200
| 200
01 = LH o4 1l 200 0 200
oczadg T22A 250Ul
10,000& = 2% = 10 200
| 200
MEHA OISZAMA 2SN A 3,840 3,840 0
| 1,920




SN HRZAA
HE: AYSH
Sel: Agyme HH PS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,920
307 glz2tol & 3,840 3,840 0
J| 1,920
< 1,920
02 It M AHE X 3,840 3,840 0
OM=EHe OISZAIMA 2S XA
3,840,000 * 1002 3,840
J| 1,920
< 1,920
MEHH ==sUHERIF s L =& XN 3,000 0 3,000
J| 1,500
< 1,500
201 €24 3,000 0 3,000
J| 1,500
< 1,500
01 At 22l 3,000 0 3,000
OUEH e tHHlSEd LEt=ZH]
3,000,000& = 13l 3,000
J| 1,500
< 1,500
MEHH =S HeEs AN 1,360 0 1,360
J| 680
Al 680
405 THabH S| 1,360 0 1,360
J| 680
Al 680
01 HatL EZFH S 1,360 0 1,360
Olevel A B35 1,360,000& » 14 1,360
J| 680
Al 680
ZHANS P L HLEE =4 4,024,899 3,789,944 234,955
= 243,698
J| 984,120
< 233,370
Al 2,563,711
A2l A 75,420 131,554 A 56,134
201 Let24E] 3,420 3,600 A 180
01 At 22l 3,420 3,600 A 180
oOs=2=s s M& 1,000& = 3,6000H * 95% 3,420
307 21201 A 72,000 72,000 0
01 92724l 72,000 72,000 0
O%E L A2E (I LM S 1565)
20,000& = 3,600H 72,000
2 E X K2 AF (THOHRY) 10,555 8,750 1,805
J| 5,278




2N
X ZH -
L= B

el

EEIPS
AYEA
BDFHANE 75 L AU

3

= _ — d =
SA - B (SA) - MRAY - BYS e 2

=) 1,583
Al 3,694

201 24l 2,600 500 2,100
J| 1,300
=) 390
Al 910

01 AFR 22l 2,000 0 2,000
oMY EES 1,000 * 2,000H 2,000
J| 1,000
< 300
Al 700

03 A2 S HI 600 500 100
OMItY A= 29 300,000& * 23 600
J| 300
=) 90
Al 210

301 LEtEH S 200 100 100
J| 100
=) 30
Al 70

09 HALAHIXI &3 200 100 100
OMItY Ax2Y 29 100,000& * 23] 200
J| 100
< 30
Al 70

307 21201 A 7,755 8,150 A 395
J| 3,878
< 1,163
Al 2,714

01 222l 7,755 8,150 A 395
oA A A2F 7,755
J| 3,878
=) 1,163
Al 2,714

SAHXNLE & 2=2Hl XA 377,228 352,048 25,180
J| 188,614
=) 56,584
Al 132,030

308 XX EHHSOIA 377,228 352,048 25,180
J| 188,614
=) 56,584
Al 132,030

10 SO 2SO0 HEHE & E A 377,228 352,048 25,180
O3|HEEX 2= HI(110Y) 377,228,000 377,228
J| 188,614
< 56,584
Al 132,030
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Kio

Hl w

618

A618

618

62,924
62,924

62,924

N66,126

N66,126

A66,126

107,940

107,940

107,940

H3r
Wikd
RIS

36,360

36,120
36,120

240
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1,564,660
1,564,660

1,564,660

248,566

248,566

248,566

Off &t 24

35,742

35,502

35,502

8,892

2,850

23,760

240
240

240

1,627,584
1,627,584

1,627,584

1,627,584

182,440
91,220
36,488
54,732

182,440
91,220
36,488
54,732

182,440

J|
Al
Il

H

Al

182,440
91,220
36,488
54,732

107,940
53,970
21,588
32,382

107,940
53,970
21,588
32,382

107,940
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Al
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H
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107,940
53,970
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5,980,000
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oy x
fU oY rio
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PO HT

19 ™A
o

=
Ol

o

75 U AYBY x4

il

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

=
=]

13

PS
=

Ot

O

EN

(m
>

SHAME

Jl

n

51,970

25,985
25,985

50,

900

1,070

307 21201 &

Jl

H

51,970

25,985
25,985

50,

900

1,070

&
e
~
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Jo
oy

©
(=)
O
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k>
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FUEAAMNY 23|

s
51,970,000& = 10024

Il

H

51,970

51,970
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900

1,070

Jl

m

Al

61,106
30,553

9,166
21,387
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307 21201 &
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61,106
30,553

9,166
21,387
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N
0
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©
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0x
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0

ANAABSTAY 28l
1

61,106,000& = 10024

Jl
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30,553

9,166
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25,

000

25,000

25,

000

Ox&oy & FUALSTALY (XHA)
00,0003 * 10824

N
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o

25,000

25,000

25,

000

= HnH
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1,500
600
900

3,000

307 glztol &

=z N W
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600
900
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~
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©
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o
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|
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= M W
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600
900
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2N
X ZH -
L= B

el

oy x>
tU 0 {0
PO HT

QA

=
Ol
1
fon
Ha

B

o

A XA (Sl & &)

ir
x

CHE - EI(BA) - NRAY - BYS 0l &k o4

=4y

M

2
==
£l
Ol
0y

Al 600

307 21201 A 2,000 0 2,000
1,000
400
600

= N W

05 22t & =3 2,000 0 2,000
O2=2d HSXA 2,000,000 = 1K 2,000
1,000

400
600

zZ W

04

MEE AXSXHHM XISHIXE 3,000 0 3,000
1,500
600
900

=z N H

307 & 3,000 0 3,000
1,500
600

900

r

N
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=z N H

01 2 =l 3,000 0 3,000

eiXISX M XISH X
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600
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©
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1,500 0 1,500
750
300
450

=z o W

307 glztol & 1,500 0 1,500
750
300
450

= MW

01 =273l 1,500 0 1,500
OHFYA XZSHIXA 1,500,000& = 1004 1,500
750

300
450

= MW

A =M X=dH XA 23,000 12,500 10,500
6,900
16,100

=

307 21201 & 23,000 12,500 10,500

6,900
Al 16,100

H

05 gzt

$
Jo
oy

23,000 12,500 10,500

©
b
nx
40
0o
p|
00

sSHEX=H X2
23,000,000& = 10024 23,000
6,900

N




SA HRABAA
Bu: AYET
Sl 2HUANB 25 U AV T4 CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
| Al 16,100
A Atel &M WERID 75 4,000 4,000 0
< 1,200
Al 2,800
307 21201 & 4,000 4,000 0
< 1,200
Al 2,800
05 DIt e 2 4,000 4,000 0
OXIGAE KUY WESHD 25
4,000,000& * 1J0HA 4,000
=) 1,200
Al 2,800
FUAI=SANEE S SAL dRMAH X2 12,000 10,800 1,200
< 3,600
Al 8,400
307 21201 & 12,000 10,800 1,200
< 3,600
Al 8,400
05 Izt &= 12,000 10,800 1,200
OBMATZNME S BAX HSLHEY X &
100,000& * 10 » 123 12,000
< 3,600
Al 8,400
S=3Eh Az 2c2dl XA 25,000 30,000 25,000
< 7,500
Al 17,500
307 21240 & 25,000 30,000 A5,000
< 7,500
Al 17,500
05 RIZtRIEt = 25,000 0 25,000
osssEN Mz&eH XA
25,000,000& = 10024 25,000
< 7,500
Al 17,500
ZA2ANE JIs2E2 477,896 0 477,896
= 238,948
Al 238,948
307 glztol & 477,896 0 477,896
= 238,948
Al 238,948
03 QIZtHHHE2HHE X 477,896 0 477,896
OZAUTHEANHE JIsES 477,896
O=clsEAAZHEH  2,700,000& » 102 2,700
= 1,350
Al 1,350
Ootgd 475,196,000 = 10H 2 475,196




AN MEEAL
Bu: AYET
Sl 2HUANB 25 U AV T4 (sl &2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 237,598
Al 237,598
Ot ME 2SS XA 609,510 962,023 A 352,513
J| 487,608
= 24,380
Al 97,522
101 2124 d| 25,927 200,117 A 174,190
Dl 20,742
= 1,037
Al 4,148
04 JIZtHI2E2XNSE S 25,927 3,200 22,727
OWMHM QI (2tS AL 23,527
OolAd| 79,4803 * 29 * 262  5& 20,665
J| 16,532
= 827
Al 3,306
O &0 H| 50,000 = 2¥ = 5€ 500
J| 400
& 20
Al 80
On =l 90,000& * 24 180
J| 144
< 7
Al 29
Q4 e Jj1aed=2 2,182
-H2AEE 20,665,000& * 3.23% 668
J| 534
= 27
Al 107
-AJQUEE 668,000 * 8.51% 57
J| 46
= 2
Al 9
-=0133 20,665,000& * 4.5% 930
J| 744
= 37
Al 149
-18Es 20,665,000& * 1.5% 310
J| 248
& 12
Al 50
-MHESE 20,665,000& * 1.05% 217
J| 174
= 9
Al 34
OXIHZ2E2= A2l 21 AHH|(4¥) 2,400
OJ|22dZ2 (DR, MHEE)
50,000 * 4 x 12& 2,400
J| 1,920




FN NEAEA R
Bu: AYET
CHelr ARHANE PE U AABY =4 (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 96
Al 384
201 LB-2dH| 377,683 619,843 A 242,160
| 302,146
< 15,107
Al 60,430
01 At 2t 2l 295,336 571,816 AN 276,480
OXIOHCHAME At 2YHI 184,138
Oxs=E2el & RIHIAMY
20,000,000& 20,000
| 16,000
= 800
Al 3,200
OXMAAIMNS L o2l At
19,138,000& 19,138
| 15,310
< 766
Al 3,062
OXlofetalots 29 5,000,000 = 1JH 4 5,000
Il 4,000
= 200
Al 800
OXHEHEH & = XA
20,000,000& 20,000
| 16,000
< 800
Al 3,200
OXIMetyMEH 20 ¥ &2 120,000,000 120,000
| 96,000
< 4,800
Al 19,200
OXIOHetAME 23l 1,550,000& * 128 18,600
Il 14,880
= 744
Al 2,976
OE™YA =& 2,744,000 * 1€ » 123 32,928
J| 26,342
< 1,317
Al 5,269
OXSANSEHEAM 3o H#HY
100,000& = 8H =« 23| 1,600
J| 1,280
S 64
Al 256
OXHSSEAALY Atellalo &AM
100,000& * 49H 400
J| 320
= 16

Al 64




SN HE2AA
HE: AYSH

el ASHAANS 75 & A2EF &4 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OXNM=O ZZ=a NAZNZIN T
100,000& * 4A 400
J| 320
=) 16
Al 64
OXIHeta ey =& T=Hl 90,000& = 24Y 2,160
J| 1,728
= 86
Al 346
OFALEY =8 1,100,000& * 12& 13,200
J| 10,560
=) 528
Al 2,112
OYRE U U ==z (1H) 4,800
OgetsExt &8 480,0008 » 1CH = 108 4,800
J| 3,840
=) 192
Al 768
OXIOHtAHE SHE R 2elb
2,640,000& * 123 31,680
J| 25,344
=) 1,267
Al 5,069
oOde=+I| 2eltl 32,900 = 3CH = 12& 1,185
J| 948
< 47
Al 190
OZJIE&J| &2l 32,6503 = 6l « 123 2,351
Il 1,881
= 94
Al 376
ol 2elt 23,900 = 204 = 12& 574
J| 459
< 23
Al 92
ORUEXEH === 110,000& * 128 1,320
J| 1,056
=) 53
Al 211
02 =224l 37,347 28,027 9,320
OXIHetMHIH 2323 S
1,500,000 = 12& 18,000
J| 14,400
=) 720
Al 2,880
OANEEH SN2+ 1,000,000& 1,000
J| 800
< 40
Al 160
OdHEI RANE=> 70,000 * 10CH 700




2H: NEEHA
H: AYEA
ol CRHANS 75 Y AABET T4
SN HE -G (3A) - NBAY - B2 il
Pl 560
& 28
Al 112
OTV & oy 22 53,900& * 12& 647
J| 518
o= 26
Al 103
ORI (MXNRH) 500& * 30,000H 15,000
J| 12,000
== 600
Al 2,400
oge=E XL (1M) 2,000
odetsEit Ao ¥ 200,000& * 1CH = 10 2,000
J| 1,600
== 80
Al 320
03 A2 E H| 45,000 20,000
Ouns, T2 & 2HQ 2H
25,000, 000& 25,000
J| 20,000
== 1,000
Al 4,000
OXlojetalolse 249 20,000,000& 20,000
J| 16,000
& 800
Al 3,200
202 044 28,800 28,800
J| 23,040
& 1,152
Al 4,608
01 2L I 28,800 28,800
OXMMER =& bl
100,000 * 24 x 12& 28,800
Dl 23,040
o= 1,152
Al 4,608
301 et M= 20,000 15,000
J| 16,000
== 800
Al 3,200
09 HAIAHI XIS 2 20,000 15,000
Oounxs, T2z 2 HHO 2H
20,000,000 20,000
J| 16,000
= 800
Al 3,200
307 212t0| & 157,100 85,400
J| 125,680
o= 6,284




2N
X ZH -
L= B

el

HE =2 s
AL
ABHAUNE 75 Y AYHY X4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
Al 25,136
01 222724l 156,600 85,400 71,200
OXHex AEES XN&
35,0003 = 230¥ » 12& 96,600
J| 77,280
< 3,864
Al 15,456
O%stsE & A=2E 4A2E 30,000,000& 30,000
J| 24,000
< 1,200
Al 4,800
OXIHE=DIZ & HUZAtHl 150,0008 » 200 30,000
J| 24,000
< 1,200
Al 4,800
06 283 500 0 500
OXIbietaOts Z208 B2 500,000& 500
J| 400
< 20
Al 80
XIOHXIZ 28l XI& (A8l 97,484 72,686 24,798
J| 48,742
= 14,623
Al 34,119
308 MtXIEHSOIH 97,484 72,686 24,798
J| 48,742
< 14,623
Al 34,119
1037/ 2S0HUHeSB A ALS HI 97,484 72,686 24,798
oMyl XA 97,484,000 97,484
J| 48,742
< 14,623
Al 34,119
Aol 22=A XA 2,700 925 1,775
J| 2,150
= 108
Al 442
201 LBH2E| 300 925 A 625
J| 230
< 12
Al 58
01 At 22l 300 925 A 625
oxE HIX HE 300,000& * 1 300
J| 230
< 12
Al 58
301 LEEAF 2,400 0 2,400
J| 1,920




SA HRABAA
Bu: AYET
Sl 2HUANB 25 U AV T4 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 96
Al 384
12 JIEtEA S 2,400 0 2,400
O=d¢el g3l 200,000& = 1H = 123 2,400
J| 1,920
< 96
Al 384
XOHEX SsSHEXH 98,824 108,066 AQ,242
< 19,765
Al 79,059
307 21201 A 98,824 108,066 AQ,242
< 19,765
Al 79,059
01 927 24| 98,824 108, 066 AQ,242
OXIOHeX =SsHEXA 98,824,000 98,824
= 19,765
Al 79,059
X MEgzZ=z0d 2F (RO0tJt= 21 X3101) 10,000 10,000 0
< 2,000
Al 8,000
201 LB-2d| 3,500 4,300 A 800
< 700
Al 2,800
01 At 22l 3,500 4,300 A 800
oXMHEEZz )Y 2 ¥ WEINE S
25,000& = 1409H 3,500
< 700
Al 2,800
301 LEMZ 6,500 5,700 800
< 1,300
Al 5,200
09 HALAHIX A S 300 300 0
CQoXMMa=Z= ) #HAtAHl 12,5008 * 243 300
< 60
Al 240
12JIE243 6,200 5,400 800
©JIAXJI0] =X 2H(30¥) 6,200,000 6,200
= 1,240
Al 4,960
KA RAHIA Z3AY X & 100,000 100,000 0
J| 50,000
Al 50,000
307 gl2tol & 100,000 100,000 0
J| 50,000
Al 50,000
02 It M AHE L 100,000 100,000 0




SN HRZAA
HE: AYSH
Sl CIRFGNS 7S Y AYHE T4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZERLYEE XNMet =208 29X
100,000,000& * 1JH £ 100,000
J| 50,000
Al 50,000
240 Otse HAZAg 934,737 811,317 123,420
= 78,750
s 329,655
Jl| 105,144
< 100,976
Al 320,212
SUEAAS 24,876 12,560 12,316
201 £B-2%H| 11,400 12,560 A 1,160
01 At 22l 11,400 12,560 A 1,160
OZXNEHANY E2=235 M 2 7 11,400
OBXNEHAY 2IEA S WA
1,000& = 2,000% * 95% 1,900
OZNEAMY EE22F 7Y
2,500& = 2,000 * 28 = 95% 9,500
307 glz2tol & 13,476 0 13,476
01 222724l 13,476 0 13,476
OZR &R 99,000& * 94 891
Ot AkH (LM, ZEH) 12,585
OZAtH 4,4013 = 702 + 128 3,697
OZE2H 6,224 * 1192 » 123 8,888
FAEME JAEL OFH XN& 2,500 2,700 A 200
J| 1,250
< 625
Al 625
308 A EHHSOIA 2,500 2,700 A 200
J| 1,250
< 625
Al 625
10 37/ 2S0HUHSBHEAEALS I 2,500 2,700 A 200
OFAHAR JASL IZHIXR
2,500,000 2,500
Il 1,250
S 625
Al 625
AZAMOtA L 22 AL X E A 470,935 419,346 51,589
s 329,655
Al 141,280
308 A EHHSOIA 470,935 419,346 51,589
s 329,655
Al 141,280
1037/ 2S0HUHeBHEAEALS HI 470,935 419,346 51,589




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Q&2 Ao A2 22| A XI& 470,935,000 470,935
s 329,655
Al 141,280
ASAMOtAZ 22| A FOHRI2 ALY 59,830 59,830 0
< 11,966
Al 47,864
308 XXM SOIA 59,830 59,830 0
< 11,966
Al 47,864
10 I 2 SOCHetE & X 2 & A I 59,830 59,830 0
OMB Ao AZ2elAb =X &
59,830,000& 59,830
< 11,966
Al 47,864
oS AT ot S LI 1,888 1,888 0
J| 1,510
< 113
Al 265
201 Let24E] 1,888 1,888 0
J| 1,510
< 113
Al 265
01 At 22l 1,888 1,888 0
OAtH EZH| 1,888& * 1,000 1,888
J| 1,510
< 113
Al 265
de0t AZH A 4,500 5,663 A 1,163
J| 3,600
< 270
Al 630
308 MtXIEHSOIH 4,500 5,663 A 1,163
J| 3,600
< 270
Al 630
10 3J/2S0HUHeSEH4HAEALS HI 4,500 5,663 A 1,163
OZ &l 22,500& = 2009 4,500
J| 3,600
< 270
Al 630
R0t L HLAAH XA 2,250 1,302 948
J| 1,800
< 135
Al 315
307 glz2tol & 2,250 1,302 948
J| 1,800
= 135




2N
X ZH -
L= B

el

N

Y x
0x 0¥ o
oMY

BN H

FS2l A A

2

o

ton

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
Al 315
o1 s R=dl 2,250 1,302 948
OYEEOf 2Aots &&H 225,008 « 109 2,250
Jl 1,800
o= 135
Al 315
HESE GEAAL L BFD|] X 5,250 20,905 A 15,655
J| 2,625
=} 1,312
Al 1,313
307 QI2t0| ™ 5,250 20,905 A 15,655
J| 2,625
= 1,312
Al 1,313
o1 o= 5,250 20,905 AN 15,655
O & AbHI 5,250,000& 5,250
J| 2,625
& 1,312
Al 1,313
Ol=0F & A&H0IA0F 2 =H| 26,000 44 465 N 18,465
J| 13,000
&< 6,500
Al 6,500
307 2iz2to| & 26,000 44 465 N 18,465
J| 13,000
= 6,500
Al 6,500
01 s R=Hl 26,000 44 465 N 18,465
O0l=0F & & H0IA0F 22|
1,000,000 * 26H 26,000
J| 13,000
& 6,500
Al 6,500
HEA HAOIAMZAE AN & &0oF2te] 21,000 28,150 ANT7,150
J| 10,500
= 5,250
Al 5,250
307 2iz2to| & 21,000 28,150 ANT,150
J| 10,500
= 5,250
Al 5,250
01 sd =l 21,000 28,150 ANT7,150
ON&&A A0l A AF & & o222l
21,000,000 21,000
J| 10,500
& 5,250
Al 5,250




SN ANREAL
=z

M A
2 240 0fs2 AZAS2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEEEAEHA+E 1,718 1,718 0
J| 859
< 430
Al 429
308 AHXIEHHSOIA 1,718 1,718 0
J| 859
< 430
Al 429
1037/ 2S0HUHeBHEAEALS I 1,718 1,718 0
OHZEZANEAHEF 1,718,000& 1,718
J| 859
< 430
Al 429
HUERX A 116,000 8,240 107,760
J| 58,000
< 29,000
Al 29,000
307 glz2+0l & 116,000 8,240 107,760
J| 58,000
= 29,000
Al 29,000
01 2724l 116,000 8,240 107,760
oHdRE Al=Hl X 500,000& » 2329H 116,000
J| 58,000
< 29,000
Al 29,000
Haee SEXISH K AY 16,490 21,720 25,230
201 Let24d] 950 1,000 A50
01 At 22l 950 1,000 A50
osE= M 2,000& = 50008 = 95% 950
307 glz2tol & 15,540 20,720 A5,180
01 22272l 15,540 20,720 A5,180
ouYRs sEx2y X8
1,036,000& * 159 15,540
DAgLMR oz N& 24,000 22,215 1,785
J| 12,000
< 6,000
Al 6,000
307 glz2tol & 24,000 22,215 1,785
J| 12,000
< 6,000
Al 6,000
01 2222l 24,000 22,215 1,785
ONRAS LR AZHIXH
1,000,000& * 24H 24,000
J| 12,000




2N
X ZH -
L= B

el

N

Y x
0x 0¥ o
oMY

BN H

FS2l A A

2

o

ton

= _ — d =
SA - B (SA) - MRAY - BYS e 2
=) 6,000
Al 6,000
HASE JIMAH ZHERF XNEAS 157,500 156,365 1,135
= 78,750
< 39,375
Al 39,375
308 AHAIEHHSOIA 167,500 156,365 1,135
= 78,750
< 39,375
Al 39,375
1037/ 2S0HUHSBHEAEALS I 157,500 156,365 1,135
ONMASE JIMA - ZMES XN
157,500, 000& 157,500
= 78,750
=) 39,375
Al 39,375
ojerate] 142,700 107,500 35,200
J| 126,400
& 2,100
Al 14,200
2l s N=8H 1,900 2,000 A 100
201 L Er2 A | 1,900 2,000 A 100
01 Ab2 22l bl 1,900 2,000 A 100
OAMAHOIE2 & A S22
1,000& = 2,0000H * 95% 1,900
BAA AEHEE 2EXR 2,000 2,000 0
J| 1,400
< 600
307 glztol & 2,000 2,000 0
J| 1,400
< 600
01 =23zl 2,000 2,000 0
OS=S2ABANE 2,000,000 = 1MIE 2,000
J| 1,400
=) 600
AsaEEsd) E2Xd 6,000 3,000 3,000
J| 3,000
=) 1,500
Al 1,500
405 TtobH S| 6,000 3,000 3,000
J| 3,000
< 1,500
Al 1,500
01 AL EZFH S 6,000 3,000 3,000
OXsaESAHI 3,000,000& =+ 2CH 6,000
J| 3,000




SN HRZAA
HE: AYSH
el oerael (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,500
Al 1,500
Szl N3 122,000 87,000 35,000
J| 122,000
307 gl2tol & 122,000 87,000 35,000
J| 122,000
02 It HAHE L 122,000 87,000 35,000
o229zl & BiZl BEXS(EFA=H)
40,000,000& = 10H 4 40,000
J| 40,000
SZ29sJ/& HiZn BEXZ(E=UsnY
) 82,000,000& * 1JH A 82,000
J| 82,000
ZHAX OS2 HsdESHI BE= 10,800 13,500 22,700
405 XtaHE SHI 10,800 13,500 22,700
01 AR ESFH S 10,800 13,500 22,700
oOnsaEFEAHI 2,700,000& =+ 4CH 10,800
HE2IAIH(MEE2AL) 2,005,952 1,498,760 507,192
= 106,099
J| 416,902
< 67,967
Al 1,414,984
ol 2 gl 1,861,051 1,359,458 501,593
= 106,099
J| 416,902
= 67,967
Al 1,270,083
ol Al 958,668 759,002 199,666
101 @14 Hl 958,668 759,002 199,666
01 2= 170,246 163,137 7,109
O e 170,246
OznH2R4g
10,5093 = 45% = 30AI2t = 128 170,246
02 JIEtE B = 49,671 60,935 A 11,264
OLBAIM 2,456
OZnU224Y
13,6413 = 1% = 15A12t = 12& 2,456
O3SEAHYAM 47,215
OfRIg2f+< 40,000& * 4% « 128 1,920
(OFSE=3-—"3-—F Sy = 900,000& = 4% = 12& 43,200
Oxzzfs+¢ 2,095
-t 12,6228 = 2F * 4A12F » 128 1,212
-S4 9,191& + 2F = 4AI2+ « 128 883
03 RIAHAZZHE > 738,751 534,930 203,821




SA HRABAA
B AHLSAAL (MALAL)
chel: ol gyl CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
© el 589,092
OoJlgs(geraea) 194,415
288 (Jt=) 3,273,340 » 1H « 128 39,281
-195=(Jt=2) 3,111,040 * 1 « 128 37,333
-18&8(Jt=) 3,056,940 * 1H = 12& 36,684
-4s=(0t=) 2,299,540& = 2% » 12&8 55,189
-4 E(0x) 2,160,590& * 1H » 123 25,928
OEs=E 20,400
—bi < Xt 40,0003 = 218 « 123 10,080
-&Edl % 20,000% = 15 « 128 3,600
-=MAH 60,0008 * 6% = 128 4,320
AU XA 100,000& » 29 = 12& 2,400
OozZ2s+% 940,774,080& * 5% 47,039
Oz &Hl 130,000& » 349 = 128 53,040
Og 2 =Itdl 84,598,660& * 50% * 23l 84,599
O¢ItE &I 75,2413 + 34% « 20 51,164
OXtHSdI 25 400,0008 » 38 » 43 4,800
O&¥d=+% 50,000& = 34 = 128 20,400
OEF ==
17,1693 = 34H = 15A12t = 128 105,075
O22W=s0l
40,0002 * 34" » 13| » 68 8,160
O4UEE JI22E3(34Y) 146,599
OHL=EE 1,388,910,000& * 3.23% 44,862
OFIILEE 44,862,000& * 8.51% 3,818
O=8d¢= 1,388,910,000& * 4.5% 62,501
ONEEE 1,388,910,000& * 1.5% 20,834
OtHEE 1,388,910,000& * 1.05% 14,584
ou =l 90,000& = 344 3,060
ANZZSHUSAIE (EX) 52,560 34,400 18,160
J| 26,280
Al 26,280
101 1Al 51,535 34,400 17,135
J| 25,768
Al 25,767
02 JIEt& B == 13,294 0 13,294
OANASEEAINH JN2=
1,693,660 » 1& = 6 10,162
J| 5,081
Al 5,081
Oo=¢ 3,132
O=E=d 840
-t < Xt 40,0008 = 1€ * 63 240
J| 120




SN HRZAA
M AN (MAR2AA)
gel: o2yl eEH)
SN HH-S(BN) - MBAY - B il HlnE2
Al 120
-&EHl= 20,0003 = 1H » 63 120
| 60
Al 60
ol PNIE 20,000& = 1H ~ 63 120
| 60
Al 60
-=MAH 60,0003 = 1H » 63 360
| 180
Al 180
SNE-ELES
5283 + 1Y = 20A12H = 63 1,024
| 512
Al 512
OsS+Eerg 81,2008 * 1% » 6% 488
| 244
Al 244
OFAZ A 130,000& * 1H » 63 780
| 390
Al 390
2IAAZ2 2= 38,241 3,841
OZHNMG S A 38,241
Ol 38,241,000& * 1H 38,241
| 19,121
Al 19,120
M= 1,025 1,025
| 512
Al 513
02 222 =4 762 762
OAlZHEE AT M (92 &4 L)
145,000& * 1Y » 35A12H/40A12F * 6 762
| 381
Al 381
SEZ LRI HI 263 263
OAIZEERA DM CHEI & =HI
50,0009 * 18 » 35AI2H/40AI2F = 68 263
J| 131
Al 132
AN SN (BE) 239,363 239,363
| 191,490
= 9,575
Al 38,298
101 1A dl 225,030 225,030
| 180,023
< 9,002
Al 36,005
02 JIEtE B = 225,030 225,030




SM: HEBAL
MY #HSAAH(MEBAL)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OAZIEEADIH D23

1,693,660 » 7H » 128 142,268

bl 113,814

< 5,691

Al 22,763

o2c 82,762

=4 20,160

-t < Xt 40,000 * 7% = 128 3,360

| 2,688

< 134

Al 538

-=Hl= 20,0004 = 78 « 123 1,680

bl 1,344

< 67

Al 269

ol DNIE 20,0003 = 798 » 12& 1,680

Il 1,344

= 67

Al 269

1 PNIE 60,0003 = 78 » 123 5,040

| 4,032

< 202

Al 806

oW/ DNIE 100,000& = 7H = 12& 8,400

| 6,720

< 336

Al 1,344

OXt4dstdl 2 == 467,000& * 798 * 43 13,076

| 10,461

= 523

Al 2,092

OANZZRg

8,528& * 7Y * 20AI2t 128 14,328

| 11,462

= 573

Al 2,293

O¢ItE &I 40,780 * 7 + 11 3,141

| 2,513

< 126

Al 502

O ZAlHI 130,000& = 78 = 123 10,920

| 8,736

< 437

Al 1,747

OExZRY 81,2904 = 798 » 12& 6,829

| 5,463

= 273

Al 1,093

O=s0tsdag 711,330& * 2H » 53 7,114

| 5,691




SN HRZAA
M AN (MAR2AA)
Sl ol ) cHel E )
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
== 285
Al 1,138
O&dnaoz (44 7,194
J| 5,755
= 288
Al 1,151
2= 14,333 0 14,333
J| 11,467
< 573
Al 2,293
Nz EXH 10,658 0 10,658
O Al ZH ER I D1 Al ( )
145,000 * 79 A2H/40A12F + 128 10,658
J| 8,527
< 426
Al 1,705
EZHRE | 3,675 0 3,675
OANZIEEHADIH HolE S
50,000 * 7% * 35A12H/40A12F « 12& 3,675
J| 2,940
< 147
Al 588
3 SEALSIAMG 234,200 248,720 A 14,520
J| 117,100
< 23,420
Al 93,680
101 1A dl 234,200 248,720 A 14,520
J| 117,100
< 23,420
Al 93,680
2IAAZ 2 E = 234,200 248,720 A 14,520
OsSedZSTAY 234,200
(@) Fal:] 231,800, 000& 231,800
J| 115,900
= 23,180
Al 92,720
OdzZod W=l 240,000 = 109H 2,400
J| 1,200
= 240
Al 960
NEANS S 2AXNIAMEBIA(BX) 137,520 134,640 2,880
J| 68,760
< 13,752
Al 55,008
jeilal.]] 137,520 134,640 2,880
J| 68,760
< 13,752
Al 55,008
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SA HRABAA
B AHLSAAL (MALAL)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=ZHI(J1E&HI)
8,000% * 50 * 8L = 12& = 70% * 95% 25,536
02 =224l 11,070 9,900 1,170
oORUR= 11,070
Og et 350& * 1,000 = 123 4,200
Os7l 2,150 = 1508 » 12& 3,870
OXRHE(AEESE) 5002 » 5008 » 128 3,000
202 Odl 65,165 61,728 3,437
01 =LHYI 45,965 44,928 1,037
OJIEZ
20,0003 = 42 » 82 « 12& » 60% = 95% 45,965
02 M0 19,200 16,800 2,400
CEEET- P (= EgE S
200,000& = 3H » 123 7,200
O8N YE=2Ad =
200,000& = 5H « 123 12,000
203 ¥ S =&l 19,380 18,960 420
01 JI22E 2= 6,000 6,000 0
OJIEH (42) 6,000,000& 6,000
02 It =2 3,240 3,360 A 120
OHAINMIRFA 40,0003 = 814 3,240
04 FXNSEHE=LH 10,140 9,600 540
ORNZ2IELRFA 10,140
@)k EA 7,140
-30¢! Ol ot 400,000& = 12& 4,800
-30Q0 =1t 5,000& = 39% x 12& 2,340
OXI O et &) dI 3,000
-15¢! 0l &t 250,000& = 12& 3,000




= o
A & 0l & AF 2 E A A
2020E T EOIA YUHEH MTEAL PAFMY ~ HADAL
SN BERAL
HE: AYSH
CHelr BAABAILIB DS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
g8EAL 11,823,751 11,427,667 396,084
=2 199,557
s 419,561
J| 3,941,757
< 1,125,815
Al 6,137,061
Pl = 9,722,926 9,825,277 A 102,351
= 128,825
s 419,561
J| 3,575,300
< 1,071,168
Al 4,528,072
SHAS AL = 1,027,085 1,202,762 A175,677
= 41,401
< 18,131
Al 967,553
S AU A2 S 156,540 155,873 667
101 @124l 109,523 109,293 230
04 JIZHHNZ2Z2XNSE+ 109,523 109,293 230
© 2l At 109,523
Ol 290,000& » 1% = 262 = 12& 90,480
C4EE JI22E3 9,553
AL L2E 90,480,000& * 3.23% 2,923
B3I eLEE 2,923,000& * 8.51% 249
=03 90,480,000& * 4.5% 4,072
-1EEE 90,480,000& * 1.5% 1,358
“MTHEE 90,480,000& * 1.05% 951
OZ & Fotyl 200,000 » 1Y « 23] 400
O=XNEQAE 300,000& = 1H 300
O& &=z 290,000 * 30 8,700
o1l =l 90,000& » 1H 90
201 ¢er24] 17,417 17,580 A 163
01 At 22/l 17,417 17,580 A 163
ORI AAL O 44 1,520
OSfMdl #&2 703 = 10,0008 = 95% 665
OXsx SAEAM 100& * 6,000 » 95% 570
ONsx HLHA 50& * 6,000 = 95% 285
OMEIINE =H=+2=2 50,0003 = 128 » 95% 570
OdZ e 2AHLE MHIA
7, 7003 * 128 » 95% 88
o=cxzd, gty 23 2,090
ONEZ2HM2E MM S
100,000& * 53| * 95% 475




TP
AYER
BAAB AN LGRS SREED
S EHH B (B) - HSAY - BLS il HDS2
OHE % HEZ MEL
200,000& * 13 * 95% 190
O2elxXz & MEHHANE
200,000& * 6NMIE * 95% 1,140
OEt= 10,000& * 30& * 95% 285
(ORTE==3s]l 2,509
O 9 A 90,000& * 7H *x 95% 599
Otlad 2 ANz 90,000& » 17H = 95% 1,454
OFHJAZH 120,000& * 2% * 23| * 95% 456
OZ2FEEHYAN mAXES
300,000 » 3 * 128 * 95% 10,260
ONMUZ222 ==l 100,000& + 4% + 95% 380
202 04| 6,840 8,400 A 1,560
01 2LHHI 6,840 8,400 A 1,560
O3ZEH2AA I EZHI
20,000& * 6Y » 52 * 128 » 95% 6,840
203 R =&lY| 3,000 3,000 0
03 Al =X H 2 =X Y| 3,000 3,000 0
OBAHAMY LRF=X 3,000,000 3,000
307 212t01 & 16,460 16,600 AN 140
01 2L 2= bl 16,460 16,600 A 140
oflza 29 11,000
OB5MI0I A =ol&8 X 2HHl XI&
1,000& = 10,000¥ 10,000
O%= 400,000& 400
oArRE 600,000& 600
oxR2x 29 60
O%E 20,000& 20
[OFE == 40,0003 40
ostgtdlzd 29 3,000
o= 2,000,000& 2,000
oArR2E 1,000,000& 1,000
o2cxza 29 2,400
O%= 1,400,000& 1,400
oArRE 1,000,000& 1,000
405 XH&HF S HI 3,300 0 3,300
01 AL =2 EF SHI 3,300 0 3,300
O°ls &H| 3,300
OCHOIHE 550,000& * 6CH 3,300
BAHA2Y 389,344 350, 100 39,244
101 @124l 28,597 0 28,597
04 JI2ZtH 22 XNHEE =+ 28,597 0 28,597




2N
X ZH -
L= B

el

HT Y ofor
Y oM e
10 Q) HT

A
bS]
ENEBIEEE

SA - ZE-B(EA) - NRAY - B S il &t o il
OF<E~.] 28,597
(@RiRal:] 74,4003 * 18 * 262 « 123 23,213
O4UEE JIa2E23 2,452
-HAEE 23,213,000& * 3.23% 750
B3I eeL2E 750,000 = 8.51% 64
B = 23,213,000& * 4.5% 1,045
-N2s2d 23,213,000& * 1.5% 349
AT EE 23,213,000& * 1.05% 244
OFEFItHI 200,000& = 1H « 23| 400
O=XNEQUE 300,000& * 1¥ 300
O& &= 74,4003 = 30 2,232
201 £B-2dH| 278,862
01 At 22l 72,718
ORFANRE ZEHEUY 3,971
Oogras 2,508
- et 220,000& * 2& = 33| = 95% 1,254
-2 =J1 330,000 * 45 « 13 * 95% 1,254
Oxlza 220,000& * 1& = 53| = 95% 1,045
Ogetzte| 213t
220,000& * 2& = 13| = 95% 418
ORUAARE SAEX 879
Oograa 21,0003 = 269 A * 95% 519
(OFSE=3-1 21,0002 = 132HA = 95% 260
Oolerate| ela ot 21,0003 = 52FA + 95% 100
OZZHM=E 1,770& = 3000 * 128 * 95% 606
Ozt&aa st&EA
35,700% * 38FA « 1JHA « 128 * 95% 1,221
OSEES
28,600 * 18FA « 1J1A « 128 * 95% 327
O&EAMNZE HEAES 1,500,000& * 95% 1,425
ode=I 22yl 4,788
OEAA 40,0003 = 3CH = 12& = 95% 1,368
O82dX A 30,0003 » 4HA + 128 + 95% 1,368
oAz A
36,000& = 50 * 128 = 95% 2,052
O3J18FJ| &2l
45,0003 = 11CH = 128 = 95% 5,643
OBAHXN A & S A HAHYEAMES2(9HD)
60,0003 = 128 » 95% 684
OFEAMAIE 22ES 2,752
Od2g a7 56,000& = 16L * 95% 852
OAM&Eg2 452 UM
100,000& * 208 = 95% 1,900
OAAZEANMSO HE =2 49,472




SN BHBAL
Bu: AYET
©e: B AL RS (&)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
OfoZHEY =8 13,224
224 170,000 » 10HA + 128 » 95% 1,938
-~ AT A
110,000& = 4002 + 128 = 95% 5,016
—EAIBRA
110,000 = 54 + 128 » 95% 6,270
OSZINEIEMN =2 267
224 150,000& = 1JHA + 13| » 95% 143
—EANA(LE)
130,000& = 1JHA + 13| » 95% 124
Osgoigtdze Hdle=2 3,192
224 150,000& = 1J0HA + 128 » 95% 1,710
—BANA(2E)
130,000& = 1J0HA + 128 » 95% 1,482
OFIIotE e a2 12,265
224 635,800& * 1JHA = 128 * 95% 7,249
-B2AX &
110,000 *» 4JH2 = 128 = 95% 5,016
OAY (L)AL B Hai442
220,000& » 1JHA = 128 = 95% 2,508
Odt=HMelAMdae === 11,400
-gAEA
200,000& = 5 * 128 = 95% 11,400
OSFILA(LNG) EIIE M2
200,000 = 10HA * 18] * 95% 190
OzgdHIIE Ml === 5,666
224 200,000& = 1J0H2 * 128 = 95% 2,280
“SAX A 33,0008 * 4HA « 128 « 95% 1,505
-2adaa
33,000 = 5o * 123 * 95% 1,881
OAHBINE SH+=x2 760
-EEE2A4A g2
800,000& = 1JHA * 13 * 95% 760
O=283 X2l ==8 500,000& * 23| » 95% 950
02 Z=2Z4l 206,144 188,300 17,844
o0322= & HA 117,408
Odstea(54I,4) 12,0008 * 123 144
OQ2a |ceHeI 23 22,000& ~ 12& 264
o&IIe3 5,170,000& = 12& 62,040
Oidt=Ee= 2,200,000 = 12& 26,400
OEAIARZ 2,300,000& = 123 27,600
ORdgsz 50,000& = 10HA * 128 600
Qoo AIHY 2R3
30,000& * 1A * 128 360
ONAAD HIAMASE 30,000& = 13l 30




SN BHBAL
Bu: AYET
©e: B AL RS (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OusmZLRE3 800,000& * 13 800
OXNERAH(EE NSKHAHM S &) 51,800
O&xt 2,700,000& * 7CH 18,900
Os8x 4,900,000& =+ 3CH 14,700
Osegxt 6,500,000& * 1CH 6,500
Ost=xt 4,300,000& = 20H 8,600
O+x=x 3,100,000& + 1CH 3,100
OM=xX HE& 10,000& = 100& * 22 2,000
OMz==x =ZHAA==E 100,000 * 13| 100
O&stx HA 15,000& * 70& 13 1,050
oHlagdI KX 2l 1,819
Osst(d=) 1,275% = 50 = 503 319
O KXl 1,500,000& = 104 1,500
OFEAAE S X 23,137
OEHA(22) 1040/5t
2,401& = 2,049m" * 1JH A 4,920
O8AA(g2) 204016t
3,737& = 2,701m * 10HA 10,094
OEAX A 5,293
-10& Ol ot 2,401 = 568m" * 30§ A 4,092
-15& 0l of 3,126& * 384m x 1 1,201
oA=L 2,830
-204 0l &t 3,737 * 215m x 10H A 804
-15& 0l ot 3,126& = 162m * 404 2,026
OS2 zdl KX 8,000
OEAA 8,000,000& 8,000
401 Al HI K 2018 81,885 59,260 22,625
01 A& HI 81,885 59,260 22,625
o222y M2(ELE2HA Hat)
2,500,000 2,500
OE=x4A W24)| M2 L 2 (EEEHA ¥
2) 6,800,000& 6,800
omIY, Mo FA & FHH(EEE2HA L
2 XA, &E D) 40,0008 = 17104 6,840
O, dty =8I FH|
2,000,000& * 2CH 4,000
OEEE2dA 22 o L==3M
19,390,000 = 1JH A 19,390
OEEEdA E& S =3 A
14,470,000& = 1004 14,470
OS24 & o &) 2 wH &
2 EHEHl S At 14,915,000& * 1JH £ 14,915
OEEEHA H2 HEA S =M A H(AISS
) WHIB A 3,970,000& * 1002 3,970




SN EYRAL
Ha: ALSH
CHelr BAABAILIB DS

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O3SANAEEZ FIIEZH SAH (22204
=) 4,500,000& * 10 x 23] 9,000
SANBAHIAS2YE 232,152 240,781 N 8,629
101 @121l 135,991 109,293 26,698
04 JI2ZtHZ2E2XNEE S 135,991 109,293 26,698
© o At 109,523
Ool4d] 290,000& * 19 * 26 = 12& 90,480
O4HEg J|a8g2 9,553
-HAEE 90,480,000& * 3.23% 2,923
A YEE 2,923,000& * 8.51% 249
-=20H= 90,480,000& * 4.5% 4,072
-182E 90,480,000& * 1.5% 1,358
-MTHE S 90,480,000& * 1.05% 951
(@F=FSE=l 5] 200,000& = 1H = 23] 400
O=2XNEIUE 300,000& * 1H 300
O&E &3 290,000& 30 8,700
Ol =t 90,000& = 1H 90
(OF=Fnt.] 26,468
ool 68,720& * 1Y = 26 * 12& 21,441
O4UEE J2a8g=2 2,265
-AHAEE 21,441,000& * 3.23% 693
A YT E 693,000& * 8.51% 59
-=0lH= 21,441,000& * 4.5% 965
-1E25E 21,441,000& * 1.5% 322
“MTHEE 21,441,000& * 1.05% 226
OY &SIyl 200,000 = 1 = 23] 400
O=XNEE 300,000& * 1Y 300
OE &2 68,720& * 30 2,062
201 et A | 93,126 128,453 N 35,327
01 AFR22t2ldl 21,148 78,078 A56,930
OANRES 100,000& * 12& 95% 1,140
OEUH ItECIXl 220,000& * 65 * 23] 95% 2,508
odeslldis
50,000& = 204 = 128 95% 1,140
OAFRIEANSH HE =5 8,752
ORoFHE8YE =52
160,000 » 1A * 12& 95% 1,824
OSZINEIEAMN =
150,000& * 1J0HA x 13 95% 143
Osdootdze W2
43,0008 * 10HA = 12€ 95% 1,631
O&EJIertE e a2
182,050 » 1A = 12& 95% 2,076
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02 (TN 52 Hds+2
225,000& = 10H2A * 128 = 95% 2,565
OZZdHIEs ¥ HAEX
40,0003 = 1HA = 128 * 95% 456
OSEINA AEANE FIFM =2
60,0003 = 1JHA * 18] * 95% 57
oNgzsd & 2Rsm4y 23 950
OJHE ¥ BEIZE MHE&EHI
200,000& = 23| * 95% 380
OLBAZZ(AUHAMENE S 63)
100,000& * 6& * 95% 570
OFANZC2ES 1,138
OEEtS 28,6003 * 1&HA * 128 * 95% 327
OSEM=SE 1,7703 = 2004 = 128 = 95% 404
OEEEEX
35,7003 ~ 1&8tA +« 128 * 95% 407
OJIAH,HIANE & 2SS XM 713
OXdII7 S 308 25,0008 * 3085 * 95% 713
O&AMZE ELES 1,500,000& * 95% 1,425
OZNEAHRNAE 28 MY SEE2 3,382
OHLSEIMNY EE2EF
1,000& = 1,00000 * 95% 950
OXNIMSEMEMNY 222 £ HEH|
2,000,000& * 95% 1,900
ONA2Y T2y 849
70,0003 = 8 = 95% 532
02 2324gHl 51,978 50,375 1,603
o0z22= & HMA 29,784
OFSE=3v8=, 10,0008 * 123 120
Oglay ICHZI 23 22,000& = 123 264
odIIe3 1,100,000& * 12& 13,200
O&ol=ER=a 250,000& = 123 3,000
O&EAIIARZ 1,100,000& * 128 13,200
OMz==x =ZBAN =2 60,000& = 13l 60
OM== E& 300,000& * 23 600
OXNSERXBI(BEE , NSIHAM S Z&) 5,400
O3 X 2,700,000& = 2CH 5,400
OJtAAIDHHA HASH 20,0002 = 13 20
Oz &HHl S 2el 500,000& = 23| 1,000
OA&EHl Sl 15,114,000& 15,114
03 & Ar2 I 20,000 0 20,000
CAHLSIEZZIH 23 15,500
oz 22U TME
50,000& = 603l 3,000
Ooza HAwa ZAZ 50,0008 * 603 3,000
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50,000& * 503 2,500
Oot2sud 2AM= 50,000& =* 602 3,000
O&8Aa2us ZAE 50,000& =* 503 2,500
Of=ss ALWH AR
50,000& =* 303 1,500
OXEAMIESH MEZZ)H 29 4,500
O 2suWa ZAIZ 50,000& = 403 2,000
OFHLMULLNE 2AZ 50,0008 * 103 500
OFMe X2 LZAIS 50,000& = 403 2,000
307 QI2t0| ™ 3,035 3,035 0
01 2L 2= H| 3,035 3,035 0
ongzss 29 2,035
(@Rl 1,400,000& 1,400
oAr2E 635,000& 635
ONHZAEAYE ADE 1,000
OEYAE S 43 1,000,000& 1,000
SAXNL2H 59,924 53,202 6,722
201 L2 Y| 43,704 46,182 N2,478
01 AP 22l Yl 3,192 5,670 N2,478
OAREE 200,000& * 4 A * 23] * 95% 1,520
OZeHEY
220,000& * 28 x 42 * 18 * 95% 1,672
02 =294l 40,512 40,512 0
03322 % MA 40,512
Odze2 6,000 * 400 ~ 128 288
(OFSPIETa=] 3,200,000& = 12& 38,400
O&dl+==2=2 28,000& = 4014 * 128 1,344
ORrddss 10,000 = 400 A = 128 480
307 QI2t0l ™ 7,220 7,020 200
01 el =l 7,220 7,020 200
OEEAHXA 2,000
O AZE(XZ,8te) 1,500,000& 1,500
OL22F (&I, ste) 500,000& 500
OLLEMHALAHX A 500
[@OF=r— 500,000& 500
OXUHEAHRXN A~ 1,600
(@Rl 1,200,000& 1,200
oArR2E 400,000& 400
OSAMBAX A 1,600
Oz 1,200,000& 1,200
oArRE 400,000& 400
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OdatZ(2gx=H) 7,000& » 100§ 700
O2R2B(M=ILXNZIIHE &)
82,000& 108 820
405 XtatH SHI 9,000 0 9,000
01 HatH ESFH S 9,000 0 9,000
O9sE MAHFI(ZU) 9,000,000& * 1CH 9,000
BAIZARY 100,453 101,544 A1,091
201 Let24E] 41,453 42,544 A1,091
01 At 2t 2l 8,455 10,900 N2,445
OMEES 200,000& » 54 = 23 * 95% 1,900
OZEHEU
220,000 * 2& * 5 = 18] * 95% 2,090
oE=2AXRA4 FHIIES S=|
100,000 * 5JH A * 95% 475
OSAT2L 2YHIF BFHLY
30,000  14Y » 5 A * 23] * 95% 3,990
02 2324l 27,248 27,894 A 646
o0z22= % HA 24,532
(OFSPIRTE=; 1,903,330 * 12& 22,840
Oot=Ee= 912
-tsds=(3H,585)
5,000& * 2JH 4 = 12& 120
4ot (28,42 H4Y)
22,0003 * 3M A + 12& 792
OoRdgsa 13,0003 * 504 = 128 780
o= HI(ENH) 916& * 20L = 80 1,466
Of&a Uy & 250,000& * 504 1,250
03 &Ar2 I 5,750 3,750 2,000
CAHLSHEZZINH 2F 5,750
OCEZzd2d9t| 400,000& * 5 A 2,000
OZAZ 50,000& = 5Ji 4 = 153 3,750
301 LeEBAF 3,000 3,000 0
12JIE 243 3,000 3,000 0
oAz A 2EEASE B+
50,000& = 54 + 128 3,000
307 21201 A 56,000 56,000 0
01 927 24| 56,000 56,000 0
oZ2=22Hdz A 10,000
Oo%&E 9,200,000& 9,200
OAEE 800,000& 800
OtHg=2daE A 10,000
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OzAHEAHEZ A 16,000
Oz 15,000,000& 15,000
OALBE 1,000,000& 1,000
OAZEAIZ A 10,000
OosE 9,200,000 9,200
Ox2F 800,000& 800
ossEHIZA 10,000
Otz 9,200,000& 9,200
OALEE 800,000& 800
2288 dg83fd B+ U= 1,200 1,200 0
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Al 840
201 Zer2dl 1,200 1,200 0
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Al 840
01 At2 22l bl 1,200 1,200 0
O2+=u<=H| 240,000 * 549 1,200
) 360
Al 840
gAizs X200 A 25,372 24,662 710
< 7,422
Al 17,950
101 1Al 25,372 24,662 710
< 7,422
Al 17,950
04 JIZtHNZ22HEE+ 25,372 24,662 710
ordHiZ A EX0H 4,948,000& « 5¢& 24,740
< 7,422
Al 17,318
C4lE™ JIARES 632
(ONE=3--8= 24,739,200& * 1.5% 372
OMTHES 24,739,200& * 1.05% 260
SHE BHAS MEIA WA ALS 62,100 275,400 A 213,300
= 41,401
< 10,349
Al 10,350
405 TtabH S| 62,100 275,400 A 213,300
= 41,401
< 10,349
Al 10,350
01 et ESFH S 62,100 275,400 A 213,300
OXA=H & AR 22,000,000& = 1CH 22,000
= 14,667
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0z ¥ 0lon
e oy g

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
01 AP 22| d| 2,000 0 2,000
O2IL XTI HEAS Ml
2,000,000& 2,000
J| 1,000
& 300
Al 700
308 XHXIEH SOl A 277,680 367,400 N 89,720
J| 138,840
& 41,652
Al 97,188
10 2|1 2S0HUISHE AA 277,680 367,400 N 89,720
O & &l 277,680,000 277,680
J| 138,840
o= 41,652
Al 97,188
282X ALAA 28,950 36, 150 NT,200
J| 23,160
= 1,737
Al 4,053
308 AMXISHMSOIA 28,950 36, 150 AT,200
J| 23,160
= 1,737
Al 4,053
10 SIS0 UsHAA 28,950 36, 150 NT,200
O & &l 28,950,000 28,950
J| 23,160
& 1,737
Al 4,053
tEHAF QS HI AR 101,260 217,500 A 116,240
J| 50,630
& 15,189
Al 35,441
307 2iz2to| & 101,260 217,500 A 116,240
J| 50,630
= 15,189
Al 35,441
01 s R=tl 101,260 217,500 A 116,240
o2& o 2H| K& 101,260,000 101,260
J| 50,630
o= 15,189
Al 35,441
INES-DN = AR YN 68,630 61,812 6,818
J| 34,315
Al 34,315
202 04d| 500 500 0
J| 250
Al 250




SN sEEAA
Hm: AAEZ
el 4B AU CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 500 500 0
OXSALE A2 A 044 500,000& * 1¥ 500
J| 250
Al 250
307 21201 A 68,130 61,312 6,818
J| 34,065
Al 34,065
05 RIZt2IEt = 68,130 61,312 6,818
OX A ArEl A2 X AtHI 68,130,000& = 13l 68,130
J| 34,065
Al 34,065
NEAte] SSAZSEAY 228,190 206,274 21,916
J| 112,541
< 22,508
Al 93,141
101 @14 Hl 28,138 17,081 11,057
J| 12,515
< 2,503
Al 13,120
04 JIZHHZ2Z2XREE S 28,138 17,081 11,057
OSEHLSIMY JIZHZ 2 X 28,138
ool 1,900,000& * 1H * 123 22,800
J| 11,400
< 2,280
Al 9,120
C42E JI12=2€3 2,408
-HAEE 22,800,000& * 3.23% 737
-“B}IeeLEE 737,000& = 8.51% 63
=2z 22,800,000& * 4.5% 1,026
-1ESE 22,800,000& * 1.5% 342
“MTHEE 22,800,000& * 1.05% 240
OZFEFItHI 200,000& = 1 « 23] 400
O=XNEQAE 300,000& * 1¥ 300
OSEALSAAY M2 X3
1,900,000 * 1H 1,900
J| 950
< 190
Al 760
OSgHLSIMNY 2 L=t
90,000& * 1¥ 90
) 45
< 9
Al 36
OSgHLSIMNY EE0S WsH|
240,000 * 1Y 240
J| 120
< 24




sowa
ARz
MEHE AH2AXI| D]
SN HE -G (3A) - NBAY - B2 0l &k o il
Al 96
201 LBt 56,280
Il 28,140
== 5,628
Al 22,512
01 At 22l bl 28,400
OAUYMBAHANY E22 L DSNE
1,000& * 80 * 22004 17,600
J| 8,800
== 1,760
Al 7,040
OPLYBANY EF2 L DINR
2,000& * 2,000 4,000
J| 2,000
[ 400
Al 1,600
OH-HEBIBBANY 2P2 L DENE
1,000& * 48 * 10004 4,800
J| 2,400
== 480
Al 1,920
ONAANSSHAMET2IY 29 222 2 D
A= 2,000& * 1,000 2,000
J| 1,000
= 200
Al 800
03 Al HH| 27,880
OALMBAMAY T2 22 U LAR
50,000& * 4003 20,000
J| 10,000
= 2,000
Al 8,000
OFAZEZHA OlA A ZHAHH]
120,000& * 43| 480
J| 240
& 48
Al 192
OFAZEA OlRADA ATHE
100,000& * 43| 400
J| 200
& 40
Al 160
OXSMISTAEME T2 22F 2 AH]
50,000& * 803 4,000
J| 2,000
== 400
Al 1,600
OUNE H2na 24 100,000& * 303] 3,000
J| 1,500
= 300
Al 1,200




2N EEEAL
Bu: AYET
Sl B A LRI (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
202 Od4dl 4,000 4,000 0
| 2,000
< 400
Al 1,600
01 = LH 4 Hi 4,000 4,000 0
OSEgUZEL s & EF0WH 4,000,000& 4,000
| 2,000
= 400
Al 1,600
301 LPENF 200 200 0
| 100
< 20
Al 80
09 HALAHIX &S 200 200 0
OgdE ALWa 2 50,000& = 43| 200
| 100
< 20
Al 80
307 gl2tol & 139,572 142,313 A2, 741
J| 69,786
< 13,957
Al 55,829
01 2=2L =4l 139,572 142,313 N2, 741
O7ZzelAg 235 & A23F7¢
8,500,000& 8,500
| 4,250
< 850
Al 3,400
OdTg2TE HLZARIAY BAE A2F
2,820,000 2,820
| 1,410
< 282
Al 1,128
OHYMEAFAY A A2 3,000,000 3,000
| 1,500
< 300
Al 1,200
OYAEAANY BEFAE
0,000& = 12098 = 12& 100,800
J| 50,400
< 10,080
Al 40,320
OgaE oM £ EE2M 7€ 20,000,000 20,000
| 10,000
< 2,000
Al 8,000
OZ2d2HE Z2AH(EE) 5,088&  875Y 4,452
| 2,226
= 445




SN BHBAL
Bu: AYET
Selr dEs A2 31 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
| Al 1,781
2s™ =3I HAH XI& 2,124 2,088 36
& 1,062
Al 1,062
307 21201 & 2,124 2,088 36
< 1,062
Al 1,062
01 222l 2,124 2,088 36
OZSWESI Z Al 36,000& 59 2,124
S 1,062
Al 1,062
BAL YJLEE 2t 4 (FMTP) 2,940 2,940 0
J| 1,470
Al 1,470
201 Let24E] 2,940 2,940 0
J| 1,470
Al 1,470
01 ArR 22l 2,940 2,940 0
O&dZod ws EF@H 2,940,000& + 1€& 2,940
Jl| 1,470
Al 1,470
ANAMe S SHXNEAMEIA 191,338 215,037 A 23,699
J| 91,008
< 18,202
Al 82,128
101 @124 dl 83,932 54,200 29,732
J| 37,305
= 7,461
Al 39,166
04 JIZHHZ2XNSE = 83,932 54,200 29,732
Oz=HAY JI2ZtHZ2 2 Xt 74,610
ool 1,900,000& = 398 * 128 68,400
J| 34,200
< 6,840
Al 27,360
O&l &= 1,900,000 « 3¢ 5,700
J| 2,850
= 570
Al 2,280
Onl =l 90,000& * 3H 270
J| 135
< 27
Al 108
Ou =t 240,000& * 1¥ 240
J| 120
LS 24
Al 96
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
048 I8 2 7,222
OH2LES 68,400,000& * 3.23% 2,210
O&INAEE 2,210,000 = 8.51% 189
O=pioia 68,400,0002 * 4.5% 3,078
onEEs 68,400,000 * 1.5% 1,026
OMTEESE 68,400,000& * 1.05% 719
OY&E S Iy 200,000& * 3Y * 23| 1,200
OEXEZAE 300,000& * 3H¥ 900
201 et 81,006 118,437 N37,431
J| 40,503
=} 8,101
Al 32,402
01 AFR 2t 2| 73,006 94,437 N21,431
o2¢sE2=s ¥ Isis 34,686,000 34,686
J| 17,343
& 3,469
Al 13,874
O=29Hzt 32,000,000 32,000
J| 16,000
o= 3,200
Al 12,800
o294 Z 7 50,0008 = 10074 5,000
J| 2,500
& 500
Al 2,000
O=2& | 110,000 = 12& 1,320
J| 660
o= 132
Al 528
03 HAIS A 8,000 24,000 A 16,000
o291 50,000 * 323 * 5= 8,000
J| 4,000
& 800
Al 3,200
202 04| 2,400 2,400 0
J| 1,200
= 240
Al 960
01 2Ll 2,400 2,400 0
O=2HIL2=& Y| 100,000€ * 2% « 128 2,400
Jl 1,200
o 240
Al 960
307 QI2t0| ™ 24,000 40,000 A 16,000
J| 12,000
=} 2,400
Al 9,600




SN BHBAL
Hu: ALSA
SR MBS AAXIND) (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
0122 Z bl 24,000 40,000 A 16,000
OZ2HZE2HESH(BHEXYAE, o=z240
=) 40,000& * 6009 24,000
Dl 12,000
T 2,400
Al 9,600
2eEY 2MHFRS 4,449,030 4,260,142 188,888
= 3,924
Dl 1,949,147
& 575,476
Al 1,920,483
StA S HSHALE 131,275 130,344 931
101 @121l 34,855 33,924 931
04 J|I2ZtHZ2E2XNEE S 34,855 33,924 931
OYAAS JIZtHZ2ZEZ X 34,855
(@)siFals] 74,9104 » 294 x 26 * 8& 31,163
O4HEE J|&a8g2 3,292
-HEEE 31,163,000& * 3.23% 1,007
A YEE 1,007,000& * 8.51% 86
= 31,163,000 * 4.5% 1,403
-1s8:2E 31,163,000& * 1.5% 468
-AHEE 31,163,000& * 1.05% 328
(@F=FSE=l 5] 200,000 * 2™ = 13| 400
201 Bt A | 2,400 2,400 0
02 3529t 2,400 2,400 0
oOYgdAsSHH KA 400,000 = 6CH 2,400
206 M= Hl 94,020 94,020 0
01 X2t 94,020 94,020 0
OYAAE (2ERELEM S 55) 81,000
(@)=FaE 30,000& * 14 * 1,3007H 39,000
oxsgds 30,000& * 14 = 700H 21,000
ogned 30,000& * 14 = 70094 21,000
oYgdYg UHMES 720
O&g=s S 43 720
-&H= 90,000& = 49H 360
~&A X)) 15,000& = 494 60
-OtM 3} 60,000& * 4H 240
-2 X 15,000& = 494 60
OXEI0N 289 HYES
4,000& * 2& * 1,50004 12,000
O=A)| HES &=NE 248 30,0003 * 1094 300
23yl 454,042 416,337 37,705




SN BEEAL
M ALEZ
& 2EY 2eMAHRS (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
101 14 Hl 4,769 4,654 115
04 JIZHHZ22XREES 4,769 4,654 115
OUZ=RAUX NLESX JIZMZ 2R 4,769
Ol At 79,4803 * 4H » 15¢ 4,769
201 £B-2dH| 60,653 61,550 A 897
01 At 22l 27,703 31,760 A 4,057
oz 24 10,707
OWIEE MA 14 60 » 90,000% » 95% 5,130
OHgEE g2
1,000& * 2,000 * 2& * 95% 3,800
Ol =a LEMMAEXI(UPS) iEfel
H 1,750,000 = 1JH * 95% 1,663
QUAHED 2CIIEX
120,000& » 12FA « 95% 114
oz 299 6,365
OZHEES(ESZH 5)
1,000& = 1,50000 » 2& * 95% 2,850
OZZIIa7) &H=E ¥ ZH
170,000& = 5CH = 23| = 95% 1,615
OMgs &= 2 ZH
1,000,000& = 23] * 95% 1,900
OYAIEA 29 1,131
OSANHISHY SH24R
20,000 * 4 * 43 * 95% 304
O2ZHIE(EHHM S 48)
15,000& * 4Z * 128 * 95% 684
O E LA LM X (X10) HIIA A
150,000& = 108 = 95% 143
oxgguY 229 3,800
OozgY o E22(AHALs HSLI| Ao
ol =) 3,800
-EES(2lEY 8)
1,000& * 2,00000 * 23] » 95% 3,800
ooz 222 2,850
OEEE(28)
1,000& = 1,50000 * 2& * 95% 2,850
OY=Eeo 23t MHHAE 88 2,850
OEBE(2EYN S)
1,000& » 1,500 * 2& * 95% 2,850
02 3323l 32,950 29,790 3,160
O AHHPACSAH =X 2=t
1,200,000& =* 43| 4,800
OCINEZAILDD & A2l |Xb
3,000,000& = 1CH 3,000
ONLEE AT EULSXE(MHLES oS
gE) 25,150
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& 2EY 2eMAHRS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSSR HYES HUE S
500& = 48,000A 24,000
OkLQ HEIT WLES A2
500& = 2,300A 1,150
307 gl2tol & 388,620 343,133 45,487
01 2224l 368,620 323,133 45,487
oHgEsd 24 324,350
ONZgEE AZ(BE2LY S 63)
41,750,000& 41,750
OX XM QIS =X+ At 276,000
-QIE AT YAlY 8,000& = 11,000H 88,000
“oE20|2 B3 A"l
18,800& = 10,000 188,000
ONZEEE A58 AZE(FAI S 53)
2,400,000& 2,400
OAgtE EEXE WAl
35,000& = 1209 4,200
OdAMNA 2 43,950
OEZZAM 90,0003 » 150 A 13,500
OHY(Hs=,0l0l=)ZA A 90,0002 * 508tA 4,500
OY &, SctolCior 2 A 13,0008 = 300 3,900
Ogeld At 90,000 * 1508 A 13,500
OAgtE Z A 555,000& » 102 A 5,550
OS B A 100,000& *» 30 A 3,000
OTAMNEY 2 320
Oolgol s=Ite 40,0008 * 8% 320
05 RIZt2IE = 20,000 20,000 0
Ostdld 2tel 20,000,000& 20,000
St H &AL 22l K& 7,848 7,624 224
= 3,924
< 3,924
301 LEHF 7,848 7,624 224
= 3,924
< 3,924
01 Mel28E 6= 7,848 7,624 224
OgtdlLZ It MAHH X 1,962,000& * 4H 7,848
= 3,924
< 3,924
OOl & &0 49,600 50,049 A 449
J| 24,800
= 7,440
Al 17,360
307 glz2tol & 49,600 50,049 A 449
J| 24,800
< 7,440
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Chelr 28Y 22MAHRS (=& J)
SN EE - (SN) - HRAY - BHAS il Hl D = 2t
Al 17,360
01 2L F =4l 49,600 A 449
QHIV/AIDS &= HI 880,000& = 509 44,000
J| 22,000
= 6,600
Al 15,400
OHIV & Al 22 0H 125,000% » 322 4,000
| 2,000
= 600
Al 1,400
odoHzgyg A N2 X
100,000 » 162 1,600
| 800
< 240
Al 560
S L E S A A 3,705,146 142,228
| 1,852,573
< 555,772
Al 1,296,801
307 2Iztol ™ 3,705,146 142,228
| 1,852,573
< 555,772
Al 1,296,801
01 z2L =4l 3,705,146 142,228
O0gol Hess 2,602,180,000& 2,602,180
| 1,301,090
< 390,327
Al 910,763
odgold - X3 St OISR X
HEES 392,360,000 392,360
J| 196,180
< 58,854
Al 137,326
OYLE IS ARL O 17,520,000 17,520
| 8,760
< 2,628
Al 6,132
odo HYEs 643,040,000& 643,040
| 321,520
< 96,456
Al 225,064
O/ Z & A HES X
40,678,000& 40,678
J| 20,339
< 6,102
Al 14,237
OBE 2t F=4tD1Z Y YA 9,368,000 9,368
| 4,684
= 1,405
Al 3,279
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A Z S0 &AL 58,690 ,800 14,890
J| 29,345
< 8,340
Al 21,005
2 et A | 3,600 ,640 1,960
J| 1,800
< 540
Al 1,260
At 2t el i 3,600 ,640 1,960
OE2= (2t 8 28)
1,000& = 1,8000H » 28 3,600
J| 1,800
S 540
Al 1,260
04 i 3,090 ,440 1,650
J| 1,545
Al 1,545
=L 3,090 ,440 1,650
OxFcttel EE X Ml
257,500& * 18 » 123 3,090
J| 1,545
Al 1,545
LEtENMZ 1,000 ,000 0
J| 500
< 150
Al 350
MBI EZ X =56= 1,000 ,000 0
OLATHA MABIXA 1,000,000 = 19 1,000
J| 500
= 150
Al 350
gI2tol & 45,000 , 720 11,280
J| 22,500
< 6,750
Al 15,750
g I =24 45,000 , 720 11,280
OgoAd =X A 2,000,000& 2,000
J| 1,000
< 300
Al 700
OYATHA LABIXA 1,000, 000& 1,000
J| 500
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Al 350
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J| 10,000
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J| 4,500
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Al 3,150
308 KX SO0IA 6,000 6,000 0
| 3,000
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Al 2,100
10 BN 2SUHUEEAHEE A 6,000 6,000 0
OQYAZ=XH AL SCHAES3
600,000& * 103l 6,000
| 3,000
< 900
Al 2,100
o2 J|2t Za ZelArY 35,329 34,370 959
| 35,329
307 21201 A 35,329 34,370 959
| 35,329
02 QB AAHEX 35,329 34,370 959
ogzJla AL 2el X
35,329,000& * 1¥ * 1JHA 35,329
| 35,329
olzaHEAdgY H22ZAMAH 22 7,000 6,100 900
| 7,000
307 21201 A 7,000 6,000 1,000
| 7,000
05 RIZIRI & 3 7,000 6,000 1,000
oz 2e 7,000
OFWYER olgr2eldl  7,000,0003 » 1004 7,000
| 7,000
ol AEY H22AMA 29 (29l) 100 0 100
| 100
202 O4dl 100 0 100
| 100
01 = LH 4 1l 100 0 100
oczzEzgael 2Ll
10,000 » 2H » 5« 100
| 100
ZHAANE Pz & HLEE =4 1,981,240 2,183,034 AN 201,794
= 4,750
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og=zHLZ2IMNY EES
1,000& = 3,6000H * 95% 3,420
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Al 910
01 At 22l 2,000 0 2,000
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03 & Ar2 I 600 500 100
OMItY AEx2E2Y 29 300,000& = 23| 600
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< 90
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301 LEMZ 200 100 100
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< 30
Al 70
09 SALAHIX A S 200 100 100
OMItY A=2Y 29 100,000& * 23| 200
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< 30
Al 70
307 21201 A 7,755 8,150 A 395
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< 1,164
Al 2,714
01 2724l 7,755 8,150 A 395
oO%z & 223 7,755,000 7,755
J| 3,877
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182,440,000& * 1JH £ 182,440
J| 91,220
< 36,488
Al 54,732
FAaAZ=RNEH s 179,900 0 179,900
J| 89,950
< 35,980
Al 53,970
307 glz2tol & 179,900 0 179,900
J| 89,950
< 35,980
Al 53,970
05 RIZHRIE 3 179,900 0 179,900
OFAMAHL=FXHH 179,900,000&  1JH A 179,900
J| 89,950
= 35,980
Al 53,970
Ots - 449 ZAUBAAY 51,970 0 51,970
J| 25,985
< 25,985
307 glz2+ol & 51,970 0 51,970
J| 25,985
< 25,985
05 RIZt2IE = 51,970 0 51,970
O0ts3AYE HABHAMNY
51,970,000& = 10024 51,970
J| 25,985
< 25,985
SSEEN Nz 2e2H XA 25,000 30,000 A5,000
< 7,500
Al 17,500
307 glz2tol & 25,000 30,000 A5,000
< 7,500
Al 17,500
05 RIZt2IE = 25,000 0 25,000
o3k Nz XA
25,000,000 = 1004 25,000
< 7,500
Al 17,500
eIt SSMHY Xzgd XA 23,000 12,500 10,500
= 6,900
Al 16,100
307 glz2+ol & 23,000 12,500 10,500
< 6,900
Al 16,100
05 RIZt2E = 23,000 12,500 10,500
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23,000,000 = 10024 23,000
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A Atel a0 WERD 75 4,000 4,000 0
1,200
Al 2,800

H

307 21201 & 4,000 4,000 0

1,200
Al 2,800

m

05 pI2tolet = 4,000 4,000 0
93 n=
4,000,008 * 1944 4,000

1,200
Al 2,800

©
pa
19
=
ton
-
)
=
0z
&=
Im

in

AL SXNHE S SAHA HLIHAH XA 12,000 9,200 2,800

3,600
Al 8,400

H

307 gl2tol ™ 12,000 9,200 2,800

3,600
Al 8,400

t

&= 12,000 9,200 2,800
QFUAL=SXNHEH S SAX MIHLH X2
12,000,000& * 108 £ 12,000

3,600
8,400

= M

0
>
1]
rtor
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o
pal
1]
]
o

3,000 0 3,000
1,500
600
900

= N W

307 glztol & 3,000 0 3,000
1,500
600
900

= W

&
=
N
4
U
ol

3,000 0 3,000
ZIIXIZ XA 3,000,000& * 1004 3,000

1,500
600
900
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= MW

S=SYd HEX3A 2,000 0 2,000
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400
600

= MW

307 21201 A 2,000 0 2,000
1,000
400
600
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AMEE XIS XEM XI=2H X

= N H

3,000
1,500
600
900

3,000

307 glztol &

= Hn W

3,000
1,500
600
900

3,000

01 ==l

oOFuEE 2eHXNES XM X=H XA
3,000,000&

=z N H

3,000

3,000
1,500
600
900
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0%
0z
1)
0
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HIXI&

= W

1,500
750
300
450

1,500

307 glztol &

= W

1,500
750
300
450

1,500

01 A= =2Hl

o#MUA X

SHIX& 1,500,000& = 10024

= N W

1,500

1,500
750
300
450

1,500

=z Hn X

593,913
475,129
23,757
95,027

908,045

A 314,132

Jl

H

Al

54,742
43,793
2,190
8,759

171,201

A 116,459

04 JIZtNZ22XNSE+
OXIOHtA HE o1

OerA| 79,4803 * 2% » 26& x 11E

OJIZtM =& 0l 50,000& = 29 * 11E€

Jl

H

Al

54,742
52,342
45,463

36,370
1,819
7,274

1,100

3,200

51,542
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J| 3,839
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Og 2 =Ftdl 200,000& = 2 = 23] 800
Il 640
32
128
Onl =t 90,000& * 23 180
J| 144

7
29
el 2,400

= M =z M ol I

= H

50,000& = 498 « 128 2,400
1,920
96
384

=z HmnY

201 fEt2E | 388,071 595,581 A 207,510
Il 310,456
156,523
Al 62,092

in

01 ArR 22l 275,651 546,361 A270,710
O8EAAN = 2,744,000& » 1€ » 128 32,928
J| 26,343

1,316
5,269
O3l9 4 =8 1,400
OXZ A2 XINE2AM 2o A+

100,000& * 22 * 5&H 1,000

800
40
Al 160

=

mn <

OXHSS=AANY Atdllale A&+

100,000& * 4H 400
320
16
64

=z HmnY

OXIHe B2FA AMIIZA EOM =2
100,000& * 4A 400
Il 320

64
OXIOHHA M EH A Il =Hl 90,000& * 223 1,980
Jl 1,584
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2N EEEAL
Bu: AYET
CHelr ARHANE PE U AABY =4 (el @2)
S - MBS (BH) - NRAY - BAS ol &k o8 ﬁlf& HD=2
ORXIDfCHAIME s L 22|
5,445 ,000& = 128 65,340
J| 52,272
< 2,614
Al 10,454
O=SAMI LU= 220,000 = 1CH = 1288 2,640
J| 2,112
o= 106
Al 422
oOd=24D| &2l 33,000 * 304 » 12&€ 1,188
J| 950
== 48
Al 190
O2J|1&AD| 2eltl 34,000 = 304 ~ 12&€ 1,224
J| 979
o= 49
Al 196
OJ S XD 22|l 50,000 * 1§ ~ 12&€ 600
J| 480
== 24
Al 96
ORoMIEH =2 112,000 = 12& 1,344
J| 1,075
< 54
Al 215
OFAEY =2 18,480,000& 18,480
J| 14,784
== 739
Al 2,957
ogeE I U =2 7,964
Os8 X 724,000 * 1CH ~ 11 7,964
J| 6,371
== 319
Al 1,274
OXIOHHAIMIE AIS 2 H| 140,163
OXIDfeta DS 29| 10,000,000& 10,000
J| 8,000
== 400
Al 1,600
ORXIOHOHAM HE 20 2 =& 120,000,000 120,000
J| 96,000
& 4,800
Al 19,200
OXI et HE 222 € NS
10,163,000 10,163
J| 8,130
o= 406
Al 1,627
02 222%4| 34,120 29,220 4,900




SN EEEAL
H: AYEA
ol CRHANS 75 Y AABET T4
SN HE -G (3A) - NBAY - B2 0l &k o il
OXIOQtAlHIYH 2222 =
1,500,000& * 128 18,000
J| 14,400
== 720
Al 2,880
OTV & QY 22 45,000 ~ 12&€ 540
J| 432
o= 22
Al 86
OXOHHAME RERS(ENRH)
500 = 10,560H 5,280
J| 4,224
o= 211
Al 845
OREHI 200,000& = 118 2,200
J| 1,760
== 88
Al 352
OXEKXBI(EA) 2,700,000 = 3CH 8,100
J| 6,480
< 324
Al 1,296
03 A2 HH| 78,300 20,000
On=s L T2z 2HQC 29
40,300, 000& 40,300
Jl 32,240
& 1,612
Al 6,448
OXIOHoHA DS 2<Y 38,000, 000& 38,000
J| 30,400
& 1,520
Al 6,080
202 04d| 26,400 26,400
J| 21,120
== 1,056
Al 4,224
01 2L Y| 26,400 26,400
OXIONE R =2 0Hl 100,000 = 229 « 12€ 26,400
J| 21,120
& 1,056
Al 4,224
301 et M= 12,000 15,000
J| 9,600
o= 480
Al 1,920
09 HAIAHI X & 2 12,000 15,000
oZzI)d ¥ =H, JII=E3H 89
10,000, 000& 10,000
J| 8,000
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S=EEIPS
AL
ABHUNE 75 Y AYHY X

0x

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 400
Al 1,600
OXIofetalOls 29 2,000
J| 1,600
= 80
Al 320
307 21201 A 112,700 87,000 25,700
| 90,160
< 4,508
Al 18,032
01 2L =4l 112,200 87,000 25,200
OXIOHex AMES X&
35,000 = 160  12& 67,200
| 53,760
< 2,688
Al 10,752
OstsE & A28 A2F 30,000,000& 30,000
| 24,000
= 1,200
Al 4,800
OXIHEIZX HLUAAH  150,000& * 100 15,000
J| 12,000
= 600
Al 2,400
06 283 500 0 500
OZ2IOd HFUHX EE= 500
| 400
< 20
Al 80
XX 2228 X & (2%Hl) 104,936 69, 188 35,748
| 52,468
< 15,740
Al 36,728
308 XXM SO0 A 104,936 69, 188 35,748
| 52,468
= 15,740
Al 36,728
103/ 2SHUSZHEPEA 104,936 69, 188 35,748
XI00 Xl Z2eldl (HYl) 104,936,000 104,936
| 52,468
< 15,740
Al 36,728
XHeel 225A XA 2,700 925 1,775
| 2,150
< 108
Al 442
201 Let2d] 300 925 A 625
| 230
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L= B

el

soBAL
AL
ABHAHE 75 L AY

o
0
P
0x

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
< 12
Al 58
01 At 22l 300 925 A 625
od& EX HIE 300,000& * 1 300
J| 230
< 12
Al 58
301 LeEBAF 2,400 0 2,400
J| 1,920
= 96
Al 384
12 JIEBtE& = 2,400 0 2,400
oAl g=H| 200,000 = 120H& ~ 1H 2,400
J| 1,920
< 96
Al 384
XN SsHEXA 63,247 69, 962 NB,715
< 12,649
Al 50,598
307 glz2tol & 63,247 69,962 NB,715
< 12,649
Al 50,598
01 22272l 63,247 69,962 NB,715
OXIOHEX SR 63,247,000 63,247
= 12,649
Al 50,598
oXMegEzNy 2Y 10,000 10,000 0
< 2,000
Al 8,000
201 Let2d] 3,500 4,300 A 800
< 700
Al 2,800
01 At 22l 3,500 4,300 A 800
OQXMEZZOH
3,500
< 700
Al 2,800
301 LeEA S 6,500 5,700 800
< 1,300
Al 5,200
09 HALAHIX &S 300 300 0
CoXMHE T2 300
S 60
Al 240
12JEEd= 6,200 5,400 800
O©JILX2I0l EsXAHl 6,200
< 1,240
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HE: AYSH
Sl 2HUANB 25 U AV T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | A 7560
24 Otse HAZAte & 1,190,042 994,916 195,126
= 78,750
s 419,561
J| 152,760
< 131,965
Al 407,006
SUEAAY 20,613 15,150 5,463
201 £B-2d| 9,975 15,150 A5, 175
01 At 22l 9,975 15,150 A5, 175
ORTLEAANYE ¥ S4E EE2NE MHA &
-+ 9,975
O M2 1,000& = 2,500% * 95% 2,375
Ot B4+ S MX
100,000& * 53 = 95% 475
O#me =283
2,500& = 1,000 * 35 = 95% 7,125
307 glz2+0ol & 10,638 0 10,638
01 22724l 10,638 0 10,638
O A2H (LM, ZE2H) 10,638
OZAtH 4,401& ~ 602 * 128 3,169
OE=ZHM 6,224 * 1002 = 12& 7,469
A2 AMO AL 22l A XA 599,373 533,712 65,661
s 419,561
Al 179,812
308 XXM SOIA 599,373 533,712 65,661
s 419,561
Al 179,812
10 I 2 SOICHetE & X 2 E A I 599,373 533,712 65,661
OLtZ Ao A2 2tel At X2 599,373,000 599,373
s 419,561
Al 179,812
A Ao AL 22| AL FIOF N3 ALY 95,728 95,728 0
< 19,146
Al 76,582
308 MHXIEHSOIH 95,728 95,728 0
< 19,146
Al 76,582
1037/ 2S0HUHeBHEAEALS I 95,728 95,728 0
O&tZ2AIMOF H2Z2e] NAAY OAX R
95,728,000 95,728
< 19,146
Al 76,582
2t A2 et S EE2HI 1,887 1,887 0
J| 1,510




S EECLEEPS
Ha: ALSH
SRl DA OISO AAAE D

= _ — d =
SA - BB B (BA) - MM - BHES e
< 113
Al 264
201 LBH2E| 1,887 ,887 0
J| 1,510
< 113
Al 264
01 At 22l 1,887 ,887 0
OAE EE2HI 1,887,000& 1,887
J| 1,510
< 113
Al 264
FS0t A2 H A 4,500 ,663 ,163
J| 3,600
< 270
Al 630
308 XtXIEHHSOIA 4,500 ,663 ,163
J| 3,600
< 270
Al 630
10 SII 2 SOICHEHE & X 2 A I 4,500 ,663 ,163
OZ R0t F&Hl 4,500,000& 4,500
J| 3,600
< 270
Al 630
HHO0F YETZOH EL2AH XA 2,250 ,302 948
J| 1,800
< 135
Al 315
307 glz2tol & 2,250 ,302 948
J| 1,800
< 135
Al 315
01 2222l 2,250 ,302 948
OLEZ0H ZLUHAYI 2,250,000& 2,250
J| 1,800
< 135
Al 315
Ol=0t ¥ & H&0I&0t o= 45,000 ,358 ,358
J| 22,500
< 11,250
Al 11,250
307 21201 A 45,000 ,358 ,358
J| 22,500
< 11,250
Al 11,250
01 92724l 45,000 ,358 ,358
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sSoEAA
AYER
SED 0HS AL AE P

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O0l=0t & L0440t A= H XA
45,000,000& 45,000
J| 22,500
< 11,250
Al 11,250
S CHAIOI & Z AH & & ot2tel 23,500 28,150 A 4,650
J| 11,750
< 5,875
Al 5,875
307 glz2tol & 23,500 28,150 A 4,650
J| 11,750
< 5,875
Al 5,875
01 222l 23,500 28,150 A4,650
O EHAIOI A Z AL & EOot2teltl
23,500,000 23,500
J| 11,750
< 5,875
Al 5,875
dEd HEIA R 2EFI N 5,250 20,905 A 15,655
J| 2,625
< 1,313
Al 1,312
307 gl2tol & 5,250 20,905 A 15,655
J| 2,625
< 1,313
Al 1,312
01 222l 5,250 20,905 A 15,655
O & AtHI 5,250,000& 5,250
J| 2,625
< 1,313
Al 1,312
USRI 174,000 12,360 161,640
J| 87,000
< 43,500
Al 43,500
307 21201 A 174,000 12,360 161,640
J| 87,000
< 43,500
Al 43,500
01 922724l 174,000 12,360 161,640
OHUYRRAI=HIXEA 174,000, 000& 174,000
J| 87,000
< 43,500
Al 43,500
SUEAAMY EXQEH| 15,733 15,733 0
J| 7,866
< 3,934




S EECLEEPS
Ha: ALSH
SRl DA OISO AAAE D

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 3,933
101 Q121 H] 15,733 15,733 0
J| 7,866
= 3,934
Al 3,933
04 JI2ZtHIZ22NEE S 15,733 15,733 0
ORXNEHAIY BZXolady|
15,733,000 = 1 15,733
J| 7,866
& 3,934
Al 3,933
E=R28204+F 1,718 1,718 0
J| 859
&< 429
Al 430
308 XX G SOl A 1,718 1,718 0
J| 859
= 429
Al 430
10 212 SUHUSHE A XEAE AT Y| 1,718 1,718 0
OE=2NHEAHEH 1,718,000 1,718
J| 859
o= 429
Al 430
HAEMD AASA o=l NS 2,500 2,700 A 200
J| 1,250
= 625
Al 625
308 MXISHHMSOIA 2,500 2,700 A 200
J| 1,250
&< 625
Al 625
10 B 2SHUSHE AN E A 2,500 2,700 A 200
OFAEAD A - SA QS HI XA
2,500,000 2,500
J| 1,250
o= 625
Al 625
DA UAME o2H| A& 24,000 22,215 1,785
J| 12,000
= 6,000
Al 6,000
307 QI2t0| ™ 24,000 22,215 1,785
J| 12,000
& 6,000
Al 6,000
o1 s R=Hl| 24,000 22,215 1,785




SN BHBAL
Bu: AYET
2 240 0fs2 AZAS2E (&)
5 - 4
A - HE B9 (3A) - HRAY - BHYS e HmEET
OnNAFLLE 2o zH XA 24,000,000& 24,000
J| 12,000
< 6,000
Al 6,000
HASE JIMA ZHES XNIAS 157,500 156,365 1,135
= 78,750
< 39,375
Al 39,375
308 XXM SOIA 157,500 156,365 1,135
= 78,750
< 39,375
Al 39,375
10 SII 2 SOCHEHE & X 2 E A I 157,500 156,365 1,135
OMASZE JIMA, ZHER N
157,500, 000 157,500
= 78,750
= 39,375
Al 39,375
HYRR SIS HI RS ALY 16,490 23,720 AT,230
201 L2l 950 3,000 A 2,050
01 At 22l 950 3,000 A 2,050
os=2= MHMH 2,000& = 50000 = 95% 950
307 21201 A 15,540 20,720 25,180
01 =L =4l 15,540 20,720 25,180
odYRR Y2 X
1,036,000& * 159 15,540
oforzte] 97,103 46,970 50,133
J| 55,900
< 2,850
Al 38,353
== 7,203 7,870 A 667
201 -4 6,703 7,370 A 667
01 At 22l 5,653 6,200 AB4T
OdHAM=s 4ENSH 2 5,653
O8HAd= W=x 22
500& = 2,50000 = 95% 1,188
OfHAd= N BEE=2
2,000& = 1,00000 = 95% 1,900
OusE &l 2B (WE S)
90,0003 = 3000 = 95% 2,565
03 A2 Z Hl 1,050 1,170 A 120
OHM4sl H==Al 4G AHAMs Z2HUE 1,050
(OFSPN T 200,000& = 3H 600
Ol Hl = 50,000& * 1K 50




SN BHBAL
Bu: AYET
SH9l: olorp e (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Oddtisls oLl o 200,000 = 2CH 400
301 dEtE M= 500 500 0
09 HAIAHI X &2 500 500 0
OM4zl HFEA EA4E MHAMs A 500
Ottt =d| 500,000 = 13| 500
I s NEe&EH 1,900 2,000 A 100
201 LBt Y| 1,900 2,000 A 100
01 AP 22| d| 1,900 2,000 A 100
OMNAHDI2ZS Y SAL EE2S2
1,000 * 2,00004 * 95% 1,900
BAHAMMNEHSE 2N 2,000 2,000 0
J| 1,400
& 600
307 2Iz2t0| & 2,000 2,000 0
J| 1,400
== 600
01 sd =l 2,000 2,000 0
CEEEEY IS 2,000,000 = 1M E 2,000
J| 1,400
= 600
NEAE=AH)| B2 XS 9,000 0 9,000
J| 4,500
= 2,250
Al 2,250
405 XHAHFEI EHI 9,000 0 9,000
J| 4,500
& 2,250
Al 2,250
01 XA 2B F S| 9,000 0 9,000
OXsSAE=EA) 3,000,000& = 3CH 9,000
J| 4,500
= 2,250
Al 2,250
S 2FAX OISa2 NSAHEEAH)D| B2 27,000 35,100 A8,100
405 XHA&HF S HI 27,000 35,100 A8,100
01 XAt 2 FF S| 27,000 35,100 A8,100
OXNsA&=ZAH) 2,700,000& = 10CH 27,000
=2z J& X3 50,000 0 50,000
J| 50,000
307 2iz2tol & 50,000 0 50,000
J| 50,000
02 QIZFAAAIE E X 50,000 0 50,000




SN BHBAL
Bu: AYET
SH9l: olorp e (S &2)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
O2AZHISNISAZTMHE SHLER
25,000,000& 25,000
J| 25,000
OHIAEICtH A 25,000,000& 25,000
J| 25,000
HHR2IZH(ELEAHL) 2,100,825 1,602,390 498,435
= 70,732
J| 366,457
< 54,647
Al 1,608,989
el 2 1,906,571 1,421,329 485,242
= 70,732
J| 366,457
< 54,647
Al 1,414,735
oI 24 dl 1,156,592 920,771 235,821
101 124 dl 1,156,592 920,771 235,821
01 2= 219,428 207,628 11,800
OgeHA 219,428
OxzH2Zf=E
10,5093 = 58H = 30AI2t = 12& 219,428
02 JIEt A2 = 83,088 97,543 A 14,455
oL 2,456
Oxn2RaY
13,6413 = 1 = 15A12t = 128 2,456
ORI E 9,810
OxzH2Zf=E
10,2183 = 28 * 40AI2+ ~ 128 9,810
O3B E2AHSAM 70,822
OfIgz2efs4 40,0002 * 6F * 123 2,880
Odsgsdd=s 900,000& = 6H = 123 64,800
OxuU22E 3,142
—CH < 12,6223 = 3% = 4Al2t = 128 1,818
-S4 9,191 * 3H » 4AI2H « 128 1,324
03 RIAHAZZ2HE = 854,076 615,600 238,476
S82 707,832
oJlgs(gezaa) 309,379
-255 = 3,435,640& » 1H » 128 41,228
-238 3 3,327,440 « 1H » 128 39,930
208 = 3,165,140% * 2H * 123 75,964
-9 3 3,111,040& » 1H » 128 37,333
-125 8 2,732,340 * 18 » 123 32,789
-As#E(II238 )
2,245,440 * 18 * 123 26,946




AN SEHEAL
B HYLAAY (BLRAL)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SSREA(IZ45 E)
2,299,540& » 2H 128 55,189
O&E=g 18,480
—bH < Xt 40,0003 = 18H » 123 8,640
-&Edl % 20,000 = 14% = 128 3,360
1 PNIE 60,0003 = 9H » 123 6,480
Ot =y 967,924,080& * 5% 48,397
O=&t| 130,000& =« 33H » 128 51,480
OFE FItHI 84,794,220 = 50% * 23| 84,795
OAIIE &l 94,4923 * 33H » 20¢ 62,365
O&¥d=+% 50,000& = 33H » 123 19,800
SEF ==
17,7133 = 33% = 15A12t = 128 105,216
O22W=s0Hl
40,000& * 33H » 13| » 68 7,920
O4=2E JIARES 143,274
(OFaR=g-8= 1,357,399,464& * 3.23% 43,845
OFIILAEH 43,845,000& = 8.51% 3,732
o384z 1,357,399,464& * 4.5% 61,083
ons=sg 1,357,399,464% * 1.5% 20,361
OtHEH 1,357,399,464& * 1.05% 14,253
ou=l 2,970
(OFEE S 90,000& = 33H 2,970
ANZZSHULALE (EX) 52,560 34,400 18,160
J| 26,280
Al 26,280
101 @124l 51,535 34,400 17,135
| 25,767
Al 25,768
02 JIEtE B = 13,294 0 13,294
OAZIEEHYIH SR Jl=22
1,693,660% * 1H * 63 10,162
J| 5,081
Al 5,081
o= 3,132
S 840
—bH < Xt 40,000 * 19 = 63 240
J| 120
Al 120
-&Edl =% 20,000& = 1H » 63 120
J| 60
Al 60
ol PNIE 20,000& = 1H » 63 120
J| 60
Al 60




SN BEEAL
MY #FSAAY (EUBAL)
S odEd2AY| (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= PIE 60,000 = 1¥H » 6 360
J| 180
Al 180
OANZAZ2 2
5283 * 19" « 20A12F x 68 1,024
J| 512
Al 512
OEx&RE 81,290& x 1¥ = 6& 488
Jl 244
Al 244
OdMUZ A 130,000 » 1H x 62 780
J| 390
Al 390
03 I HLs2Z22 XNHE % 38,241 34,400 3,841
OZSHEMS2tS Al 38,241
Ool2t] 38,241,000& ~ 1 38,241
Jl 19,120
Al 19,121
204 = 2 4= A H| 1,025 0 1,025
Jl 513
Al 512
02 &= E x4 762 0 762
OANMZEEHAIN M (9B AE)
145,0002 * 1 = 35/40A12t » 6€ 762
J| 381
Al 381
03 SE8YRAEH| 263 0 263
OAZHSHEETADI M CHEIE S|
50,000 * 1H = 35/40A12t ~ 6& 263
Dl 132
Al 131
KOHQrAME SR (2X) 207,330 0 207,330
Jl 165,865
& 8,293
Al 33,172
101 @121 192,997 0 192,997
Jl 154,398
& 7,720
Al 30,879
02 JIEt& E % 192,997 0 192,997
OAZEEMAINHM SF& JI22
1,693,660& * 7% * 128 142,268
Jl 113,814
o= 5,691
Al 22,763
OXdANZ2(5Y) 11,191,000& 11,191
Dl 8,953
[ 447




2N EEEAL
MY #FSAAY (EUBAL)
chel: ol 2y (S &2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 1,791
(OES=] 25,477
S 4,320
—-bif < Xt 40,000€ * 3¥H * 128 1,440
J| 1,152
& 58
Al 230
W PNIE] 20,000& = 3% » 12&8 720
J| 576
= 29
Al 115
-=M X H 60,000 = 3¥H » 12&€ 2,160
J| 1,728
o= 86
Al 346
OANZ2AZ2 2
8,528& * 7H x 20AI2t = 128 14,328
J| 11,463
o= 573
Al 2,292
OEx&RY 81,290& x 7 x 12&8 6,829
J| 5,463
= 273
Al 1,093
O I8 AtY| 5,826& * 7Y * 77AI2t 3,141
J| 2,513
& 126
Al 502
(OFSRLE=FNN:] 130,000 * 79 = 128 10,920
J| 8,736
== 437
Al 1,747
204 & 2 £~ H H| 14,333 0 14,333
Jl 11,467
= 573
Al 2,293
02 A3 & x| 14,333 0 14,333
OANZSHEEHAIH (93 AL, 35A12H)
145,000 ~ 7 » 35/40A12t = 12&€ 10,658
J| 8,527
= 426
Al 1,705
OAZHSAEELDI M CHEIE =
50,0002 7 = 35/40A12t = 12& 3,675
J| 2,940
== 147
Al 588
K EAIE] SSAHUZSTAIG (BEX) 230,400 253,718 N23,318
J| 115,200
= 23,040




SN BHBAL
M HER2GIU(ELEHL)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 92,160
101 1244 dl 230,400 253,718 N23,318
J| 115,200
< 23,040
Al 92,160
03 RIAHAZ 2B+ 230,400 253,718 N 23,318
OSEUHLSIAMNY 20 230,400
ool 1,900,000& » 10 » 12& 228,000
J| 114,000
= 22,800
Al 91,200
O&zod W= 240,000 = 10H 2,400
J| 1,200
< 240
Al 960
NEAE S SHREMEIA(BEX) 91,680 89,760 1,920
J| 45,840
< 9,168
Al 36,672
101 @124l 91,680 89,760 1,920
bl 45,840
< 9,168
Al 36,672
03 RIAHAAZ2Z2RHE > 91,680 89,760 1,920
O=H&EA & SHRMLHA 91,680
ool 1,900,000& * 4% * 123 91,200
J| 45,600
< 9,120
Al 36,480
OdzZod st 240,000& = 29H 480
J| 240
S 48
Al 192
UL TS S= QA (2 E) 26,544 25,820 724
J| 13,272
Al 13,272
101 @14 dl 26,544 25,820 724
J| 13,272
Al 13,272
03 RIAHAZZTHE =+ 26,544 25,820 724
OHEZESEHH 29 250 26,544
ooz 26,544,000 » 1H 26,544
J| 13,272
Al 13,272
LAR2AL2IMS(EX) 141,465 96,860 44,605
= 70,732
< 14,146




SN EHBAL
M HER2GIU(ELEHL)
Sel: o2y (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 56,587
101 1244 dl 141,465 96,860 44,605
= 70,732
< 14,146
Al 56,587
03 RIAHAZ 2B+ 141,465 96,860 44,605
ogsHzdae M2 141,465
ool 23,337,500& = 69H 140,025
= 70,012
< 14,002
Al 56,011
O&zod W= 240,000& » 6H 1,440
=2 720
S 144
Al 576
=2l 194,254 181,061 13,193
JlE2&l 194,254 181,061 13,193
201 Yot 2 Y| 89,056 82,569 6,487
01 At 22l 8l 75,820 71,265 4,555
OJl=zgde=dasdH (JI&3Hl)
500,000& = 67H = 95% 31,825
o=t (OIE2dl)
8,000 * 67 = 8L = 12&8 * 90% » 95% 43,995
02 22224l 13,236 11,304 1,932
oORER= 13,236
Ooget 350% * 1,800 » 12& 7,560
=P 2,150& = 2208 » 12& 5,676
202 odl 90,298 84,192 6,106
01 = LH o4 1l 59,098 52,992 6,106
OJIEZ
20,0003 = 54H » 8 * 12& * 60% * 95% 59,098
02 WO 31,200 31,200 0
OoURAAL NEHH FA
200,000 = 3% = 12& 7,200
OSHIY &28AH FA
200,000& = 1098  12&€ 24,000
203 YR =& 14,900 14,300 600
02 It S =&Y 3,920 3,920 0
O&FA IS R F &I 3,920
OJ&EH 40,0003 = 98Y 3,920
04 NI 10,980 10,380 600
FM2EHRFEHI 10,980
(O)=Ra N 7,980
-30Q! Ol at 400,000& = 123 4,800




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

250,000& * 128

3,180
3,000
3,000




== A
N & o & AF & H Al A
20208 & =04 LBHSIH AEEAL BAFMY ~ FABAL
SN HEEAA
HE: AYSH
Chelt BRAC B AIMIIYRE CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
RPN 10,541,012 10,061,786 479,226
= 274,901
s 494,482
J| 3,610,485
< 1,047,247
Al 5,113,897
HL S 8,708,103 8,748,720 A 40,617
= 204,169
s 494,482
J| 3,222,192
< 989,778
Al 3,797,482
SAHAZ A EI|BIESF 872,640 1,053,053 A 180,413
= 28,200
< 18,934
Al 825,506
M2 MHA 23 131,130 132,913 A 1,783
101 @124l 109,523 109,293 230
M4 II2HHZ22NSES 109,523 109,293 230
O 2l At 109,523
ool 290,000 = 1Y = 262 » 12& 90,480
Q4 2EII 223 9,553
-=20dZ3 90,480,000& * 4.5% 4,072
-HAEHE 90,480,000& * 3.23% 2,923
YR H 2,923,000& * 8.51% 249
-IEEE 90,480,000& * 1.5% 1,358
-MHEH 90,480,000& * 1.05% 951
OZEFOtHI 200,000& * 23] 400
O=XNEQAE 300,000& = 13l 300
@)= ESE=, 290,000 * 30 8,700
Ol =t 90,000& = 13l 90
201 L2 | 4,007 4,820 ~813
01 At 22/l 4,007 4,820 A813
ORI MA QM (4F) 561
O HHFZE 703 * 2,000 = 95% 133
ONsXHSAMEAM 100& = 1,000 = 95% 95
OXts & H A 50& * 1,0008 = 95% 48
OAHZEHAWMMN AMEHEA
30& * 10,0005 = 95% 285
QUEIINE =H+2=2 40,0003 = 128 » 95% 456
OXZEt 2NLE AMHlA
7, 7003 * 128 » 95% 88
oseclizy, st 24 422




SN BHABAL
Bu: AYEH
Crel: RAARAAIIYRE (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OMNMEZSXH2E8 NH S
100,000& * 33| * 95% 285
OHEHNEHI 72,000 * 23| * 95% 137
o=l 2,195
O 9 A 90,000& * 8H = 95% 684
OHAAZH 120,000& * 1% * 23| * 95% 228
O 2 XNZ A 90,000& * 152 = 95% 1,283
ONMU=222 ==l 100,000& + 3% + 95% 285
202 04| 7,200 7,200 0
01 2L Y| 7,200 7,200 0
O3EH2AA I EZHI
20,000 » 6Y = 5 = 12& 7,200
203 € R =&Y| 3,000 3,000 0
03 Al =X H 2 =X Y| 3,000 3,000 0
OBAHAAMY LR=A 3,000,000 3,000
307 212t01 & 7,400 7,600 A 200
01222 Z bl 7,400 7,600 A 200
odza 29 3,200
OB5MI0I A =ol& X 2HIHl XIS
1,000& = 2,000" 2,000
Oo%= 600,000& 600
oArRE 600,000& 600
ostgtdlg s 29 3,000
O%= 2,200,000& 2,200
[@OFEA=r— 800,000& 800
o=zclXss 29 1,200
O%Z 840,000& 840
oAr2E 360,000& 360
BHA2Y 357,414 397,541 N40,127
101 2124 1| 84,722 54,638 30,084
04 JI2ZtHZ2E2XNESE 84,722 54,638 30,084
OFHAY HA 30,592
OolAd| 79,4803 * 19 = 26 » 12& 24,798
O4HEE J|l&a8g2 2,619
-=0H=z 24,798,000& * 4.5% 1,116
-AHAEE 24,798,000& * 3.23% 801
“HIUEE 801,000& » 8.51% 69
-1s8:2E 24,798,000& * 1.5% 372
-MTHE S 24,798,000& * 1.05% 261
(@F=FSE=l 3] 200,000& = 1H = 23] 400
O=2XNEIUE 300,000& * 1H 300




SN BHABAL
Bu: AYEH
Crel: RAARAAIIYRE (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ogd3 79,480& * 30 2,385
Ol =t 90,000& * 13 90
O 22l Xl = At 25,533
OolAd| 79,4803 * 19 = 26 » {13 22,732
O4HEE &2 8g2 2,401
-=0H=z 22,732,000& * 4.5% 1,023
-AHAEE 22,732,000& * 3.23% 735
“HIQUEE 735,000 * 8.51% 63
-1s82E 22,732,000& * 1.5% 341
-AMMEE 22,732,000& * 1.05% 239
Og &=yl 200,000& = 1H = 23] 400
OFANZ2 HARYH 28,597
(@)siFals] 74,4004 * 19 = 26 » 12& 23,213
O4HEE |2 8g2 2,452
-=0H3 23,213,000& * 4.5% 1,045
-AHAEE 23,213,000& * 3.23% 750
~&AI|YEE 750,000& * 8.51% 64
-1s828E 23,213,000& * 1.5% 349
-AMHEE 23,213,000& * 1.05% 244
Og &=yl 200,000& * 1 = 23| 400
OsXEQE 300,000& * 1H 300
O&E &3 74,4003 * 30 2,232
201 Yet2 b 244,442 273,683 £29,241
01 At 22l Yl 70,650 110,220 AN 39,570
ORIANEE ZEHEY 3,971
ool 2,508
-l 8t 220,000 * 2& * 33 * 95% 1,254
-SEY=J1 330,000 * 45 + 13 * 95% 1,254
oxz A 220,000& * 15 * 33 * 95% 627
Oolerate| o1a It 836
OQRANRE SAEX 699
Ol Al 21,000 % 208fA x 95% 399
Ooxz A 21,000& » 108fA = 95% 200
Oolerate] 216 It 21,000 = 58tA x 95% 100
O=BHHIES 4,380
OZHHSE 1,770& = 3004 * 128 * 95% 606
OSHEE2 28,6003 * 28tA x 128 * 95% 653
OSH& X 35,700& = 32tA « 128 * 95% 1,221
OAN&EZ 222X S
100,000& * 208 * 95% 1,900
OFA L HAES 300,000& * 53| * 95% 1,425
OdH4D| &2lt| 5,871




SN BRBAL
HH: ALEZ
Crel BRASRA IS EEREED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(@)= 30,000 = 6CH = 128 * 95% 2,052
OB AHX A~ 30,000& = 3 A « 128 * 95% 1,026
[@)=RaPNE=N
35,000& = 74 « 128 * 95% 2,793
O3J1&83J| 2eltl
45 000 * 1404 = 128 * 95% 7,182
O2A2 29 MW U =2 46,172
ORo3HEY 10,420
-824A 154,000 * 10 » 128 * 95% 1,756
-22AHX A 90,0003 * 3MA + 128 * 95% 3,078
—EATE A
70,0003 *= 7oA + 128 * 95% 5,586
OB BINBAN 422
95,000& * 13 * 200 = 95% 181
Os2)| otz ==
130,000& = 20H = 128 * 95% 2,964
OFIINE BIZUA 248
1,000,000& = 1004 + 18] * 95% 950
OFI|etE 2 a2 8,345
-2AHA 542,000 * 1JHA ~ 128 * 95% 6,179
“EHAHXA 95,0008 x 204 + 128 * 95% 2,166
OLYANEEH el =
360,000 * 1JHA + 128 * 95% 4,104
Oagtortd2e| XA WSS
200,000& * 1 * 95% 190
Odt=XelAE 2elids=r5 5,951
-=8 A4 JotB2ARZ A
174,000 = 30HA = 128 *« 95% 5,951
OLNGAIZAIE AI|ZAF =422
53,000& * 13| * 95% 51
OLSY HAYS 248
450,000& * 53] * 95% 2,138
OH2II=2 Healyl 10,878
-2 HHIIE Ml =2 4,332
gHA
180,000 * 1J0HA » 128 * 95% 2,052
24X A&
20,000& = 3 A « 128 * 95% 684
gHINES A
20,000& = 74 « 128 * 95% 1,596
-H=Hel
638 * 9004 * 1IHA * 128 + 95% 6,546
oO=282X ==& 500,000& * 23 * 95% 950
02 35249t 173,792 163,463 10,329
OFAMAHE SR X HI| 17,761
OBzAAa(1040lal) 2,401& * 4,344 10,430




SN BHABAL
E: AT
©e: B AL RS (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O)-FaPNES 3,170
-104 0I5t (L=, =0l) 2,401& = 741m’ 1,780
-30E 0l (2 F) 4,859% = 286M 1,390
(OF-FaFSE=F 4,161
-10&0lot(=2l) 2,401& » 187m’ 449
-1540l5H(ga, A 4) 3,126& * 336m 1,051
-20E0I5H(F 8, 2 2 & IHEH)
3,737& » 517m’ 1,933
-25E 0lot(Eel) 4,254 + 171m 728
o332 € HAl 59,424
o&IIe3 2,900,000& = 12& 34,800
Odt=Ee= 500,000& * 12&€ 6,000
(OP) Fa 4=, 1,500,000& * 12& 18,000
Os4dgst S 30,000& * 123 360
Ooa ICeH2I 2= 22,000& = 123 264
o8z S 7,360
Ooxz=2dz & AU=sXAl 600,0008 + 1204 7,200
OMSAESI BHaHLYES
130,000& * 13l 130
OJAAMDH A MABEH 30,000& * 13 30
OXg =Xt 52,400
O3 x 2,700,000& =+ 4CH 10,800
Os& 4,900,000 = 3CH 14,700
Osg 6,500,000& =+ 3CH 19,500
Ozt 4,300,000& * 1CH 4,300
O+=x 3,100,000& =+ 1CH 3,100
OAZHI (S22 ZtAH) 916& = 800¢ = 3& 2,199
OXM=z=Zx2teltl 2,080
OMd==x &E& 990,000& * 23 1,980
OMd#+=X =Z2ZAM==2 100,000 * 12/ 100
OA&EHl Sl 25,168
Ooduell |AE+H| 9,768
—JbAAL(GHP) & e D) 1,650,000& * 504 8,250
-HEHAMH 16,500 * 92CH 1,518
O82HA CCTV FXAIE==Hl 500,000& = 128 6,000
OxXZANE |FXNE=H| 5,000,000& 5,000
OAM&EH ®XE=H  400,000& = 114 4,400
OS24l |XH 1,000,000 * 6CH 6,000
OusSReREs 1,400,000& * 12/ 1,400
401 AIEHI L 201 28,250 62,120 /33,870
01 A& HI 28,250 62,120 33,870
OBAHA AlENA 3,250




SN BRBAL
HE: AYSH
CHelr BAABAILIB DS 9 EE)
SAH-EB .S (3H) - HEAY - BE2 il HDS2
OLAIE SESEE &EX 1,250,000& 1,250
Os&I| g3 A 2,000,000 2,000
OBAHAXN A AIEIA 15,000
O=0122dNa ==4x L St
15,000, 000& 15,000
orBAHdNE A A& 10,000
OJFEAHENE A BLdH DA 10,000, 000& 10,000
SAXNL2H 138,448 143,840 AN5,392
201 LBt b 29,448 30,640 A1192
01 AFR2 2t 2l Yl 3,648 4,840 AN1,192
OANREE S #¢
200,000& * 3 A * 23] * 95% 1,140
oZgH EY
220,000& * 2& * 3 * 23] * 95% 2,508
02 3524t 25,800 25,800 0
o332= % HA 25,800
(OFrsPIETE=: 1,000,000 = 204 * 12& 24,000
O3 30,000 * 34 x 128 1,080
ORrdYS 20,000& = 3M A = 128 720
307 212t01 & 109,000 112,600 A 3,600
01 2L 2= H| 109,000 112,600 A 3,600
ou== 3,000
Ogdtxz 3,000
-4 = 2,000,000& 2,000
-AB2E 1,000, 000& 1,000
O 3,000
ogetx 2 3,000
%= 2,000,000 2,000
-A83 1,000,000& 1,000
O=0l(At=2AH AKX ) 100,000
Oogetxz 100,000
%= 99,000,000& 99,000
-A2E 1,000,000& 1,000
ostga 2d(UW=,50l) 3,000
(@)SIRsly— 2,000,000& 2,000
(@F~y==— 1,000,000& 1,000
BAXNSZA2Y 162,767 170,670 A7,903
201 L2 H| 60,067 60,930 N\ 863
01 AFR2t2l bl 11,837 12,460 N 623
OMREE & #¢
200,000& * 7IH A * 23] * 95% 2,660
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SA BB O () - MM - HES 0l &+ o4 il
OZgH EdY
220,0008 * 2Z * 7HA * 13| * 95% 2,926
O&= 2AVIL BIIE3 S=H)
100,000& = 7IHA = 95% 665
OLATR L 2HHoE B
30,0002 = 14 = 702 + 23] » 95% 5,586
02 3323l 40,180
03323 % HA 37,380
OoNIIe3 400,000& * 70 » 128 33,600
O=&EL23 25,0003 * 74 + 12& 2,100
OR&EYs 20,000& * 74+ 12& 1,680
OoHfaMUEEHZ 250,000& » 700 2 1,750
(OFSEoIENPSEN 15,000& = 70& = 13l 1,050
03 &AL Z HI 8,050
OHLSIZ=Z)H2Y 8,050
(OF2 N =1 50,000& * 7IH 4 * 153 5,250
OZz)d29Y| 400,000 * 7JH 4 2,800
301 LBHEH S 4,200
12 JIEBHE4 S 4,200
oBAZzZA RIS E E5+E
50,000& * 74 + 128 4,200
307 2Iztol ™ 98,000
01 2=z =H| 98,000
© It & 8,000
Oogera = 8,000
-%E 7,000,000& 7,000
-ABE 1,000, 000& 1,000
©i=ga 17,000
ogetd z 17,000
-%E 16,000, 000& 16,000
-ARE 1,000, 000& 1,000
o%el 8,000
ogderd = 8,000
43 7,000,000 7,000
-ARE 1,000, 000& 1,000
osd 12,000
Oogerd = 12,000
%S 11,000, 000& 11,000
-AR2E 1,000, 000& 1,000
O H ot 17,000
Oogera = 17,000
-5 16,000, 000& 16,000
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HAPAL
AYER
BAORAEINYRE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

-A2F 1,000, 000& 1,000
OFst 8,000
ogetd =z 8,000
A4S 7,000,000 7,000
-AB2E 1,000, 000& 1,000
o2 28,000
ogeta =z 28,000
e 27,000,000 27,000
223 1,000, 000& 1,000

405 XHoHF S HI 500 7,540 AT,040

01 AL EZFH S 500 7,540 AT,040
OAEE WHIN(Hot) 500,000& = 1CH 500

iz 3R B+ 1S 1,680 1,680 0
< 504
Al 1,176

201 L2l 1,680 1,680 0
< 504
Al 1,176

01 At 22l 1,680 1,680 0
E0SH| 240,000& = 79H 1,680
< 504
Al 1,176

BARZ A BXoE XA 38,901 34,527 4,374
< 11,380
Al 27,521

101 @124l 38,901 34,527 4,374
< 11,380
Al 27,521

04 JIZHHZ2XNSE =+ 38,901 34,527 4,374
Bxolg o2 (7y) 37,933,000 37,933
< 11,380
Al 26,553
C4liE" JI2RES 968
OCneE:d 37,933,000& * 1.5% 569
OMTHEH 37,933,000& * 1.05% 399

SHE BHAS AHHIA NS A 42,300 171,882 A 129,582
= 28,200
< 7,050
Al 7,050

405 TtabF S| 42,300 131,182 A 88,882
= 28,200
< 7,050
Al 7,050

01 AL EFHSHI 42,300 131,182 A 88,882
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SA - BB B (EH) - NRAY - BES of & o SSa HI D2
OZAMAXS(SEXR) 28,500,000& * 1CH 28,500
= 19,000
< 4,750
Al 4,750
OAZELEI|(=0],&cl,F8)
2,700,000 = 3CH 8,100
= 5,400
S 1,350
Al 1,350
ORNSAH/HEHN (Yo, E8)
1,200,000& » 2CH 2,400
= 1,600
£ 400
Al 400
OXtsE A (Eal,IHE) 1,650,000 * 2CH 3,300
= 2,200
=) 550
Al 550
e A2 X317 671,898 935,323 N 263,425
Il 340,448
= 73,473
Al 257,977
2 I8 At 189,780 253,060 A63,280
bl 94,890
< 28,467
Al 66,423
308 XM S0H 189,780 253,060 A 63,280
Il 94,890
< 28,467
Al 66,423
10 B2 S0 B&HAE AR 189,780 253,060 A63,280
CE=FSE]| 189,780,000& 189,780
J| 94,890
S 28,467
Al 66,423
2T =S XA 74,260 157,500 N 83,240
Jl 37,130
= 11,139
Al 25,991
307 21201 A 74,260 157,500 N 83,240
Il 37,130
= 11,139
Al 25,991
01 =72l 74,260 157,500 A 83,240
OYEX o=d X3 74,260,000 74,260
Jl 37,130
< 11,139
Al 25,991




2N

MY AYEX
el 4B AU CERED
i _ _ = -
SA BB (SH) - NRAY - B Ol At o gﬁ&i HRE2
283X HZHA 20,150 25,200 AN5,050
J| 16,120
& 1,209
Al 2,821
308 NXIEHSOIA 20,150 25,200 AN5,050
Dl 16,120
= 1,209
Al 2,821
10 212 SUHUSHEAEAE AT Y| 20,150 25,200 A5,050
O & &gl 20,150,000 20,150
J| 16,120
=} 1,209
Al 2,821
KNS AS 242 X AL 68,478 61,676 6,802
J| 34,239
Al 34,239
202 044 500 500 0
J| 250
Al 250
01 2L HI 500 500 0
OXSANIAHLEA (U] 500,000& 500
J| 250
Al 250
307 212t0| ™ 67,978 61,176 6,802
J| 33,989
Al 33,989
05 QI2tE 2 67,978 61,176 6,802
O XN AAE HZAZEAHI(896H) 67,978,000 67,978
J| 33,989
Al 33,989
NEAS SEHLSIAE 200,052 198, 287 1,765
J| 100,026
= 20,005
Al 80,021
201 LBt | 53,600 54,287 A\ B87
J| 26,800
& 5,360
Al 21,440
01 AP 22| d| 28,600 27,587 1,013
OHLMEANMAY EEZS L QIA4H|
15,100,000 15,100
J| 7,550
& 1,510
Al 6,040
ORLEBAHAIYE EES & oIAfHl 8,000,000 8,000
J| 4,000
= 800




SA: HASAL
=
o

Bu: AYEH
SR MEx H2XI|D| (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 3,200
oMdEZEBHTRNLLY 2P Y O
2 8l 5,500,000& 5,500
J| 2,750
== 550
Al 2,200
03 A2 HH| 25,000 26,700 A 1,700
OANLMBAHAY T2 IS H
14,000,000 14,000
J| 7,000
= 1,400
Al 5,600
OUMEAHUYWA T2 )HSH 5,500,000& 5,500
Jl 2,750
o= 550
Al 2,200
OYUANY T2 )HSA 3,000,000 3,000
J| 1,500
& 300
Al 1,200
OS2 E S0 2t Ab o229
1,000, 000& 1,000
J| 500
& 100
Al 400
OXNAAMNISATE AN 1,500, 000& 1,500
Jl 750
= 150
Al 600
202 044 4,000 4,000 0
J| 2,000
o= 400
Al 1,600
01 2ol 4,000 4,000 0
OSEHLSIANG2A 4,000,000 4,000
J| 2,000
& 400
Al 1,600
301 et M= 1,000 2,000 A 1,000
J| 500
= 100
Al 400
09 HAIAHI XIS 2 1,000 2,000 A 1,000
OSEHLASE T 18 29 1,000, 000& 1,000
Jl 500
o= 100
Al 400
307 212t0| & 141,452 138,000 3,452
J| 70,726
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 4,145
Al 56,581
01 2724l 141,452 138,000 3,452
OQAHLMEBARAIY TAMLEE 1,000,000 1,000
| 500
< 100
Al 400
OFRLAET L A2 9,000,000& 9,000
J| 4,500
< 900
Al 3,600
OZUEE B=2HMH & S&HA 20,000,000& 20,000
J| 10,000
< 2,000
Al 8,000
OTAZYA BEAEY
70,0003 = 120¥ » 123 100,800
J| 50,400
< 10,080
Al 40,320
ONTEZES HYBRANY 2A 42E
6,200,000 6,200
J| 3,100
< 620
Al 2,480
OZSSAE MY Z At 4,452,000 4,452
J| 2,226
< 445
Al 1,781
ZsUESmM ZAHIXIR 2,088 2,124 A 36
< 1,044
Al 1,044
307 g2+l & 2,088 2,124 A 36
< 1,044
Al 1,044
01 222724l 2,088 2,124 A 36
OZSHE=SI ZAHI X2 (58%) 2,088,000& 2,088
< 1,044
Al 1,044
NHANSBH SRR AMYIA 117,090 154,964 A 37,874
J| 58,043
= 11,609
Al 47,438
101 @14l 10,503 27,277 AN16,774
J| 4,750
< 950
Al 4,803
04 JI2ZtHZ22HEE = 10,503 27,277 N16,774
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o= 10,503
OerA| 1,900,000& = 19 » 43 7,600
Il 3,800
S 760
Al 3,040
O& &3 1,900,0008 » 1&H 1,900
Jl 950
£ 190
Al 760
O4UeEE JI28Y= 803
=243 7,600,000& * 4.5% 342
-AY2E 7,600,000 = 3.23% 246
-l d 246,000& * 8.51% 21
-1EE8E 7,600,000& = 1.5% 114
—MIHEE 7,600,000& = 1.05% 80
O8ZEF I 200,000& * 13 200

201 2Bt2 S| 48,787 66,487
Jl 24,393
= 4,879
Al 19,515

01 At2 22l b 47,287 63,887
Og2= € ush 12,287,000& 12,287
Il 6,143
= 1,229
Al 4,915
Oosd3cld 24 10,000,000& 10,000
Jl 5,000
S 1,000
Al 4,000
o=gaaxd 15,000,000& 15,000
Il 7,500
= 1,500
Al 6,000
OsdHd3k JIESE 50,0003 = 20004 10,000
Jl 5,000
< 1,000
Al 4,000

03 A2 1,500 2,000
O3 uNsETZ 8 2 AHH| 50,000& = 302/ 1,500
Jl 750
= 150
Al 600

202 04 4l 2,400 2,400
Il 1,200
S 240
Al 960

01 = LHO I 2,400 2,400
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O3HELH2L(SEEXM, ALF)
40,000& = 1,100 44,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OYAILA 29 1,197
OSANHNZLY SH24E
20,000& = 3 * 43 * 95% 228
O2IHIZ (2N S 48)
15,000& * 4Z * 128 * 95% 684
OHESHAMLLUEX I F AL
150,000& * 2CH » 95% 285
02 2324l 27,300 21,640 5,660
(OFSPNESC] 22,500
OSSR HLTES HUE S
500& = 42,0004 21,000
Ok HEZZ LIS AU
500& « 3,000A 1,500
OYALHPACSHH S XI2 2=t
1,200,000& * 43| 4,800
307 gl2tol & 276,266 245,380 30,886
01 222l 247,666 216,780 30,886
oHLEsA2I 210,996
ONYESAB(BHLY S 63)
34,806, 000& 34,806
OX XM QI ES=F X+ At HI 170,400
- SR AR Al 8,000& = 7,2009H 57,600
o202 §E Al™H]
18,800& * 6,000 112,800
OAE2E BETE Wl
35,000& = 1009 3,500
OUEEEY AZBALAREZ(FAI S 53)
2,290,000& 2,290
OdAMA 2 36,350
OEZZAM 90,0003 » 90 A 8,100
OdE (s, ololx S)ZA
90,000& » 70 A 6,300
OdYel& At 90,0003 *» 120 A 10,800
OY &, SctoICIor 2 A 13,0008 = 200A 2,600
OAg 2t Z AL 555,000& » 10 A 5,550
O3& &AM 100,000& * 302f A 3,000
OLAEA 2 320
Oglaol g= Jt2 40,0003 » 8¢« 320
05 BIZHRIE 3 28,600 28,600 0
Ostdlg 2tel 28,600,000& = 1004 28,600
stdlHE X 2el X & 17,658 19,060 A 1,402
= 8,829
= 8,829
301 LEEAZ 17,658 19,060 A 1,402
= 8,829




AN FEABAL
Bu: AYEH
ool 2 BRAWNTS (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
=) 8,829
01 MEIBZE 06z 17,658 19,060 A 1,402
Osgtdl2rZ A+ 24 H I XI& 1,962,000& » 93 17,658
= 8,829
< 8,829
SHAIQITI| off Ab2A 11l O Xt 83,640 77,400 6,240
= 83,640
301 LEEAF 83,640 77,400 6,240
= 83,640
01 AR 2Z A5 3 83,640 77,400 6,240
OetHloITI oAb TIIGH At ME X
170,000& » 418 » 12& 83,640
= 83,640
Olol=s & ol 46,860 30, 140 16,720
J| 23,430
) 7,029
Al 16,401
307 glztol & 46,860 30, 140 16,720
J| 23,430
= 7,029
Al 16,401
01 92724l 46,860 30, 140 16,720
OHIV/AIDS &l ZHI 44,000,000 44,000
Jl 22,000
= 6,600
Al 15,400
OdiHzaEd HE X=X& 860,000& 860
J| 430
< 129
Al 301
OHIVEI EHAI 2 20K 2,000,000& 2,000
J| 1,000
& 300
Al 700
= ZEE S A A 3,487,104 3,225,312 261,792
J| 1,743,552
< 523,065
Al 1,220,487
307 21201 & 3,487,104 3,225,312 261,792
J| 1,743,552
< 523,065
Al 1,220,487
01 222l 3,487,104 3,225,312 261,792
ONeolHeEEE 2,535,460,000& 2,535,460
J| 1,267,730
= 380,319
Al 887,411
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
000y, RAdM o Z514 B=0
HYES 350,400,000 350,400
| 175,200
< 52,560
Al 122,640
OLLE AS2AHR HEES 17,980, 000& 17,980
| 8,990
= 2,697
Al 6,293
OdNLES 542,180,000& 542,180
| 271,090
= 81,327
Al 189,763
ONRESZ Ua AE2E HYEES X
31,548,000 31,548
| 15,774
[ 4,732
Al 11,042
OB 2tE =412 HEAY 9,536,000& 9,536
p] 4,768
< 1,430
Al 3,338
AN Z ALY 53,108 66, 100 A 12,992
| 26,554
< 7,503
Al 19,051
201 L2l 3,600 1,540 2,060
| 1,800
< 540
Al 1,260
01 At &2l bl 3,600 1,540 2,060
os&E= 3,600,000 3,600
| 1,800
< 540
Al 1,260
202 Odl 3,088 1,440 1,648
| 1,544
Al 1,544
01 = LH 4 Hi 3,088 1,440 1,648
OxF 2GR Kbl
257,330& * 1H « 123 3,088
| 1,544
Al 1,544
301 LEHZ 1,000 1,000 0
| 500
< 150
Al 350
01 A3l EE & 56l = 1,000 1,000 0
OLATHA MAHl XA 1,000, 000& 1,000
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HH: ALEZ
Helr Z2ZE 2eMAT= (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Jl 500
=) 150
Al 350
307 21201 & 41,420 23,720 17,700
J| 20,710
< 6,213
Al 14,497
01 22272l 41,420 23,720 17,700
Ogod FEAX HAH| 1,000, 000& 1,000
J| 500
= 150
Al 350
OYAaTHEA L&AH XA 1,000,000& 1,000
J| 500
=) 150
Al 350
onPHTEH Y BEAWVY 22
20,000,000& 20,000
J| 10,000
=) 3,000
Al 7,000
OZAABIINMN & EFSZAHI NS S
6,000,000 6,000
J| 3,000
=) 900
Al 2,100
OZHHG AL & et XIJ 13,420,000 13,420
J| 6,710
< 2,013
Al 4,697
308 XX EHH SOl A 4,000 4,000 0
J| 2,000
< 600
Al 1,400
1037/ 2S0HUHSE S HAE ALS I 4,000 4,000 0
ORI =X AH SHES 4,000,000 4,000
J| 2,000
=) 600
Al 1,400
SEJ|2 &AL 52,529 34,370 18,159
J| 52,529
307 21201 & 52,529 34,370 18,159
J| 52,529
02 HAHFHYANEEX 52,529 34,370 18,159
oozJla ZHET 2 XH
26,264,500 * 2H » 1A 52,529
J| 52,529
o2ty 28YE HE=ZAMA 29 7,000 6,100 900
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 7,000
307 2iz2to| A 7,000 6,000 1,000
J| 7,000
05 QIZ2tR E 2 7,000 6,000 1,000
OFEHEA ofgr2teltl 7,000,000 * 100 7,000
J| 7,000
O|T Y U HELAIMNA 2H(22H|) 100 0 100
J| 100
202 044l 100 0 100
J| 100
01 2L Hl 100 0 100
OolRBHAY H2AANBE Ol
10,000€ = 2% x 52! 100
J| 100
MEHH ZSUHERYE e 2 &4 3,000 0 3,000
J| 1,500
= 1,500
201 LBt Y| 2,000 0 2,000
J| 1,000
& 1,000
01 AP 22| d| 2,000 0 2,000
OMZHCA UHUHsS=d Letx=24|
2,000,000& 2,000
J| 1,000
& 1,000
202 044 400 0 400
J| 200
= 200
01 2L I 400 0 400
OxZsUS2Y W & Ol
200,000 = 2 400
J| 200
& 200
206 M = dl 600 0 600
J| 300
& 300
01 X2 Hl 600 0 600
oORo=zd A2H E3 600,000& 600
Jl 300
= 300
MEH OISZAMH 2 2,520 2,520 0
J| 1,260
=} 1,260
307 212t0| ™ 2,520 2,520 0
J| 1,260
o=} 1,260




S EE-L

Za: Y

& 2d 22l H RS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 2,520 2,520 0
OMZHXH OISZAMA SHXH
2,520,000€ * 1JH A 2,520
J| 1,260
& 1,260
S EZFAHES 5 L AHLEH T4 1,557,566 1,743,400 N 185,834
= 4,750
J| 818,975
= 213,171
Al 520,670
grEAd e Alg 54,470 112,674 N 58,204
201 Bt 2,470 2,520 AB0
01 AFR 22| H| 2,470 2,520 A 50
OEES 1,000 * 2,60004 * 95% 2,470
307 giztol & 52,000 52,000 0
o1 s R=tl 52,000 52,000 0
oY= 2| AP (XHAN) 52,000
OU%E L ADE(IUYN S 15E)
20,000& = 2,600 52,000
otk X KIS AFS (ZHOHSY) 10,555 8,750 1,805
J| 5,277
= 1,583
Al 3,695
201 et | 2,600 500 2,100
J| 1,300
& 390
Al 910
01 AFR 2t 2| bl 2,000 0 2,000
OMIIY EE= 1,000 = 2,000 2,000
J| 1,000
& 300
Al 700
03 Al HHI 600 500 100
OMIIY X2 2 300,000 = 23| 600
J| 300
o= 90
Al 210
301 et M= 200 100 100
J| 100
=} 30
Al 70
09 HAIAHI X & 2 200 100 100
OMIIY X2 24 100,000 = 23| 200
J| 100
& 30
Al 70




SN BRBAL
Bu: AYEH
Sl CIRFGNS 7S Y AYHE T4 (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 7,755 8,150 A 395
J| 3,877
< 1,163
Al 2,715
01 2=2L =4l 7,755 8,150 A 395
OAFT A A2F 7,755,000& 7,755
J| 3,877
= 1,163
Al 2,715
SIAUGX LS EER 2= HIXI& 342,100 320,000 22,100
J| 171,050
< 51,315
Al 119,735
308 XXM SOIA 342,100 320,000 22,100
J| 171,050
< 51,315
Al 119,735
10 SII 2SOl CHetE & & 2 & AF I 342,100 320,000 22,100
OsH&E&A 2=Hl XA 342,100,000 342,100
J| 171,050
< 51,315
Al 119,735
AL =NEEH 29 182,440 282,726 A~ 100,286
J| 91,220
< 36,488
Al 54,732
307 21201 A 182,440 282,726 A 100,286
J| 91,220
< 36,488
Al 54,732
05 BIZHRI & 3 182,440 282,726 A 100,286
OFFANFJAIUALSXME 2SH|
182,440,000& * 1JH 2 182,440
J| 91,220
= 36,488
Al 54,732
FUAL=SXNME 29 (KA 20,000 20,000 0
307 21201 A 20,000 20,000 0
05 BIZERIE 3 20,000 20,000 0
OX&HE - BMALSEAY 20,000,000& 20,000
FAAZ=RNEH s 143,920 0 143,920
J| 71,960
< 28,784
Al 43,176
307 120l & 143,920 0 143,920
J| 71,960




SN BRBAL
Bu: AYEH
Sl 2HUANB 25 U AV T4 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 28,784
Al 43,176
05 RIZtE = 143,920 0 143,920
OFFANFHFAL=SNHE 24|
143,920, 000& 143,920
J| 71,960
< 28,784
Al 43,176
Otz - dAad FABAHAMS 51,970 0 51,970
J| 25,985
= 25,985
307 g1+l & 51,970 0 51,970
J| 25,985
< 25,985
05 RIZHRI & 3 51,970 0 51,970
O0ts , 832 HAUBHAY 51,970,000 51,970
J| 25,985
< 25,985
SSEEN Nzl XA 25,000 30,000 A5,000
< 7,500
Al 17,500
307 21201 A 25,000 30,000 A5,000
< 7,500
Al 17,500
05 RIZt2IEt = 25,000 0 25,000
osssaElt Mz XA 25,000,000& 25,000
< 7,500
Al 17,500
FAUAL=XNHEH & SMA HRMHAEl X2 12,000 7,400 4,600
< 3,600
Al 8,400
307 gl2tol & 12,000 7,400 4,600
< 3,600
Al 8,400
05 RIZIRIE 3 12,000 7,400 4,600
OF/AUAUL=XNME SMIL HRMLH X
12,000, 000& 12,000
S 3,600
Al 8,400
NS Ae AW WERD 5 4,000 4,000 0
= 1,200
Al 2,800
307 21201 A 4,000 4,000 0
< 1,200
Al 2,800
05 BIZHRI & 3 4,000 4,000 0
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500
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900
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Z W
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600
900
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S
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0
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oy

©
0%
>
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a1l
-
o

3,000,000

= N H

3,000
3,000

1,500
600
900

3,000

04

AE S

=

eHXZXNEH XI=Hl K&

= N

3,000
1,500
600
900

3,000

307 21201 &

= N

3,000
1,500
600
900

3,000

fu
fu

012 d 2=
oFu&EE 2HXNSXEH X=dl XA
3,000,000&

= MW

3,000

3,000
1,500
600
900

3,000

=2& H&8 XA

= MW

2,000
1,000
400
600

2,000

307 21201 A

2,000

2,000
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3 x4 (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
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Ol
0y

= Hn
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400
600

S
o
N
40
Jm
oy

©
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il

gd s XNa

2,000,000

= N H

2,000
2,000

1,000
400
600

2,000

02
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o
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lsdl K&

= HnH

1,500
750
300
450

1,500

307 glztol &

=z N H

1,500
750
300
450

1,500

<
10
1l

=
4
]
o

©
02
0 W
1
0
ﬂ
tn

gl XI& 1,500,000&

= M W

1,500
1,500

750
300
450

1,500

2l

Al

492,244
393,797
19,688
78,759

807,441

A 315,197

101 1Al

Il

in

Al

42,470
33,977
1,698
6,795

200,117

N 157,647

OAX & FXHT UM

50,000& = 498 « 128

79,480% « 262 + 17&

35,131,000& = 4.5%

-A22E 35,131,000& = 3.23%

J|

f

Al

hn X

Al

J|

Al

Il

42,470
2,400

2,400

1,920
96
384

40,070
35,131

28,105
,405
621

,709
1,581

1,265
63
253

1,135
908

w O —

3,200

39,270




2N
X ZH -
L= B
el

SA -

e
yz7
SHANE 75 U AUBH T4
M- o (3) - HEAY - BAS il
== 45
Al 182
“AJRUYEE 1,135,000 * 8.51% 97
J| 78
= 4
Al 15
-89 8 35,131,000& * 1.5% K27
J| 422
& 21
Al 84
-MTHEE 35,131,000 * 1.05% 369
J| 295
o= 15
Al 59
OY ZE = 200,000& * 1Y€ = 13| 200
J| 160
[ 8
Al 32
Os& 0| 50,000& = 17& 850
J| 680
< 34
Al 136
[@IE==x:]| 90,0008 = 2H 180
J| 144
< 7
Al 29
201 Bt 4d9H]| 262,174
J| 209,740
= 10,486
Al 41,948
01 At 22l ] 207,454
OEHAAN =& 2,744 0008 ~ 1H = 128 32,928
J| 26,343
o= 1,317
Al 5,268
039 &AL 1,000
OXYGAS AN 319 HAMELH
100,000 * 23| *= 3Y 600
J| 480
& 24
Al 96
OXNMNZB2SHAIY Atcllal o &AL
100,000& = 49H 400
J| 320
== 16
Al 64
OXMoB2Z25A AISIZAIEDA =<
100,000& = 4AH 400
J| 320
& 16




SN EARAL
Ha: ALSH
Sl ARHANE PE U ABHY =4

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 64
OXIOHOHAME & T=Hl 90,000& = 209H 1,800
| 1,440
= 72
Al 288
OZ3J18&FJ| 2eltl 35,0003 = 4CH » 128 1,680
| 1,344
< 67
Al 269
oY= &2l 32,0003 = 404 = 12& 1,536
| 1,229
< 61
Al 246
OHALEY =& 1,302,000& = 12& 15,624
| 12,499
< 625
Al 2,500
OYRE g UHH =2
480,000& * 10H = 10 4,800
| 3,840
= 192
Al 768
O&2I| HEBR| (U2
130,000& = 12& 1,560
| 1,248
= 62
Al 250
OXIOHOHAME A2 140,000
Oxis=E2el ¥ 2IIHIAMY
5,000,000& 5,000
J| 4,000
< 200
Al 800
OXIH AN L ol g2l At
5,000,000& 5,000
J| 4,000
< 200
Al 800
OXlofetaots 22 5,000,000 = 1JH 2 5,000
| 4,000
= 200
Al 800
OXNMsHEe & IHEXEAE
5,000,000& 5,000
| 4,000
< 200
Al 800
OXIHetA My 210 ¥ 2 120,000,000 120,000
J| 96,000
< 4,800
Al 19,200




FA:E
X FH -
o Tt

el

A B8 a2 (3) - HRAY - BES Ol &+ o4 SSa HlmE2
OXIOHetaHEH 2HH| 6,126,000 6,126
Il 4,901
< 245
Al 980
02 =224l 14,720 9,920 4,800
QTv, Y, Mate3 60,000& = 12& 720
| 576
< 29
Al 115
ORTLI(HURH) 500& * 24,0008 12,000
J| 9,600
= 480
Al 1,920
ogeEXE SXHl  200,000& * 104 = 10& 2,000
| 1,600
< 80
Al 320
03 A2 Z Hl 40,000 20,000 20,000
Ooxiofetaite 29Y 20,000,000 = 1002 20,000
J| 16,000
< 800
Al 3,200
ORSg, ZT2IY UL AH 2%
20,000,000& 20,000
J| 16,000
< 800
Al 3,200
202 odl 24,000 24,000 0
| 19,200
< 960
Al 3,840
01 = LH o4 1l 24,000 24,000 0
OXIHE S =ZHAWHl 100,000& » 20 * 128 24,000
| 19,200
< 960
Al 3,840
301 LEEAZ 20,000 15,000 5,000
| 16,000
< 800
Al 3,200
09 HALAHIX &S 20,000 15,000 5,000
ous, Ty 2 HH 2
20,000,000& 20,000
| 16,000
< 800
Al 3,200
307 glz2tol & 143,600 85,400 58,200
| 114,880
< 5,744




SN HRABAL
HE: AYSH
Sl 2HUANB 25 U AV T4 CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 22,976
01 2L F =4l 143,100 85,400 57,700
OXHex AEES XN&
35,000& = 230 * 128 96,600
| 77,280
< 3,864
Al 15,456
0oz & g=&8 AEZ 30,000,000& 30,000
J| 24,000
= 1,200
Al 4,800
OXIHEIZA HLUAAH  150,000& * 110H 16,500
| 13,200
< 660
Al 2,640
06 23 500 0 500
OZ=Z20d EWIH(HY) BEEZ
100,000 * 53| 500
| 400
< 20
Al 80
XIOHOtAI e 2 X2 (KAl 9,300 0 9,300
405 XHoHF S HI 9,300 0 9,300
01 XL 2 EF S| 9,300 0 9,300
O&H FLHESEH 9,300,000 * 1MIE 9,300
XIOHXIZ 228 X & (2Hul) 115,072 65,844 49,228
| 57,536
< 17,261
Al 40,275
308 XXX SOIA 115,072 65,844 49,228
| 57,536
< 17,261
Al 40,275
10 B2 SUHUE3AHEAE A I 115,072 65,844 49,228
OXIOHXI =22l (2 Hbl) (3862 )
115,072,000& 115,072
| 57,536
< 17,261
Al 40,275
e 225A XA 2,700 925 1,775
| 2,150
< 108
Al 442
201 et 300 925 A 625
| 239
< 12
Al 49




SA: HASAL
=

Za: Y

Sl 2HUANB 25 U AV T4 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 300 925 A 625
oxE HIX HE 300,000& 300
J| 239
< 12
Al 49
301 LA F 2,400 0 2,400
J| 1,911
< 96
Al 393
12JIE243 2,400 0 2,400
o4l gzt 200,000& = 1H « 123 2,400
J| 1,911
< 96
Al 393
XN =sHEXNA 59,295 58,140 1,155
< 11,859
Al 47,436
307 glz2tol & 59,295 58,140 1,155
< 11,859
Al 47,436
01 2222l 59,295 58,140 1,155
OXIOHEA SSMEXRA(158) 59,295,000 59,295
< 11,859
Al 47,436
AXMEZzOY 2 (0tJt= 21 X3101) 10,000 10,000 0
< 2,000
Al 8,000
201 L2l 3,500 4,300 A 800
< 700
Al 2,800
01 At 22l 3,500 4,300 A 800
oMz Nd 2= & USAE S
3,500,000& 3,500
< 700
Al 2,800
301 LEXS 6,500 5,700 800
< 1,300
Al 5,200
09 HALAHIXI &3 300 300 0
CoX M=z )H2H 300,000 300
< 60
Al 240
12 JIEBHE4 = 6,200 5,400 800
OJIAX2I0l EsX &bl 6,200,000& 6,200
< 1,240
Al 4,960
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0x 0¥ {0
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A 0ls2 HA2ZALE 28 1,298,769 1,080,934 217,835
= 78,750
= 494,482
J| 147,944
= 130,664
Al 446,929
RIEAHAY 28,051 11,710 16, 341
201 et d| 11,400 11,710 A 310
01 AP 22| H| 11,400 11,710 A 310
ORXNEAHAMY & SMEH s2s HEH L
2 11,400
OXNEI HE
1,000& * 1,0008 * 2= * 95% 1,900
OsE=8 #¢
2,500 * 1,0000H * 4= * 95% 9,500
307 212t0| & 16,651 0 16,651
01 2l 2¥d32=H| 16,651 0 16,651
oYUME AAT (LM, E22H) 16,651
O LA 4 4012 = 1,208 5,317
O&E=H 66,2242 = 1,821= 11,334
MADAIMOF H2A22|AF XA 706,403 629,018 77,385
g 494,482
Al 211,921
308 XHXIEHSOIA 706,403 629,018 77,385
g 494,482
Al 211,921
10 B2 SUHUSHEAXEAE A Y| 706,403 629,018 77,385
OAD A MOLH 222 AP K& 706,403,000 706,403
Fag 494 482
Al 211,921
ADAIMOE HAZEIAF =IO KASAS 98,720 98,720 0
& 19,744
Al 78,976
308 XNXIGHHMSO0l& 98,720 98,720 0
& 19,744
Al 78,976
10 B 2SHUSEANE AIS Y| 98,720 98,720 0
OMNBAMOtAHZ 22| A K& 98,720,000 98,720
= 19,744
Al 78,976
MAES JIHH ZHES XNAY 157,500 156, 365 1,135
= 78,750
o 39,375
Al 39,375
308 AMXISHMSOIA 157,500 156, 365 1,135




2N
X ZH -
L= B

el

N

FO Y ok
0x 0¥ {0

BN H
oy

FS2l A A
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o

ton

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 78,750
< 39,375
Al 39,375
10 B 2SS BAHAE A 157,500 156,365 1,135
OMASE JIMA ZHER X
157,500, 000& 157,500
= 78,750
< 39,375
Al 39,375
HYyER X 174,000 12,360 161,640
J| 87,000
< 43,500
Al 43,500
307 gl & 174,000 12,360 161,640
J| 87,000
< 43,500
Al 43,500
01 22724l 174,000 12,360 161,640
oOHYRE Al=HIKEA 174,000, 000& 174,000
J| 87,000
< 43,500
Al 43,500
HEEIUNBHF 1,718 1,718 0
J| 859
< 429
Al 430
308 XX EHHSOIA 1,718 1,718 0
J| 859
< 429
Al 430
10 SII 2SO CHEHE & & 2 AL I 1,718 1,718 0
OHEZEZXNEAHATE 1,718,000 1,718
J| 859
< 429
Al 430
FAELNE JAEL OIFZHIXA 2,500 2,700 A 200
Jl| 1,250
= 625
Al 625
308 XX EHHSOIA 2,500 2,700 A 200
J| 1,250
< 625
Al 625
10 B3I/ 2SOHUHSZAEEALS I 2,500 2,700 A 200
OFAELE LAEL oS HIXA
2,500,000& 2,500
J| 1,250
= 625




SN BHABAL
Bu: AYEH
e 2 Ols2 HUAE 2 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
| Al 625
NIAEUME S HI AR 30,000 22,215 7,785
J| 15,000
== 7,500
Al 7,500
307 2Iz2t0| A 30,000 22,215 7,785
J| 15,000
= 7,500
Al 7,500
01 e =t 30,000 22,215 7,785
OLNFAEUME oS HI A 30,000,000 30,000
J| 15,000
= 7,500
Al 7,500
OS24 A HAHA oL & EEH| 1,887 1,887 0
J| 1,510
& 113
Al 264
201 et Y| 1,887 1,887 0
J| 1,510
& 113
Al 264
01 AP 2t 2] H| 1,887 1,887 0
OANE =2 1,887,000 1,887
J| 1,510
= 113
Al 264
AROF ALHA 3,000 5,663 A 2,663
J| 2,400
= 180
Al 420
308 XX SHHSOIH 3,000 5,663 A2,663
J| 2,400
o= 180
Al 420
10 21 2SUHUSHEAEAE AIS Y| 3,000 5,663 N2,663
OY9S0t&d &yl 3,000,000& 3,000
J| 2,400
= 180
Al 420
A0 LA LA AL X 2,250 1,302 948
J| 1,800
& 135
Al 315
307 2iz2to| A 2,250 1,302 948
J| 1,800
& 135
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 315
01 2L F =4l 2,250 1,302 948
OF7O0F LEHM LI AH XN
2,250,000& 2,250
| 1,800
< 135
Al 315
Ol=0t ¥ AdFH0l&0L o=l 45,000 62,251 A17,251
| 22,500
< 11,250
Al 11,250
307 g1+l & 45,000 62,251 A17,251
| 22,500
< 11,250
Al 11,250
01 2L F =4l 45,000 62,251 A17,251
Of0l=s0t & & L0140t 2= H|
45,000,000& 45,000
| 22,500
< 11,250
Al 11,250
AL CHALOl & Z A 2 Eot2t2] 26,000 28,150 A2,150
| 13,000
< 6,500
Al 6,500
307 glz2tol & 26,000 28,150 AN2,150
| 13,000
= 6,500
Al 6,500
01 2=2L =4l 26,000 28,150 AN2,150
OLHEE A0l & A AL & S otatel
26,000,000& 26,000
| 13,000
< 6,500
Al 6,500
Y HEIA E BFI XA 5,250 20,905 A 15,655
| 2,625
= 1,313
Al 1,312
307 glz2tol & 5,250 20,905 A 15,655
| 2,625
< 1,313
Al 1,312
01 d=2L =4l 5,250 20,905 A 15,655
OdAH & 2&I] XI& 5,250,000& 5,250
J| 2,625
= 1,313
Al 1,312
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2N
X ZH -
L= B

el

10 1y o

ALAL
e
oz

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
2AL ANEUSE 2SS 2,000 2,000 0
Il 1,400
S 600
307 @lz2tol & 2,000 2,000 0
Jl 1,400
< 600
01z 2= 2,000 2,000 0
OSsS2ABAME 2,000,000 ~ 1MIE 2,000
Jl 1,400
S 600
SIBFAN OS2 NSHESHI B2 40,500 51,300 A 10,800
405 At&tE =H| 40,500 51,300 210,800
01 ML ESFH=H 40,500 51,300 A 10,800
OXSH A Sl 2,700,000& = 15CH 40,500
dY2IIH(FEEAn) 1,832,909 1,313,066 519,843
= 70,732
Jl 388,293
S 57,469
Al 1,316,415
elel 2l 1,658,393 1,138,176 520,217
= 70,732
Jl 388,293
S 57,469
Al 1,141,899
el 872,477 693,329 179,148
101 1248l 872,477 693,329 179,148
01 2= 180,846 176,308 4,538
oer 180,846
OZnU224Y
10,252 = 30AI2F * 498 « 12 180,846
02 JIEtR B4 75,194 75,555 A 361
CEETTBIb] 2,456
OznH2R4Y
13,6413 = 15A12F = 18 = 128 2,456
CEEEE] 1,916
SESTEE PN
10,6433 = 15A12F = 1& « 128 1,916
OZS2U2AM 70,822
Odzsgszdda 900,000 » 6% * 12& 64,800
Ofg=¢ 40,0003 = 6& = 128 2,880
Ozxzu=22=+¢ 3,142
-0 12,6228 = 4A12F = 38 » 123 1,818
-9 9,191& * 4AI2t = 3E = 128 1,324
03 RIHAKZ2NHE =+ 616,437 441,466 174,971




ro gt o4

ALAL
HegBy (BR2AL)
SEXT

SA - BB B (BA) - MM - BHES il 2
(©eiFal] 518,606
OoJlzs 181,410
253 2,066,940 » 2% » 12& 49,607
653 2,407, 7403 » 1H » 128 28,893
-1s= 2,678,240 » 1H » 128 32,139
-14s 3 2,840,540& » 1H » 1228 34,087
-188 3 3,056,940& » 1H » 128 36,684
oz2s=¢ 120,380& » 25 * 12& 36,114
O= &l 130,000& = 29% » 12& 45,240
(OFSF=E8=; 50,000& * 299 = 12& 17,400
ONE=g 26,640
-t < Xt 40,0003 = 199 » 12& 9,120
-Edls 20,000& = 128 » 123 2,880
ol DNIE 20,000& = 1098 = 12& 2,400
1 PNIE 60,0003 = 78 » 123 5,040
-S IOl = XA 100,000& » 69 = 122 7,200
OXtdsdIExY  382,5008 * 298 + 43 3,060
OZ 2 =Ftdl
2,407,740 * 50% * 299 = 23| 69,825
OxZU2R2L(HE FL2=2)
16,7103 = 15AI12t » 298 « 123 87,227
OHIHE &I 89,1203 * 299 20 51,690
O4UEd JI2RE3 88,441
O30z 837,894,000& * 4.5% 37,706
OHE=EE 837,894,000& * 3.23% 27,064
OFIAEE 27,064,000& * 8.51% 2,304
ons=sdg 837,894,000& * 1.5% 12,569
OtHEE 837,894,000& * 1.05% 8,798
ou =l 90,000& » 279H 2,430
O22A=Z0Hl 40,0008 » 29H » 13 » 6& 6,960
NZZE 0 LA (2 ) 52,560 52,560
J| 26,280
Al 26,280
101 1A dl 51,535 51,535
J| 25,768
Al 25,767
02 JIEtE B = 13,294 13,294
OAZHEEHAIH SR J=22
1,693,660% * 1H * 63 10,162
J| 5,081
Al 5,081
OP =, 840
Ot < Xt 40,0008 = 1€ * 63 240
J| 120




SN BRBAL
MY BHSAAH(BEBAL)
gel: o2yl eEH)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 120
O&tHl= 20,0003 = 1H » 63 120
| 60
Al 60
OFMAH 20,000& = 1H ~ 63 120
| 60
Al 60
O=MAH 60,0003 = 1H » 63 360
| 180
Al 180
CNE LRS-
8,528% * 198  20AI2+ » 6 1,024
| 512
Al 512
OEx=ARSYH 81,290& = 1% » 63 488
| 244
Al 244
OF U Z A 130,000& » 1Y ~ 6& 780
| 390
Al 390
03 RIAHAAZZRHE > 38,241 38,241
OZHNMY2tS AL 21 HHl  38,241,000& * 1Y 38,241
| 19,121
Al 19,120
204 X2 FH| 1,025 1,025
| 512
Al 513
02 22 2l 762 762
O At SR IR (9 4 )
145,000 * 35/40A12F = 14 » 6& 762
| 381
Al 381
03 EZ YA 263 263
OAMZIHEH LI M CHelE syl
50,0003 = 35/40A12F « 1Y * 68 263
| 131
Al 132
XOHotAlMIEH 2HRE(EX) 220,228 220,228
| 176,181
< 8,811
Al 35,236
101 14 dl 205,895 205,895
| 164,715
< 8,237
Al 32,943
02 JIEH A 2+ 205,895 205,895
OAZEEHAIH S2H Jl=22
1,693,660 » 7H » 128 142,268




SN BHABAL
MY BHSAAH(BEBAL)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 113,814
< 5,691
Al 22,763
O&IANB (7Y 15,188,000& 15,188
| 12,150
< 608
Al 2,430
o= 48,439
=4 6,960
—bH < Xt 40,000& * 6% = 128 2,880
| 2,304
< 115
Al 461
e PNIE 20,0003 = 5 » 12& 1,200
| 960
< 48
Al 192
1 PNIE 60,0003 = 4H » 123 2,880
| 2,304
< 115
Al 461
OAZt 2R
8,528% * 7Y * 20AI2t = 128 14,328
| 11,463
< 573
Al 2,292
OEx3RY 81,2903 = 798 » 12& 6,829
| 5,463
= 273
Al 1,093
Osttsds+% 6,261
-3 & 1,138, 1402 = 1H » 38 3,415
| 2,732
< 137
Al 546
-3HE Ol= 711,337& * 1H » 43 2,846
| 2,276
= 114
Al 456
OHAHILE &l 5,826% * 7H * 77AI2} 3,141
| 2,513
< 126
Al 502
O&F M ZAlHI 130,000& = 78 » 12& 10,920
| 8,736
= 437
Al 1,747
204 24 AL| 14,333
| 11,466
< 574




SN BHABAL
MY BHSAAH(BEBAL)
chel: ol gyl CEEEED
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 2,293
02 238 X4l 10,658 0 10,658
OAZISEHHAI M (B AHE)
145,0002 ~ 7% » 35/40A12t = 12€ 10,658
J| 8,526
& 427
Al 1,705
03 SHYRAH| 3,675 0 3,675
OANZtSHEHAUIIH CHE & SH|
50,0009 « 7% x 35/40A12t = 12€ 3,675
J| 2,940
= 147
Al 588
2IHEEES S22 QAHHI(EX) 26,544 25,820 724
J| 13,272
Al 13,272
101 Q124 H] 26,544 25,820 724
J| 13,272
Al 13,272
03 RIAHA*ZZ2XE S 26,544 25,820 724
ONYUEZSESSHEHSHE 2124d|
26,544,000 * 1H 26,544
J| 13,272
Al 13,272
K EAIE] SSAHUZSTAIG (EX) 207,360 216,455 N 9,095
J| 103,680
= 20,736
Al 82,944
101 Q124 H] 207,360 216,455 N 9,095
J| 103,680
= 20,736
Al 82,944
03 RIAHL*ZZXHE S 207,360 216,455 AN 9,095
OSEHUSA M2 207,360
oerAgl 1,900,000& = 9% * 12& 205,200
J| 102,600
= 20,520
Al 82,080
OdgedE sl 240,000 = 9™ 2,160
J| 1,080
o 216
Al 864
KA 2AHXNFAEUA(ERXR) 137,760 112,200 25,560
J| 68,880
=} 13,776
Al 55,104
101 21 214| 137,760 112,200 25,560
J| 68,880




SN BRBAL
MY BHSAAH(BEBAL)
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 13,776
Al 55,104
03 RIAHAZZ2THE = 137,760 112,200 25,560
OSHAEA ¥ SHEHAHAH 137,760
ool 1,900,000& » 6% * 12& 136,800
J| 68,400
< 13,680
Al 54,720
Od2e s W=l 240,000& = 4H 960
J| 480
< 96
Al 384
AR2AL2IME(EX) 141,464 90,372 51,092
= 70,732
< 14,146
Al 56,586
101 @14l 141,464 90,372 51,092
= 70,732
< 14,146
Al 56,586
03 I AHA2ZZ2HE > 141,464 90,372 51,092
ogeHzdael 20 (69) 141,464
Ol 140,024 ,000& 140,024
= 70,012
< 14,002
Al 56,010
Odzod st 240,000 » 69H 1,440
= 720
& 144
Al 576
Jl= &l 174,516 174,890 A374
Jl=dl 174,516 174,890 A374
201 Let24d] 79,073 80,550 AN, 477
01 At 22/l 66,767 70,074 A 3,307
OJlege=adZl 500,000& = 59 = 95% 28,025
o2t (OIE2dl)
8,000% * 599 = 8 * 12&8 * 90% » 95% 38,742
02 =224l 12,306 10,476 1,830
oORUR= 12,306
Og et 350& * 2,500 « 12& 10,500
O&2l 2,150& = 708 » 12& 1,806
202 oddl 81,543 83,040 A1,497
01 = LH o4 1l 50,343 51,840 A 1,497
OJI&Z
20,000 = 46Y » 82 * 12& * 60% * 95% 50,343
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